O AKKO

* Xk KK
USA INC.

the spoken
quality

INCH CATALOG

Indexable Tools, Tool Holder Systems And Cutting Inserts

Version: 0100/1124 www.akkousa.us
= T




DAKKS

———ghakekghi——
USA ING.

www.akkousa.us



DAKKS

———hghakekghd——
USTAYIIN(CS

www.akkousa.us



TSEISONEN ﬁ

TS EN ISO 9001:2015

ALV

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




R |

!'J'Inll.-”rrl
]

L

the spoken quality

AKKO Metalworking Tools, founded in 1986 continues
its vision of “Spoken Quality” with indexable tooals,
tool holder systems and cutting insert solutions that
make a difference in the competition of machining
players in the global arena.

AKKO Makina Sanayi ve Ticaret AS., an experienced
machining specialist, produces Turning Tools,
Threading and Grooving Tools, Antivibration
Tools, Drilling and Holemaking Tools, Milling Tools,
Monoblock Tools, Holders and Profile Inserts.

Every step of the manufacturing process, from raw
material input to final product, occurs at AKKO's
integrated facility which is approximately 430,000
square feet equipped with expert production
technologies. Furthermore, quality standards are
continuously maintained as the processes that are
decisive for product quality, including heat treatments
and coating, are carried out under one roof. By
continuously focusing on its R&D and innovation
activities with precision, AKKO increases its global
market share day by day without compromising
on quality and service with developed innovative
products.

AKKO, which produces 10,000 types of tool holders as
standard with a production capacity of 750,000 pieces
of tools and 70,000 special profile inserts per year, is
an expert in developing fast solutions for special tool
needs as well as standard tools with its wide stock
range. With its experience, AKKO has expanded its
presence in the global arena with AKKO Europe GmbH,
which was established in Germany in 2018, and AKKO
USA ING, in the United States in 2024. Today, AKKO's
solutions are shaping metal in 90 countries, including
Europe, Asia, Africa, North and South American
Countries and Australia.




INDEX
> T00L HOLDERS |

01  MONOBLOCK TOOLS WITH POLYGONAL SHANK 07-18
02  D-SYSTEM EXTERNAL TURNING TOOLHOLDERS 19-40
03  M-SYSTEM EXTERNAL TURNING TOOLHOLDERS 41-60
04  P-SYSTEM EXTERNAL TURNING TOOLHOLDERS 61-66
05  S-SYSTEM EXTERNAL TURNING TOOLHOLDERS 67-94
06  D-SYSTEM BORING BARS 95-100
07  M-SYSTEM BORING BARS 101-106
08  S-SYSTEM BORING BARS 107-120
09  ANTIVIBRATION TOOLS 121-130
10  THREADING TOOLHOLDERS 131-141
11  GROOVING TOOLHOLDERS 143-148
12  DRILLING AND HOLEMAKING TOOLS 149-158

S-SYSTEM END MILLS 159-168
14  S-SYSTEM HIGHFEED FACE MILLS 169-170
15  FACE AND COPY MILLING TOOLS 171-172
16  FACE MILLING 173-176

> HOLDERS |

01  POLYGONAL SHANK COLLET CHUCKS ER 179

02  POLYGONAL SHANK BLANK HOLDERS 180

> INSERTS |

01  BROACHING INSERTS and TOOLHOLDERS 181-182

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




P AKKO

1. 0.0 0.8 ¢
USA INC.

the spoken quality... /

MONOBLOCK TOOLS

MONOBLOCK TOOLS WITH POLYGONAL SHANK




> IMONOBLOCK TOOLS WITH POLYGONAL SHANK DESIGNATION SYSTEM

s '8)/CLICI R 17 1m0 12

ENTERING ANGLE  INSERT CLEARANCE ANGLE - CUTTING DIRECTION

AKKO SHANK TYPE TIGHTENING ANGLE  INSERTTYPE

MONOBLOCK TOOLS WITH /N Xl
POLYGONAL SHANK

SCLCR

[4] Type of Insert

FUNCTIONAL WIDTH  FUNCTIONAL LENGTH

EXTERNAL TURNING TOOLS WITH POLYGONSHANK
INTERNAL TURNING TOOLS WITH POLYGONSHANK
EXTERNAL THREADING TOOLS WITH POLYGONSHANK
INTERNAL THREADING TOOLS WITH POLYGONSHANK

F‘l

=

il

Top Clamping Without Hole

Top and Hole Clamping

Top and Hole Clamping

i

CUTTING EDGE LENGTH

COOLANT

E| Method of Mounting of Insert

Hole Clamping (Lever Lock)

Screw on

Cc

T

P

S

(5] Tool Holder Shape Bar Geometry

@ Insert Clearance Angel

T_’|°

-

¥

N

[o] 4/[78;
/u

—5
cEﬁ .

e
B
E

<F\ W ﬁ ﬁ rﬁ

A B D . E F

J K L M m R
ﬁ sou % ﬁ ﬁ

S T \'A Y Z

W
o

5

11°

Cutting Direction

[0} Eﬂ

—
-
N

P

WF: Functional Width

LF: Functional Length

OAKKO

* ok h ok k
USA INC.




MMONOBLOCK TOOLS WITH POLYGONAL SHANK <

KAPR=50°

DCONMS

CRKS

lllustrations shown may vary from actual product.

I
§ O
Dimensions in Inch e ﬁg @ \\\\ N

Insert Wedge
Inch/Metric ~ Clamp

Ordering Code DCONMS LF WF CRKS KG Clamp Screw Shim Shim Screw  Ring  Stamp Nozzle Allen Key

ACDCMNN 0011512 2480 4528 0 | M20x2 | 1950 cr\?N{z“osfos ATK02 | AKV-30-M6x22 | AACN-3-0001 AAV-13-M5x8 | AS-01 | ABPLOT ACN-M12-125 | AAL03-3
ACBDCMNN 0015016 3150 | 5906 0  M20x2  4.200 cr\?Ni'eséezos ATKO4 | AKVAI9-M7x05 | AACN-3-0002 AAV-05-M6xI5  AS-02  ABPL-02  ACN-M12125  AAL-05-4

KAPR=50°

é

DCONMS

lllustrations shown may vary from actual product.

Dimensions in Inch "_& ﬁ @ ?4,

Insert Wedge
Inch/Metric  Clamp

DN.. 332

O©

Clamp Screw Shim Shim Screw  Ring  Stamp Nozzle  Allen Key

Ordering Code DCONMS LF WF CRKS KG

ACADDNNNOODS011 | 1575 | 1969 | 0 Mi4xi5 0300 0398 | ATKOT | AKVOTMS22 AADN-2-0001 AAVO4MSK2 | - ABPLOT ACN-ABB5 | AAL033
ACADDNNNOODSS15 | 1575 2465 0 Mi4xi5 0330 00 ATK02 | AKV30MG22 AADN-30001 AAV2MSK2 | ASO1 ABPLOT ACN-AMBS5  AAL033
ACSDDNNN 000015 | 1969 2362 | 0 MiGx5 0600 0Viof. ATKO2 | AKV-30MG22 AADN-30001 AAVO2MSKI2 | ASO1 | ABPLOT ACN-AO-105 AAL03-3
ACGDDNNNOOOGS 15 2480 2559 0 M20@ 1000 0002 ATKO2 | AKVOMGR2 | AADN-30001 AMVORMEXI2 ASO1 ABPLOT ACNAI12125 AAL03-3

AC8 DDNNN 00080 15 3150 | 3150 0  M20x2 | 2.150 = DN..4402 ATK-02 = AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12 = AS-01 | ABPL-01 | ACN-M12-125 AAL-03-3

8/9




> IMONOBLOCK TOOLS WITH POLYGONAL SHANK

KAPR=50°

é

- KAPR

lllustrations shown may vary from actual product.

- & @ ‘
Dimensions in Inch — ﬁ g

Insert  Wedge
Inch/Metric  Clamp

Ordering Code DCONMS LF WF CRKS KG Clamp Screw  Shim Shim Screw  Ring Stamp Nozzle Allen Key

AC3DSDNN 0004812 1260 | 1890 0  Mi2x15 0200 sw?Ni';osfos ATK02 | AKV-30-M6Xx22 | AASN-3-0004 | AAV-02-M5x12 | AS-01 | ABPLOT . AAL-03-3
ACADSDNNO00S012 1575 1969 0  Mi4d5 0350 SEN;Z“&ZOB ATK02 | AKV-30-M6Xx22  AASN-3-0004 AAV-02-M5x12  AS-01 | ABPLOT = ACN-MB-85 = AAL03-3
AC5DSDNN 0006012 1969 | 2362 0  Mi6xl5 | 0650 SI\?N.1'24034208 ATK02 | AKV-30-M6Xx22 | AASN-3-0004 | AAV-02-M5x12 | AS-01 | ABPLOT | ACN-M10-105  AAL03-3
ACGDSDNNOOOG512 2480 2559 0 | M20x2 | 1.050 SNSN{;oSfos ATK02 | AKV-30-M6x22 AASN-3-0004 AAV-02-M5x12  AS-01 | ABPLOT  ACN-M12-125 AAL-03-3
AC5DSDNN 0006015 1969 | 2362 0O  Mi6xl5 | 0600 SI\?N.1'55046208 ATKO4 | AKV-19-M7x25 | AASN-3-0023 | AAV-05-M6x15 | AS-02 | ABPLO2 | ACN-M10-105  AALO5-4
ACGDSDNN 0006515 2480 2559 0  M2ox2 | 100 SI\?N.1'55046208 ATKO4 | AKV-19-M7x25  AASN-3-0023 AAV-05-M6x15 ~ AS-02  ABPLO2  ACN-M12-125  AAL05-4
AC5DSDNN 0006519 1969 | 2559 0O  Miex5 | 0700 sw?%?s%s ATKO4 | AKV-19-M7x25 | AASN-3-0005 | AAV-7-M6x14 | AS-02 | ABPL-02 | ACN-MA0-105  AAL-05-4
ACGDSDNN 0007019 2480 2756 0 = M2x2 | 1120 sﬁNi'g%‘szos ATKO4 | AKV-19-M7x25  AASN-3-0005 AAV-7-M6x14  AS-02 | ABPLO2 | ACN-M12-125  AAL05-4
KAPR=93° )
- J DCONMS
\CRKS
lllustrations shown may vary from actual product.
= @, @
Dimensions in Inch ~g LZ §

Insert Wedge

Ordering Code DCONMS  LF  WF  CRKS  KG | \\onMewic  Clamp

Clamp Screw Shim Shim Screw  Spring Ring  Allen Key

AC4DVINR 2706216 H = 1.575 2441 | 1.063 | M14x1.5 0.400 VI\\IINI1.§034208 ATKH-06-L | AKV-33-M6x22 | AAVN-2-0002 = AAV-04-M5x12 = AKY-01 AXR-01 | AAL-03-3
AC4 DVJINL 2706216 H = 1.575 2441 1.063  M14x1.5 | 0.400 VI\\I/N.1.63034208 ATKH-05-R ~ AKV-33-M6x22 = AAVN-2-0002 = AAV-04-M5x12 = AKY-01 AXR-01 = AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




MMONOBLOCK TOOLS WITH POLYGONAL SHANK <

KAPR=50°

DCONMS

lllustrations shown may vary from actual product.

Dimensions in Inch "'_'3 ﬁ § ﬁ § @

Insert Wedge
Inch/Metric ~ Clamp

Ordering Code DCONMS LF WF CRKS KG Clamp Screw Shim Shim Screw Ring  Stamp Nozzle Allen Key

AC4 DVUNN 0006216 = 1.575 | 2441 = 0  M14x1.5  0.400 Vl\\l/. N163(;3 4208 ATK-03 | AKV-30-M6x22 A AAVN-2-0002 ' AAV-04-M5x12 = AS-01 | ABPL-01 | ACN-M8-85 @ AAL-03-3
AC5DVVNN 0006516 =~ 1969 | 2559 0  Mi6x1.5 0.600 VI\\I/. N1§03 4208 ATK-03  AKV-30-M6x22 AAVN-2-0002 = AAV-04-M5x12 = AS-01 = ABPL-01 = ACN-M10-10.5  AAL-03-3
AC6 DVUNN 0006516 =~ 2480 | 2559 = O = M20x2 | 0.950 Vl\\l/. N1:03 4208 ATK-03 | AKV-30-M6x22 = AAVN-2-0002 ' AAV-04-M5x12 = AS-01 | ABPL-01 | ACN-M12-12.5 = AAL-03-3
AC8 DVVNN 0008016 ~ 3.150 | 3150 0 = M20x2 = 2.000 Vl\\l/. N1§03 4208 ATK-03  AKV-30-M6x22 = AAVN-2-0002  AAV-04-M5x12 = AS-01 = ABPL-01 | ACN-M12-12.5  AAL-03-3

KAPR=95°

é

| DCONMS @

VF

—CRKS

KAPR
"

LF

lllustrations shown may vary from actual product.

B & & & & 0 0

Ordering Code DCONMS  LF WF CRKS  KG Incllll%el;ttric Wedge Clamp  Clamp Screw Shim Shim Screw  Spring Ring  Allen Key
AC4DCLNR 27060 12H = 1.575 2362  1.063 = M14x1.5 | 0.440 Cl\(l;. N12463 4208 ATKH-01-R AKV-33-M6x22  AACN-3-0001 = AAV-13-M5x8 AKY-01 AXR-01 | AAL-03-3
AC5DCLNR 35060 12H 1969 = 2362 1378 = Mi6x1.5 0720 Cl\(l“.l.\lil24034208 ATKH-01-R AKV-33-MBx22 ~ AACN-3-0001 = AAV-13-M5x8 = AKY-01 = AXR-01 = AAL-03-3
AC6 DCLNR 45065 12H = 2.480 2.559 1772 M20x2 | 1.160 Cl\(l;. N12463 4208 ATKH-01-R AKV-33-M6x22 | AACN-3-0001 | AAV-13-M5x8 AKY-01 AXR-01 | AAL-03-3
AC8DCLNR5508012H  3.150  3.150 & 2.165 M20x2  2.430 Cl\(ll.l.\‘.1I24034208 ATKH-01-R | AKV-33-M6x22 = AACN-3-0001 = AAV-13-M5x8 = AKY-01 = AXR-01 | AAL-03-3
AC4 DCLNL 2706012H = 1.575 2362  1.063 M14x1.5 | 0.440 Cl\(l;. N1246? 4208 ATKH-02-L AKV-33-M6x22 | AACN-3-0001 = AAV-13-M5x8 | AKY-01 AXR-01 | AAL-03-3
AC5DCLNL 35060 12H = 1.969 = 2.362 = 1.378 Mi6x1.5  0.720 Cl\(ll.l.\‘.1I24034208 ATKH-02-L = AKV-33-M6x22 = AACN-3-0001 = AAV-13-M5x8 = AKY-01 = AXR-01 = AAL-03-3
AC6 DCLNL 4506512H = 2.480 2559 | 1.772  M20x2 | 1.160 Cl\(l;. N12463 4208 ATKH-02-L AKV-33-M6x22 | AACN-3-0001 = AAV-13-M5x8 | AKY-01 AXR-01 | AAL-03-3
AC8DCLNL5508012H  3.150  3.150 & 2.165 M20x2  2.430 CI\(IJ.I.\L1I24034208 ATKH-02-L  AKV-33-M6x22 = AACN-3-0001 = AAV-13-M5x8 = AKY-01 = AXR-01 = AAL-03-3

10/11




> IMONOBLOCK TOOLS WITH POLYGONAL SHANK

KAPR=93°

DCONMS

~CRKS

| KAPR

LF

lllustrations shown may vary from actual product. @'
- Y
Dimensions in Inch ~a @ e

Insert Wedge
Inch/Metric ~ Clamp

&§ O

Clamp Screw Shim Shim Screw  Spring Ring  Allen Key

Ordering Code DCONMS  LF WF CRKS KG

ACADDINRZ0GO1SH | 1575 2362 | 1063 Mid5 0400 V-2 ATKHOZL  AKV33MG22 | AADNO00T | AAVASMBE | AKKO! | AROT | AALG33
ACSDDINRSOGOSH 1969 2362 1378 MiGkl5 0620 o':t2  ATKHOZL AKV33MG22 | AADN000T  AAVASMSE | AKKO! | AROT  AALG33
ACGDDINRASOBSTSH | 2480 | 2550 1772 | M2o@ | 1030 [ OIE o ATKHOZL  AKVEIMGR2 | AADN3000T | AMGI3MBS | AKYO! | AROT | AAL033
ACBDDINRSSOB01SH 3150 3150 | 2165  M20@ 2200 NVi2o ATKHOZL  AKV33MGK22 | ANDN3O00T  AVASMSE | AKYOT | AROT  AALG3
ACADDINL270G01SH | 1575 | 2362 1063 Miads 0400 D2 ATGLOIR  AKVEINMGR2 | AADN00T | AACISMBE | AKYO! | AXROT | AAL033
ACSDDINL3SOGOSH 1960 | 2362 1378 Miod5 0620 D2 ATGLOIR  AKVEIMGR2 | AADN000T  AMCIBMEBE | AKYO! | AXROT | AAL033
ACGDDINLASOBST5H | 2480 | 2550 | 1772 M20@ | 1030 VA2 UATGHOIR  AKV33MG22 | ANDNO00T | AAVASMBE | AKYO! | AROT | AALG3
ACBDDINLSSOB01SH 3150 3150 2165  M20@ 2200 (M ATKHOIR  AKVAIMGR2 | AADN-3-0001  AMI3MES | AKYO! | AXROT | AAL033
KAPR=95° |
6 e 261582%—1

WF | k—/ k—/

—CRKS

llustrations shown may vary from actual product. 3_‘
Dimensions in Inch @ @ g

Insert Wedge

Ordering Code DCONMS LF WF CRKS KG Inch/Metric  Clamp Clamp Screw Shim Shim Screw  Spring Ring  Allen Key
AC4 DWLNR 27060 08 H 1.575 2362 1.063  M14x1.5  0.430 W\Il\IVNOé(]342()8 ATKH-01-R | AKV-33-M6X22 = AAWN-3-0001 = AAV-13-M5x8 | AKY-01 AXR-01 AAL-03-3
AC5 DWLNR 35060 08 H 1.969 2362  1.378 M16x1.5 0.680 W‘II\IVNO;&ZOS ATKH-01-R = AKV-33-M6X22 = AAWN-3-0001 = AAV-13-M5x8 = AKY-01 AXR-01 AAL-03-3
AC6 DWLNR 45065 08 H 2.480 2559 | 1772 | M20x2 | 1.190 W‘II\IVNO;OB4208 ATKH-01-R | AKV-33-M6X22 = AAWN-3-0001 | AAV-13-M5x8 | AKY-01 AXR-01 AAL-03-3
AC8 DWLNR 55080 08 H 3.150 3150 2165 = M20x2 @ 2.450 WXIVNo;O%lZOS ATKH-01-R = AKV-33-M6X22 = AAWN-3-0001 | AAV-13-M5x8 = AKY-01 AXR-01 AAL-03-3
AC4 DWLNL 27060 08 H 1.575 2362 | 1.063 ' M14x1.5  0.430 W\II\IVN[)&;‘[? 4208 ATKH-02-L = AKV-33-M6X22 = AAWN-3-0001 = AAV-13-M5x8 = AKY-01 AXR-01 AAL-03-3
AC5 DWLNL 35060 08 H 1.969 2362  1.378 M16x1.5 0.680 WnlNOéO%tZOS ATKH-02-L = AKV-33-M6X22 =~ AAWN-3-0001 = AAV-13-M5x8 = AKY-01 AXR-01 AAL-03-3
AC6 DWLNL 45065 08 H 2.480 2559 1772 0 M20x2 @ 1.190 W‘I{\IINOE;‘[? 4208 ATKH-02-L = AKV-33-M6X22 = AAWN-3-0001 & AAV-13-M5x8 = AKY-01 AXR-01 AAL-03-3
AC8 DWLNL 55080 08 H 3.150 3150 | 2165  M20x2 @ 2.450 W\l{\lINO;OS 4208 ATKH-02-L = AKV-33-M6X22 = AAWN-3-0001 = AAV-13-M5x8 = AKY-01 AXR-01 AAL-03-3
O AKKO
= rr kA ——

USA INC.



MMONOBLOCK TOOLS WITH POLYGONAL SHANK <

KAPR=95°

é

DCONMS

—CRKS

=

llustrations shown may vary from actual product.

Dimensions in Inch ; & @ ﬁ @ % )

Ordering Code ~~ DCONMS  LF ~ WF  CRKS  KG |, '™ Lever LeverScrew  Shim ssp"rii;"g Ring  Nozzle ';‘c’z:z Allen Key
ACAPCLNR2705012H | 1575 | 1969 1063 Midi5 0400 o' '3% " APLOZ | ALVOBNBKIO AACN30001 AMCO2 | AXRAOT/AORD! ANOT | 2715M3G | ANL03
ACSPCLNRISOGO12H 1960 2362 1378 MiG5 0700 ("2 APLO2  A-OBMBXIO AACN-30001 ANV-02  AXRO1/ADROT ANDI | 271536  AAL033
ACGPCLNRASOGS12H | 2480 | 2559 1772 M20@ 1280 o' 0. APLOZ  ALVOBNBKIO AACN30001 ARCO2 | AXROT/AORDT ANOT | 2715M3G | AAL03
ACGPCLNRASIGS 12H 2480 6496 1772 M20@ 3500 O 9F . APLO2  AIVAOBMBXIO AACN-30001 ANV02 | AXRO1/ADROT ANDI | 2715MB6  AAL033
ACSPCLNRSSOB012H | 3150 | 3150 2165 M20@ 2500 (o' 0. APLO2  ALAOBMBKIO AACN30001 ARC02 | AXROT/AORDT ANOT | 2715-M3G | AAL03
ACAPCINL270S012H 1575 1969 1063 Midl5 0400 2. APLO2  ALV-OBMBXIO AACN-30001 ANV02 | AXRO1/ADROT ANDI | 2715M36  AAL033
ACSPCLNLISOBO1ZH | 1960 | 2362 1378 WG5S 0700 o' 3% | APLO2  ALAOBNBKIO AACN30001 ARC0Z | AXROT/AORDT ANOT | 2715-M3G | ANL033
ACGPCLNLASOBS12H 2480 2560 1772 M20@ 1280 (o' F . APLO2  ALVAOBMBXIO AACN300D1 ANV02  AXRO1/ADROT AND1 | 2715M36  AAL033
ACGPCLNLASIBS 12H | 2480 6496 1772 M20@ 3500 o' '3% | aPLOZ | ALVOBMBXIO AACN30001 | ANCO2 | AXROT/AORD! ANOT | 2715M3G | ANL03
ACBPCLNLSSOBO12H 3150 3150 2165 M20@ 2500 (o' 0. APLO2 ALV-OBMBXIO AACN300D1 ANV-02  AXRO1/ADROT ANO1 | 2715M36  AAL033

12/13




> IMONOBLOCK TOOLS WITH POLYGONAL SHANK

KAPR=95°

é

DCONMS

L cRKs
lllustrations shown may vary from actual product. ,

Dimensions in Inch ‘_.J & ﬁ ﬁ @ S )
Ordering Code DCONMS LF  WF CRKS KG Inclim:lric Lever Lever Screw Shim Ssphrllwg Ring Nozzle 's‘g:::z A;:;n
ACOPDINRZTOBOISH | 1575 | 2362 1063 M5 0420 0'':t% | APLO3 AVOSMBXIO ANDN-30001 AAYG2 | AXR-OT/AOROT | ANOT | 271SM3G AAL033
ACSPDUNRISOGOTSH 1960 2362 1378 Mi6x15 0620 [0\ 42 | APLO3 ALVOBMEXIO AADN-3-0001 ARL02 | AXRO1/AOROT ANOT | 2715M35 ANL033
ACGPDINRASOGS15H | 2480 | 2550 1772 M0 1030 [ OV:M2 | APLO3 | ALVOBMEXIO MADN-3.0001 ARL02 | AXRO1/ADROT | ANOT | 2715M5 AAL033
ACGPDINRASIGS15H 2480 6496 1772 M0 3260 [V APLG3 ALVOSMEXIO AMDN-3-0001 AAL02 | AXRO1/AOROT  ANOT | 2715M35 ANL033
ACSPDINRSSOBOT5H | 3150 | 3150 | 2165 W02 2340 [ C\M2 | APLO3 ALVOBMEXIO AADN-3.0001 AAL02 | AXRO1/AOROT | ANOT | 2715M5 AAL033
ACOPDINLZTOGOTSH | 1575 | 2362 1063 Mi4d5 0420 002 APLO3 AVOSMBXI ANDN-30001 AAYG2 | AXROT/AOROT ANOT | 271SM3G AAL033
ACSPOUNLISOBO1SH | 1960 | 2362 1378 W65 0620 [0V | APLO3 ALVOBMEXIO AADN-3-0001 ARL02 | AXR01/AOROT  ANOT | 2715M35 ANL033
ACGPDINLASOBS1SH 2480 2550 1772 M0 1030 [O\-2 1 APLO3 AVOBMEXIO AADN-3.0001 AAL02 | AXRO1/ADROT  ANOT | 2715M5 AAL033
ACGPDINLASIGS 15H | 2480 | 6495 1772 M202 3260 0"t APLO3 AVOSMBXIO ANDN-30001 AAYG2 | AXROT/AOROT ANOT | 2715M3G AAL33
ACEPDINLSSOBOTSH 3150 3150 2165 W02 2340 [ O\M2 | APLG3 AVOBMEXIO MADN-3.0001 AAL02 | AXRO1/ADROT  ANOT | 2715M35 ANL033

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



MMONOBLOCK TOOLS WITH POLYGONAL SHANK <

KAPR=95° I
DCONMS
A\ A
L cRKs
lllustrations shown may vary from actual product. o
Dimensions in Inch — /
Ordering Code DCONMS LF WF CRKS KG L Screw Shim Shim Screw  Torx Key
Inch/Metric
AC4 SCLCR 27050 12 H 1575 1.969 1063 | Mi4xi5 | 0350 cccci';oafos 1020-M4.5x16 | AACN-2-0003  AAV-T0-M45@ | 80-T20
AC5 SCLCR 35060 12 H 1.969 2,362 1378 | Mi65 | 0700 CCCC.1'24034208 1020-M45x16  AACN-2-0003  AAV-0-MASX8 80120
AC6 SCLCR 45065 12 H 2.480 2,559 1772 M20X2 1160 CSC;Q“&Z% 1020-M4.5x16 | AACN-2-0003  AAV-10-M456 | 80-T20
AC4 SCLCL 27050 12 H 1575 1.969 1063 | Mi4d5 | 0350 C(();C.1.24034208 1020-M45x16 | AACN-2-0003  AAV-10-M45: 80720
AC5 SCLCL 35060 12 H 1,969 2.362 1378 | MiexI5 | 0700 C(:Cci';()34208 1020-M4.5¢16 | AACN-2-0003  AAV-10-M45@ | 80-T20
AC6 SCLCL 45065 12 H 2,480 2,559 1772 M20X2 1160 cgci';oizoe 1020-M4.5x16 | AACN-2-0003  AAV-10-MA56 80720
KAPR=93° =
DCONMS
N\
L cRKs

llustrations shown may vary from actual product.

Q2

@ d S
Dimensions in Inch < / J/
. Insert . .

Ordering Code DCONMS LF WF CRKS KG Inch/Metric Screw Shim Shim Screw Torx Key
AC4 SDJCR 27050 11 H 1575 1969 | 1063 | Mi4xi5 | 0340 D?:C'iﬁgga 4015-M3501 | AADN-20001 | AAV-OB-M3SXS | 80-T5
AC5 SDJCR 35060 11 H 1,969 2362 | 1378 | Mi6xi5 | 0640 Dgc'iﬁggs 4015-M3501 | AADN--0001 | AAV-OG-M3SXHT | 80-Ti5
AC6 SDJCR 45065 11 H 2480 2559 | 1772 M20x2 1040 Dléc..‘ﬁggs 4015-M35011 | AADN-2-0001 | AAV-06-M3SXIT | 80-TI5
AC4 SDJCL 27050 11 H 1575 1969 | 1063 | Mi4d5 0340 D%C'ﬁigga 4015-M35x11 | AADN-2-0001 | AAV-0B-M35XE | 80TI5
AC5 SDJCL 35060 11 H 1,969 2362 | 1378 | Miexi5 | 0640 Dgc'ﬁ%& 40153501 | AADN--0001 | AAV-OG-M3SXT | 80-Ti5
AC6 SDJCL 45065 11 H 2.480 2550 | 1772 M20e 1.040 D[()JC”1?$§S8 A015-M35x11  AADN-2-0001 | AAV-OG-M3SXIT | 80-T15

14/15




> IMONOBLOCK TOOLS WITH POLYGONAL SHANK

KAPR=95°

é

BD
. : DCONMS
f o) \
yibali ]
—CRKS

LF
N N
lllustrations shown may vary from actual product. "
N & SIS
Dimensions in Inch -_ —— S J

Ordering Code DCONMS LF WF BD D.min CRKS KG Incltll‘/si\:;tlric Screw Shim Shim Screw  Torx Key
AC4 SCLCR 17090 12 H 1.575 3.543 0.669 = 0.9843 @ 1.2598  M14x1.5  0.450 Cg. P.1.24034208 4020-M4.5x12  AACN-2-0003 = AAV-10-M4.5x8 = 80-T20
AC4 SCLCL 17090 12 H 1.575 3.543 0.669  0.9843  1.2598 M14x1.5 0.450 Cg. 0124(? 4208 4020-M4.5x12  AACN-2-0003 = AAV-10-M4.5x8 = 80-T20
AC5 SCLCR 17090 12 H 1.969 3.543 0.669 = 0.9843 @ 1.2598 M16x1.5 0.620 C(E,;. F)‘1.24034208 4020-M4.5x12 | AACN-2-0003 | AAV-10-M4.5x8 | 80-T20
AC5 SCLCL 17090 12 H 1.969 3.543 0.669  0.9843  1.2598 M16x1.5 0.620 Cg. 012403 4208 4020-M4.5x12  AACN-2-0003 = AAV-10-M4.5x8 = 80-T20

BD ]

KAPR=93°

é

DCONMS

— CRKS

LF O\
lllustrations shown may vary from actual product.

Dimensions in Inch < § §

Ordering Code DCONVS LF  WF BD Dmin CRKS KG |nc|h"/s|;2m . Screw shim Shim Screw  Torx Key
AC4 SDUCR 13080 11 H 157 | 3150 | 0512 | 07874 09843 Miacs| 0340 032 pswgsi1 | mON2000T  ANOBMISXB | 80T15
AC4 SDUCR 17090 11 H 157 | 3543 0669 09843 12598 Miacs 0450 090 aptswasd1 | mON2.000T  ANAOBMBSB  80TI5
AC5 SDUCR 13080 11 H 1960 | 3150 | 0512 | 09843 12598 Mi6cis| 0520 08 aptswas1 | MDN2000T  ANOBMBSXB | 80T15
AC5 SDUCR 17080 11 H 1960 | 3543 | 0669 09843 1.2508 Mi6xl5 0620 D%Cﬁ%ggg 4015-M35¢11 | AADN-2-0001 | AAV-0B-M3SXS | 80-T15
AC4 SDUCL 13080 11 H 1575 | 3150 | 0512 | 07874 09843 Miacs 0340 032 aptswasd1 | mON2000T  ANOBMBSX | 80TI5
AC4 SDUCL 17090 11 H 157 | 3543 0660 09843 12598 Miacs 0450 02 uptswas1 | MDN2.000T  ANOBMISXB | 80T15
AC5 SDUCL 13080 11 H 1969 | 3150 | 0512 | 09843 12598 Mibcls 0520 09D aptswasd1 | MON-2.0001T  ANAOBMBSXB | 80TIS
AC5 SDUCL 17090 11 H 1960 | 3543 0660 09843 12598 Mibls 0620 030 aptswasd1 | MDN2.000T  ANOBMBSXB  80TI5

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



MMONOBLOCK TOOLS WITH POLYGONAL SHANK <

=l
|

—CRKS

LF

llustrations shown may vary from actual product.

Dimensions in Inch -2 & @ / -

Ordering Code DCONMS LF WF CRKS KG Insert Screw Shim Shim Screw Ring Torx Key
AC4 TER 27050 16 H 1.575 1.969 1.063 M14x1.5 0.360 16 ER | 1710-U5-40x12.2 = ATS-16E | AAV-11-U5-40x4.5 |  ABPL-03 82-T10
AC5 TER 35060 16 H 1.969 2.362 1.378 M16x1.5 0.700 16ER | 1710-U5-40x12.2 = ATS-16E  AAV-11-U5-40x4.5 = ABPL-03 82-T10
AC6 TER 45065 16 H 2.480 2.559 1.772 M20x2 1.240 16ER | 1710-U5-40x12.2 = ATS-16E | AAV-11-U5-40x4.5 | ABPL-03 82-T10
AC4 TEL 27050 16 H 1.575 1.969 1.063 M14x1.5 0.360 16EL  1710-U5-40x12.2 | ATS-161  AAV-11-U5-40x4.5  ABPL-03 82-T10
AC5 TEL 35060 16 H 1.969 2.362 1.378 M16x1.5 0.700 16 EL | 1710-U5-40x12.2 | ATS-161 = AAV-11-U5-40x4.5  ABPL-03 82-T10
AC6 TEL 45065 16 H 2.480 2.559 1.772 M20x2 1.240 16EL  1710-U5-40x12.2 | ATS-161  AAV-11-U5-40x4.5  ABPL-03 82-T10

16/17




> IMONOBLOCK TOOLS WITH POLYGONAL SHANK

DCONMS

—CRKS

LF

lllustrations shown may vary from actual product.

' NS ‘ 45O
Dimensions in Inch 2 & @ /

Ordering Code DCONMS  LF WF BD D.min  CRKS KG | Insert Screw Shim Shim Screw Ring Torx Key

AC4 TIR 14060 16 H 1.576 2362 | 0551 @ 0.787 1299 | M14x15 | 0.320 | 16IR | 1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10

AC4TIR 17070 16 H 1.575 2.756 | 0.669 = 0.984 1299 Mi14x15 | 0.400 = 16IR | 1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-110

AC4 TIR 22090 16 H 1.575 3543 0866 = 1.260 1.575  M14x1.5 0590 = 16IR | 1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10

AC5TIR 17070 16 H 1.969 2.756 | 0.669 = 0.984 1299  M16x1.5 | 0570  16IR  1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-110

AC5 TIR 22090 16 H 1.969 3543 | 0866 | 1.260 1299 | M16x1.5 0760 =~ 16IR | 1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-110

AC5 TIR 27105 16 H 1.969 4134 | 1.063 = 1.575 1575 M16x1.5 | 1.080  16IR  1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-110

AC6 TIR 1707516 H 2.480 2.953 | 0.669 @ 0.984 1.299 M20x2 0900 = 161R | 1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-110

AC6 TIR 22090 16 H 2.480 3543 0866  1.260 1.299 M20x2  1.060 = 16I1R | 1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10

AC6 TIR 2710516 H 2.480 4134 | 1.063 = 1575 1.575 M20x2 = 1.370 | 16IR | 1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-110

AC4 TIL 14060 16 H 1.575 2362 | 0551 = 0.787 1299  Mi4x15 | 0320  16IL  1710-U5-40x12.2 ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-T10

AC4TIL17070 16 H 1.575 2.756 | 0669 @ 0.984 1299 | M14x1.5 | 0400 = 16IL | 1710-U5-40x12.2 = ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-110

AC4 TIL 22090 16 H 1.575 3543 | 0866 @ 1.260 1575 M14x15 | 0590  16IL  1710-U5-40x12.2 ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-110

AC5 TIL 17070 16 H 1.969 2756 = 0.669 = 0984 1299  Mi6x1.5 0570 @ 16IL | 1710-U5-40x12.2 ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-T10

AC5 TIL 22090 16 H 1.969 3543 | 0866 = 1.260 1299 Mi6x1.5 | 0760  16IL  1710-U5-40x12.2  ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-110

AC5 TIL 27105 16 H 1.969 4134 | 1.063 = 1575 1575  M16x1.5 1.080  16IL | 1710-U5-40x12.2 ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-T10

AC6 TIL 17075 16 H 2.480 2953 | 0669 @ 0.984 1.299 M20x2 0900 = 16IL | 1710-U5-40x12.2  ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-110

AC6 TIL 22090 16 H 2.480 3543 | 0866 @ 1.260 1.299 M20x2 | 1.060 | 161IL | 1710-U5-40x12.2 ~ ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-110

AC6 TIL 27105 16 H 2.480 4134 1.063 = 1575 1.575 M20x2 | 1.370 = 16IL = 1710-U5-40x12.2 ATS-16E AAV-11-U5-40x4.5 ABPL-03 82-T10

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



O AKKO

1.0 .0 0.8 ¢
USAINC.

the spoken quality... D 'S YS TE M

| D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

18/19




) EXTERNAL TURNING TOOLHOLDERS DESIGNATION SYSTEM

|I| Method of Mounting of Insert

) N R liEai:atk stk ol
il A H Top Clamping Without Hole Top and Hole Clamping Top and Hole Clamping Hole Clamping (Lever Lock) Screw on
c D M P S
[2] Type of Insert (3] Tool Holder Shape Bar Geometry
L{ 75° 45° 60° NO“ 90°
w | <3 | ==
I 5 Ny
Cc D E K
A B D E F G A B C
:] Q / \ { ¢ 95° [+95° u & =
E H s T 15° : 20° : 25“):
adl A B
L M N R D E F
%f “gy 40°
. A\ I
| LB
] v Y z G N P

[6] Cutting Edge Height

R %
T B H
05 0.3125 0.3125
06 0.375 0.375
08 0.50 0.50
10 0.625 0.625
12 0.75 0.75
16 1.00 1.00
20 1.25 1.25
B

%

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




EXTERNAL TURNING TOOLHOLDERS DESIGNATION SYSTEM <

Cutting Edge Length

/A-;WA%‘JV )L

L L

PR TNt Y G
@@@ ] A\
JLLJLL.L,‘ L,

Shank Length

.
: © /]
Il
LF _
(A): 4.00 Qualified back and end. 4.00” long
(B): 4.50 Qualified back and end. 4.50” long
(C): 5.00 Qualified back and end. 5.00” long
(D): 6.00 Qualified back and end. 6.00” long
(E): 7.00 Qualified back and end. 7.00” long @
(F): 8.00 Qualified back and end. 8.00” long /,,—‘
(V): 3.50 Qualified back and end. 3.50” long N
(X): Special

/]
/]
\© I/
LF
(m)

A-32 H-100 Q-180
B-40 J-110 R-200
C-50 K-125 S-250
D-60 L-140 T-300 x-special
E-70 M-150 U-350
F-80 N-160 V-400
G-90 P-170 W-450

20/21




> D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=75° . DCKNR
g x =

i

. = ,g‘__.ml' |

:"._. b :."' !

\S P> @f""" T i

o, [T - = R
)
LF
lllustrations shown may vary from actual product.
- )@
Dimensions in Inch = ﬁ g \\\\\\ k/
. _ Insert Wedge . . .
Ordering Code HF=H B LF LH WF Inch/Metric ~ Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DCKNR 12 4B 0.750 1 0.750 1 4.500 1.250 1.000 Cl\(l:.'.\‘i'24034'1208 ATK-02 | AKV-30-M6x22  AACN-3-0001 ' AAV-02-M5x12 = AS-01 | ABPL-01 = AAL-03-3
DCKNR 16 4C 1.000 1.000 5.000 1.250 1.250 CI\?.I.\‘{;O%IZOS ATK-02 | AKV-30-M6x22 | AACN-3-0001 | AAV-02-M5x12 | AS-01 = ABPL-01 = AAL-03-3
DCKNR 16 4D 1.000 ' 1.000 6.000 1.250 1.250 Ch?.’.\‘ﬁ'24034208 ATK-02 | AKV-30-M6x22  AACN-3-0001 ' AAV-02-M5x12 = AS-01 | ABPL-01 = AAL-03-3
DCKNR 20 4D 1.250 1.250 6.000 1.250 1.500 Cl\?.l.\‘i'24034208 ATK-02 | AKV-30-M6x22 | AACN-3-0001 | AAV-02-M5x12 | AS-01 = ABPL-01 = AAL-03-3
DCKNR 20 5D 1.250 1 1.250 6.000 1.250 1.500 Ch?.’.\‘ﬁ'65046312 ATK-04 | AKV-19-M7x25 AACN-3-0002  AAV-05-M6x15 ~ AS-02 | ABPL-02 @ AAL-05-4
DCKNL 16 4D 1.000 1.000 6.000 1.250 1.250 Cl\(l:.l.\‘i'24034208 ATK-02 | AKV-30-M6x22 AACN-3-0001 AAV-02-M5x12  AS-01 | ABPL-01 = AAL-03-3
DCKNL 20 4D 1.250 1 1.250 6.000 1.250 1.500 Cl\?.'.\‘ﬁ'240321208 ATK-02 | AKV-30-M6x22 | AACN-3-0001 | AAV-02-M5x12 | AS-01 = ABPL-01 ' AAL-03-3
KAPR=75° P DCKNR
(] I S s A
:ﬁ &
b
w \ 1 77777 [aa] -
g ’@ 77777
KAPR
Y
LF
llustrations shown may vary from actual product.
-~

Dimensions in Inch i @ @ § § @ @ )
Ordering Code HF=H B LF LH WF Inclhn/sl\:tratlric ‘glzl:‘?: Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key
DCKNR 16 4D-H 1.000 | 1.000 6.000 1.650 1.250 Cl\(l:. .N'1'24034208 ATKH-01-R | AKV-33-M6x22 | AKV-33-M6x22 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 | AAL-03-3
DCKNR 20 4D-H 1.250 1.250 6.000 1.650 1.500 Cl\[l:. '_\1'1';034208 ATKH-01-R ' AKV-33-M6x22 | AKV-33-M6x22 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DCKNR 124D-H 0.750 |0.750 6.000 1.690 1.000 CI\LI:.’.“{;034208 ATKH-02-L ' AKV-33-M6x22 | AKV-33-M6x22 | AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DCKNL 16 4D-H 1.000 1.000 6.000 1.650 1.250 C,\?_'_\li';:fog ATKH-02-L ' AKV-33-M6x22 AKV-33-M6x22  AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DCKNL 20 4D-H  1.250 |1.250 6.000/1.650 1.500 Cl\(l:. ’.\1'1'24034208 ATKH-02-L | AKV-33-M6x22  AKV-33-M6x22 |AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DCKNL 124D-H 0.750 0.750 6.000 1.690 1.000 Cl\tl:. ’.\1'1'24034208 ATKH-01-R ' AKV-33-M6x22 | AKV-33-M6x22 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

OAKKO

* ok h ok k

USA INC.

www.akkousa.us



D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=95° DCLNR

v KAPR LF 4—1

lllustrations shown may vary from actual product.
Dimensions in Inch ;' ﬁ & ﬁ )
Ordering Code HF=H B LF LH WF IncII:I/SMe;‘lric ‘é’l‘;‘l’g: ClampScrew  Shim  ShimScrew  Ring  Stamp Allen Key
DCLNR 1238 0750 0750 4500 1000 1000 o'G322 | ATKOT | AKV-O1-MSx22 AACN-2-0001 AAV-OSMSGO - ABPLOT AAL03-3
DCLNR163D | 1.000 1000 6000 1.000 1250 o C'-322 ' ATKO1 AKV-OT-MSx2 AACN-2.0001 AAV-O9-MSX -  ABPLO1 AAL033
DCLNR124B | 0.750 0750 4500 1250 1000 0'tof | ATKO2 | AKV-30-M6x22 AACN-3-0001 AAV-O2-MSK12 AS-01 ABPLO1 AAL03-3
DCLNR164C 1000 1.000 5000 1250 1250 oC'or | ATKO2  AKV-30-MGx22 AACN-3-0001 AAV-02-MSx12 AS-01 ABPLOT AAL03-3
DCLNR164D | 1.000 1.000 6000 1250 1250 o 0'otok | ATK02 | AKV-30-M6x22 AACN-3-0001 AAV-02-M5K12 AS01 ABPLO1 AAL03-3
DCLNR204D 1250 1.250 6000 1250 1500 o oo | ATKO2  AKV-30-MGX22 AACN-3-0001 AAV-02-MSx12 AS-01 ABPLOT AAL3-3
DCLNR244D | 1500 1500 6000 1250 2000 o<';otor | ATKO2 | AKV-30-MEX22 | AACN-3-0001 AAV-02-MSx12| AS-01 ABPLOT AALO3-3
DCLNR165C 1000 1.000 5000 1380 1250 o 'oo ATKO4  AKV-A9-M7x25 AACN-3-0002 AAV-OS-MExIS AS-02 ABPLO2 AAL05-4
DCLNR165D 1000 1.000 6000 1380 1250 oC'; 208 | ATKO4  AKV-19-M7XG5 | AACN-3-0002 AAV-OSMEXIS AS-02 | ABPLO2 AALOS-4
DCLNR2050 1250 1250 6.000 1380 1500 o'y, ATKO4  AKV-19-M7425 AACN-3-0002 AAV-OS-MGxIS AS-02 ABPLO2 AAL-05-4
DCLNR2450 | 1500 1500 6000 1380 2000 o' ;oo | ATKO4 | AKV-I9-MTXG5 AACN-3-0002 AAV-OSMExIS AS-02 | ABPLO2 AALOS-4
DCLNL1238 0750 0.750 4500 1.000 1.000 o328 ATKO1  AKV-OT-MSX2 AACN-2-0001 AAVO9-MSX - ABPLOT AALO3-3
DCLNL163D | 1.000 1.000 6000 1.000 1250 oo | ATKOT AKV-OI-MS5x22 AACN-2.0001 AAV-OSMS9 -  ABPLOT AAL03-3
DCLNL1248 0750 0750 4500 1250 1.000 o ';t38 ' ATK02 | AKV-30-MGX22 AACN-3-0001 AAV-02MSxi2 AS-01 ABPLO1 AALO3-3
DCLNL164C | 1000 1.000 5.000 1.250 1250 o ';oone  ATK02 | AKV-30-M6x22 AACN-3-0001 AAV-02-MSxi2| AS-01 | ABPLOT AAL03-3
DCLNL164D 1000 1000 6000 1250 1250 o°':t32 ' ATKO2  AKV-30-MGX22 AACN-3-0001 AAV-02MSxi2 AS-01 ABPLO1 AALO3-3
DCLNL204D 1250 1250 6000 1250 1500 oC:t32 ' ATKO2 | AKV-30-MGX22 | AACN-3-0001 AAV-02MSxi2| AS-01 | ABPLO1 AALO3-3
DCLNL244D 1500 1500 6.000 1.250 2000 o ';ooe . ATK02 AKV-30-M6x22 AACN-3-0001 AAV-02MSx12 AS-01 ABPLOT AAL03-3
DCLNL165C  1.000 1.000 5.000 1.380 1.250 C,\?'_\'{go“g’m ATK-04 | AKV-19-M7x25  AACN-3-0002  AAV-05-M6x15 AS-02  ABPL-02 AAL-05-4
DCLNL1650 1000 1.000 6000 1.380 1250 'y, ATKO4  AKV-A9-M7x25 AACN-3-0002 AAV-O5-MEx1S AS-02 ABPLO2 AALO5-4
DCLNL205D 1250 1250 6000 1380 1500 o°';t% | ATKO4  AKV-I9-MTXE5 | AACN-3-0002 AAV-OSMExiS AS-02 | ABPLO2 AALOS-4
DCLNL245D 1500 1500 6000 1380 2000 o ;4% | ATKO4  AKV-IOMTXE5 AACN-3-0002 AAV-OSMEXIS AS-02 ABPLO2 AALOS-4
22/23




) D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=95°

DCLNR

HF

N e

G1/8”

WF

KAPR
‘ LF
lllustrations shown may vary from actual product.

Dimensions in Inch :- @ g @ § @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric ~ Clamp

Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

DCLNR 124B-H 0.750 0.750 4500 1.690 1.000 C,\?Ni'24034208 ATKH-01-R AKV-33-M6x22 AACN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DCLNR 16 4D-H 1.000 1.000 6.000 1.650 1.250 CI\(I:N.1.24034208 ATKH-01-R AKV-33-M6x22 AACN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
CN.. 543 AAV-05-

DCLNR 16 50-H 1.000 1.000 6.000 1.770 1.250 ATKH-07-R  AKV-39-M7X21 AACN-3-0002 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
CN.. 160612 M6X10

DCLNR 20 4D-H 1.250 1.250 6.000 1.650 1.500 CI\(I:N.1-24034208 ATKH-01-R | AKV-33-M6x22 AACN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
CN.. 543 AAV-05-

DCLNR 20 5D-H 1.250 1.250 6.000 1.770 1.500 ATKH-07-R  AKV-39-M7X21 AACN-3-0002 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
CN.. 160612 M6X10
CN.. 643 AAV-17-

DCLNR 20 6D-H 1.250 1.250 6.000 1.960 1.500 ATKH-09-R AKV-39-M7X21 AACN-3-0003 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
CN.. 190612 M6X14
CN.. 543 AAV-05-

DCLNR 24 5E-H | 1500 1.500 7.000 1.770 2.000 ATKH-07-R | AKV-39-M7X21 AACN-3-0002 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
CN.. 160612 M6X10
CN.. 643 AAV-17-

DCLNR 24 6E-H 1500 1.500 7.000 1.960 2.000 ATKH-09-R AKV-39-M7X21 AACN-3-0003 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
CN.. 190612 M6X14

DCLNL 124B-H  0.750 0.750 4.500 1.690 1.000 CI\(I:N.1-24034208 ATKH-02-L | AKV-33-M6x22 AACN-3-0001 AAV-13-M5x8 (AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DCLNL 16 4D-H 1.000 1.000 6.000 1.650 1.250 CI\(I:N.1'24034208 ATKH-02-L AKV-33-M6x22 AACN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
CN.. 543 AAV-05-

DCLNL 16 5D-H  1.000 1.000 6.000 1.770 1.250 ATKH-08-L AKV-39-M7X21 AACN-3-0002 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
CN.. 160612 M6X10

DCLNL 204D-H 1.250 1.250 6.000 1.650 1.500 CI\(I:N.1-24034208 ATKH-02-L AKV-33-M6x22 AACN-3-0001 AAV-13-M5x8 AKY-01 AXR-O1 2705-G1/8x5.5 AAL-03-3
CN.. 543 AAV-05-

DCLNL 205D-H  1.250 1.250 6.000 1.770 1.500 ATKH-08-L AKV-39-M7X21 AACN-3-0002 AKY-01 AXR-01/2705-G1/8¢5.5 AAL-05-4
CN.. 160612 M6X10
CN.. 643 AAV-17-

DCLNL 20 6D-H 1.250 1.250 6.000 1.960 1.500 ATKH-10-L. AKV-39-M7X21 AACN-3-0003 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
CN.. 190612 M6X14
CN.. 543 AAV-05-

DCLNL 24 5E-H | 1500 1.500 7.000 1.770 2.000 ATKH-08-L AKV-39-M7X21 AACN-3-0002 AKY-01 AXR-01/2705-G1/8¢5.5 AAL-05-4
CN.. 160612 M6X10
CN.. 643 AAV-17-

DCLNL 24 6E-H 1500 1,500 7.000 1960 2.000 \™gnc’ o ATKH-10-L AKV-30-M7X21 AACN-3-0003  ect/  AKY-01 AXR-O1 2705-G1/8¢6.5 AAL-05-4

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=95°

DCLNR

ik

itk
‘iW
i,

& -
S
/,
=
)
>
WF
8,

KAPR LF

lllustrations shown may vary from actual product.

Dimensions in Metric a:. ﬁ @ & @ )

Insert Wedge

Ordering Code HF=H B LF WF Inch/Metric ~ Clamp

Clamp Screw Shim Shim Screw Ring Stamp Allen Key

DCLNR 2020 K12 20 20 | 125 25 CﬁN1 384 ATK-02 | AKV-30-M6x22 = AACN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNR 2525 M12 25 25 150 32 C(I:\IN1gg4 ATK-02 = AKV-30-M6x22 = AACN-3-0001 = AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNR 3232 P12 32 32 170 40 C?\‘N1 334 ATK-02 | AKV-30-M6x22 | AACN-3-0001 = AAV-02-M5x12  AS-01 ABPL-01 AAL-03-3
DCLNR 4040 S12 40 40 250 50 CﬁN1 334 ATK-02 = AKV-30-M6x22 = AACN-3-0001 = AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNR 5050 S12 50 50 | 250 @63 C%]N1 384 ATK-02 | AKV-30-M6x22 = AACN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNR 2525 M16 25 25 150 32 CE\;]N1 236 ATK-04 = AKV-19-M7x25 = AACN-3-0002 AAV-05-M6x15  AS-02 ABPL-02 AAL-05-4
DCLNR 3232 P16 32 32 | 170 40 CﬁN1 236 ATK-04 = AKV-19-M7x25 = AACN-3-0002 = AAV-05-M6x15 | AS-02 ABPL-02 AAL-05-4
DCLNL 2020 K12 20 20 125 25 C(liIN1 384 ATK-02 = AKV-30-M6x22 = AACN-3-0001 = AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNL 2525 M12 25 25 150 @ 32 C(lle1 384 ATK-02 | AKV-30-M6x22 = AACN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNL 3232 P12 32 32 170 40 CEN1 384 ATK-02 = AKV-30-M6x22 = AACN-3-0001 AAV-02-M5x12  AS-01 ABPL-01 AAL-03-3
DCLNL 4040 S$12 40 40 | 250 50 CﬁN1 384 ATK-02 | AKV-30-M6x22 = AACN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNL 5050 $12 50 50 250 63 CﬁN1 384 ATK-02 = AKV-30-M6x22 = AACN-3-0001 = AAV-02-M5x12 | AS-01 ABPL-01 AAL-03-3
DCLNL 2525 M16 25 25 150 @ 32 C(lilN1 236 ATK-04 | AKV-19-M7x25 = AACN-3-0002 A AAV-05-M6x15 AS-02 ABPL-02 AAL-05-4
DCLNL 3232 P16 32 32 170 @ 40 C?\;IN1 236 ATK-04 = AKV-19-M7x25 = AACN-3-0002 =AAV-05-M6x15 ~ AS-02 ABPL-02 AAL-05-4

24/25




) D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=75° ’ .

WF
B

S o
LF

lllustrations shown may vary from actual product.

Dimensions in Inch ; @ & § @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric  Clamp

Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

CN.. 432
CN.. 120408

ON.. 432
CN.. 120408
DCBNR 20 4D-H 1.250 1.250 6.000 1.770 0.990 cﬁNi';oazos ATKH-01-R | AKV-33-M6x22 AACN-3-0001 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

ON.. 432
ON.. 120408
DCBNL 16 4D-H 1.000 1.000 6.000 1.770 0.910 CI\(I:N.1.24034208 ATKH-02-L | AKV-33-M6x22 AACN-3-0001 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

ON.. 432
CN.. 120408

DCBNR 12 4D-H| 0.750 0.750 6.000/1.770/0.600 ATKH-01-R AKV-33-M6x22 AACN-3-0001 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DCBNR 16 4D-H  1.000 1.000 6.000 1.770 0.910 ATKH-01-R AKV-33-M6x22 AACN-3-0001 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DCBNL 124D-H | 0.750 0.750 6.000 1.770 0.600 ATKH-02-L AKV-33-M6x22 AACN-3-0001 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DCBNL 204D-H  1.250 1.250 6.000 1.770 0.990 ATKH-02-L AKV-33-M6x22 AACN-3-0001 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

KAPR=62.5°

é

5 T
K

.
~" N JW??

)
iﬁ | = KAPR LF B V.4

=
H
5

G1/8

lllustrations shown may vary from actual product.

Dimensions in Inch ‘\;‘:’ @ @ § @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric  Clamp

Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

DDNNN 16 4D-H 1.000 1.000 6.000/2.000/0.500 DI\[I)N.1.54034208 ATKH-01-R | AKV-33-M6x22 | AADN-3-0001 AAV-13-M5X8 | AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DDNNN 20 4D-H 1.250 1.250 6.000 2.000 0.625 DI\I:I]N.1.54034208 ATKH-01-R  AKV-33-M6x22 | AADN-3-0001 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93° — T DDJNR
—
W \érmax
: & -l
P e KAI:R LF %

lllustrations shown may vary from actual product.

Dimensions in Inch ‘\:"' ﬁ @ @ ﬁ )

Insert Wedge

Ordering Code HF=H B LF LH  WF Inch/Metric Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DDJNR123B  0.750 0.750 4.500 1.250 1.000 DI\IIJ.'.\I.1.13034208 ATK-01 | AKV-01-M5x22 A AADN-2-0001 = AAV-04-M5x12 = AS-01 ' ABPL-01 ' AAL-03-3
DDJNR163C  1.000 1.000 5.000 1.250 1.250 Dl\[l).'.\l.1.13034208 ATK-01  AKV-01-M5x22 | AADN-2-0001 = AAV-04-M5x12 = AS-01  ABPL-01 AAL-03-3
DDJNR16 3D | 1.000 | 1.000 6.000 1.250 | 1.250 DI\IIJ.'.\I.1.13034208 ATK-01 | AKV-01-M5x22 A AADN-2-0001 ' AAV-04-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNR203D  1.250 1.250 6.000 1.250 1.500 DI\IIJ.'.\I.1.13034208 ATK-01  AKV-01-M5x22 = AADN-2-0001 = AAV-04-M5x12  AS-01 = ABPL-01 AAL-03-3
DDJNR124B | 0.750 | 0.750 4.500 1.000 | 1.500 DI\IIJ.'.\L1.54034208 ATK-02 | AKV-30-M6x22 A AADN-3-0001 # AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNR164C  1.000 ' 1.000 5.000 1.500  1.250 DI\IIJ.I.\L1.54034208 ATK-02  AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12  AS-01 = ABPL-01  AAL-03-3
DDJNR164D  1.000 1.000 6.000 1.500 1.250 DI\[IJ.'.\I.1-54034208 ATK-02 | AKV-30-M6x22 | AADN-2-0003 | AAV-02-Mbx12 | AS-01 | ABPL-01 ' AAL-03-3
DDIJNR204D  1.250 1.250 6.000 1.500  1.500 DI\IIJ.'.\].1.54034208 ATK-02 = AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12  AS-01 = ABPL-01  AAL-03-3
DDJNL 12 3B 0.750 1 0.750 4.500 | 1.250  1.000 DI\IIJ.'.\I.1-13034208 ATK-01 | AKV-01-M5x22 A AADN-2-0001 # AAV-04-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNL163C  1.000 1.000 5.000 1.250 1.250 Dl\ll).'.\‘.1'13034208 ATK-01  AKV-01-M5x22 = AADN-2-0001 = AAV-04-M5x12 ~ AS-01 = ABPL-01 AAL-03-3
DDJNL 16 3D 1.000 1.000 6.000 1.250 1.250 Dl\llj.l.\‘.1.13034208 ATK-01 | AKV-01-M5x22 ' AADN-2-0001 = AAV-04-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNL 16 4C 1.000 ' 1.000  5.000 1.500  1.250 Dl\[l).'.\|.1.54034208 ATK-02 = AKV-30-M6x22 | AADN-2-0003 = AAV-02-M5x12 = AS-01  ABPL-01  AAL-03-3
DDJNL 164D | 1.000 | 1.000 6.000 1.500 | 1.250 D,\IIJ.'.\I%'54034208 ATK-02 | AKV-30-M6x22 A AADN-2-0003 = AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNL 20 4D 1.250 1.250 6.000 1.500 1.500 Dl\ll).,.\l.1.54034208 ATK-02 ' AKV-30-M6x22 AADN-2-0003 = AAV-02-M5x12  AS-01 = ABPL-01 AAL-03-3

26/27




> D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=93 S T DDJNR
ju o
—
w @ \<':’7°max
| & -l
A
g | KAPR LF :i

lllustrations shown may vary from actual product.

Dimensions in Metric ‘ \‘:" éﬁg & m )

Ordering Code HF=H B LF  WF Inclhn/slv(::lric %’;‘:ﬁ: Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DDJNR 1616 H11 16 16 1 100 20 DﬂN1:1384 ATK-01 | AKV-01-M5x22 = AADN-2-0001 & AAV-04-Mbx12 - ABPL-01 = AAL-03-3
DDJNR 2020 K11 20 20 | 125 [ 25 DRIN1 ?84 ATK-01 = AKV-01-M5x22 = AADN-2-0001 = AAV-04-Mb5x12 - ABPL-01 = AAL-03-3
DDJNR 2525 M11 25 25 150 32 DﬁN1:1)’84 ATK-01 | AKV-01-M5x22 = AADN-2-0001 = AAV-04-M5x12 - ABPL-01 | AAL-03-3
DDJNR 2020 K15 20 20 125 | 25 DﬁNégG ATK-02 = AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12  AS-01  ABPL-01  AAL-03-3
DDJNR 2525 M15 25 25 150 32 DRIN1‘5136 ATK-02 | AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12 = AS-01 | ABPL-01 = AAL-03-3
DDJNR 3232 P15 32 32 170 | 40 DﬁN1gg6 ATK-02 = AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12 = AS-01  ABPL-01 | AAL-03-3
DDJNR 4040 S15 40 40 250 @ 50 DﬁNégG ATK-02 | AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNR 5050 $15 50 50 250 63 DﬁN1gg6 ATK-02 = AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12  AS-01  ABPL-01 = AAL-03-3
DDJNR 2020 K1504 20 20 125 | 25 DﬂN1L5184 ATK-02 | AKV-30-M6x22 = AADN-2-0003 & AAV-02-Mb5x12 | AS-01 | ABPL-01 | AAL-03-3
DDJNR 2525 M1504 25 25 150 | 32 DRIN1;‘84 ATK-02 = AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12  AS-01  ABPL-01  AAL-03-3
DDJNR 3232 P1504 32 32 170 40 DRIN1‘5184 ATK-02 | AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNR 4040 S1504 40 40 250 50 DﬁN1gg4 ATK-02 = AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12  AS-01  ABPL-01 AAL-03-3
DDJNL 1616 H11 16 16 1 100 20 DRIN1?(3)4 ATK-01 | AKV-01-M5x22 = AADN-2-0001 = AAV-04-M5x12 - ABPL-01 | AAL-03-3
DDJNL 2020 K11 20 20 125 | 25 DﬁN1 :1384 ATK-01 = AKV-01-M5x22 = AADN-2-0001 = AAV-04-Mb5x12 - ABPL-01 = AAL-03-3
DDJNL 2525 M11 25 25 150 | 32 DﬁN1?g4 ATK-01 | AKV-01-M5x22 = AADN-2-0001 & AAV-04-Mb5x12 - ABPL-01 = AAL-03-3
DDJNL 2020 K15 20 20 125 25 DﬁN1gg6 ATK-02 = AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12 ~ AS-01  ABPL-01  AAL-03-3
DDJNL 2525 M15 25 25 150 | 32 DKN1£5136 ATK-02 | AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNL 3232 P15 32 32 170 40 DRIN1236 ATK-02 = AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12  AS-01  ABPL-01  AAL-03-3
DDJNL 4040 S15 40 40 250 50 DﬁNégﬁ ATK-02 | AKV-30-M6x22 = AADN-3-0001 ' AAV-02-M5x12 | AS-01 | ABPL-01 | AAL-03-3
DDJNL 5050 S15 50 50 250 @ 63 D%N{S%G ATK-02 = AKV-30-M6x22 = AADN-3-0001 = AAV-02-M5x12  AS-01  ABPL-01 AAL-03-3
DDJNL 2020 K1504 20 20 125 25 D[lzIN1‘5184 ATK-02 | AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNL 2525 M1504 25 25 150 | 32 DﬁN1L5‘84 ATK-02 = AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12 = AS-01  ABPL-01 | AAL-03-3
DDJNL 3232 P1504 32 32 170 | 40 DRIN1234 ATK-02 | AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DDJNL 4040 S1504 40 40 | 250 50 DﬂN1gg4 ATK-02 = AKV-30-M6x22 = AADN-2-0003 = AAV-02-M5x12 ~ AS-01  ABPL-01 = AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93°

1" j / S
- 4 |
6 L | B -
' r =) i
[ i 20 |
- 5 .
ig‘
e

= G1/8 Ive

LF

lllustrations shown may vary from actual product.

Dimensions in Inch “:“" @ @ § @ )

Insert Wedge
Inch/Metric ~ Clamp

DDJNR 12 4B-H 0.750 0.750 4.500 1.930 1.000 DI\IIJN‘1.54O46208 ATKH-01-R AKV-33-M6x22 AADN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 | AAL-03-3

DDJNR 16 4D-H 1.000 1.000 6.000 1.930 1.250 Dl\[l)N.1.54046208 ATKH-01-R AKV-33-M6x22 AADN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DDJNR 20 4D-H 1.250 1.250 6.000 1.930/1.500 DI\I:I)N.1.54[;16208 ATKH-01-R AKV-33-M6x22 AADN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5  AAL-03-3

DDJNL 12 4B-H 0.750 0.750 4.500 1.930 1.000 DI\[l)N-1.54046208 ATKH-02-L AKV-33-M6x22 AADN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DDJNL 16 4D-H 1.000 1.000 6.000 1.930/1.250 DI\[I)N'1.54(;‘6208 ATKH-02-L AKV-33-M6x22 AADN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DDJNL 20 4D-H 1.250 1.250 6.000 1.930 1.500 D,\?N{;éﬁz% ATKH-02-L AKV-33-M6x22 AADN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

KAPR=45°

)
|

LILIFV
A i st

lllustrations shown may vary from actual product.

Dimensions in Inch ': éﬂ @ & @ )

Insert Wedge
Inch/Metric ~ Clamp

e )
|

i LF \ -

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw  Ring Stamp  Allen Key

SN.. 432 AAV-02-

DSDNN124B  0.750 0.750 4.500 1.440 0.375 SN.. 120408 ATK-02 | AKV-30-M6x22 | AASN-3-0004 M5x12 AS-01 | ABPL-01 ' AAL-03-3
SN.. 432 AAV-02-

DSDNN 164D  1.000 1.000 6.000 1.440 0.500 SN.. 120408 ATK-02  AKV-30-M6x22 = AASN-3-0004 M5x12 AS-01  ABPL-01 = AAL-03-3
SN.. 432 AAV-02-

DSDNN204D  1.250 1.250 6.000 1.440 0.625 SN.. 120408 ATK-02 | AKV-30-M6x22 = AASN-3-0004 M5x12 AS-01 | ABPL-01 ' AAL-03-3

28/29




> D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=45°

lllustrations shown may vary from actual product.

Dimensions in Inch -': ﬁ g ﬁ @ )

Ordering Code HF=H B LF LH WF Inclhn/slﬁtr;tlric ‘(’;’I;‘:‘ﬁ’: ClampScrew  Shim  ShimScrew  Ring  Spring Allen Key
DSDNN 16 4D-H 1000 1.000 6.000 1.850 0.500 (o' *92 ' ATKH-O1-R AKV-33-M6x22 | AASN-3-0004 AAV-02-M5K12 AXR-OT AKY-1 AALO3-3
DSONN204D-H 1250 1250 6.000 1.850 0625 (o' 92  ATKH-OTR AKV-33-MGX22 AASN-3-0004 AAV-02-MSX12 AXR-OT AKY-01 AAL03-3
DSONN1650-H  1.000 1000 6.000 2000 0500 (O35 ATKH-O7-R AKV-30-M7X21 | AASN-3-0023 AAV-05-MEXIO| AXR-OT AKY-01 AAL05-4
DSONN2050-H 1250 1250 6.000 2000 0625 (O'- 23 ATKHOT-R AKV-30-MTXR1 AASN-3-0023 AAV-O5-MExIO AXR-OT AKY-01 AAL05-4
DSONN245EH | 1500 1500 7.000 2150 0750 o003 ATKH-O7-R AKV-30-MTX21 | AASN-3-0023 AAV-05-MEXIO| AXR-OT AKY-02 | AAL05-4

KAPR=75°

<>
o
(7]
e
=
=

HF

£ @
S
i\
5
®
.5
&

lllustrations shown may vary from actual product.

Dimensions in Inch ; ﬁ @ @ @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric Clamp Clamp Screw Shim Shim Screw Ring  Stamp Allen Key
DSKNR164C  1.000 1.000 5.000 1300 1.250 sl\?Ni'51034203 ATK-02 | AKV-30-M6x22 | AASN-3-0004  AAV-02-M5x12  AS-01 | ABPL-01 | AAL-03-3
SN.. 432

DSKNL 16 4C 1.000 1.000 5.000 1.300  1.250 ATK-02 = AKV-30-M6x22 = AASN-3-0004 = AAV-02-M5x12 = AS-01 ' ABPL-01 AAL-03-3

SN.. 120408

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=75° .
= e
< e
,w & : @ -
L g
(KA;%
LF

lllustrations shown may vary from actual product.

Dimensions in Inch : ﬁ g @ @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric Clamp

Clamp Screw Shim Shim Screw Ring Stamp  Allen Key

DSRNL 164D  1.000 1.000 6.000  1.300 1.130 SI\ISN.1.24034208 ATK-02 | AKV-30-M6x22 | AASN-3-0004 | AAV-02-M5x12 = AS-01 | ABPL-01 | AAL-03-3
DSRNL 20 4D 1.250 1.250 6.000 1.300 1.380 SNSN.1.24034208 ATK-02  AKV-30-M6x22 | AASN-3-0004 | AAV-02-M5x12  AS-01 = ABPL-01 | AAL-03-3

HF

KAPR=45° ]
P — N
g ‘ ‘ II
bl ]
e i o
@ ]
T )

< K}PR LF

WF

lllustrations shown may vary from actual product.

Dimensions in Inch ; ﬁg &3 @ )

Insert Wedge
Inch/Metric ~ Clamp

SN.. 432
DSSNR164D | 1.000 1.000 6.000 1.300 0.912 | SN..120408 = ATK-02 @ AKV-30-M6x22 AASN-3-0004 @ AAV-02-M5x12  AS-01 | ABPL-01 ' AAL-03-3

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw Ring Stamp  Allen Key

30/31




> D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=45°

“;LL : =

lllustrations shown may vary from actual product.

Dimensions in Inch '.- @ @ @ @ )

Insert Wedge
Inch/Metric ~ Clamp

SN.. 432
SN.. 120408

SN.. 432
SN.. 120408
DSSNR 16 5D-H | 1.000 |1.000|6.000 2.000 1.250 SI\?N.1.55046312 ATKH-08-L AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4

SN.. 543
SN.. 150612

SN.. 543

DSSNR 24 5E-H ' 1.500 |1.500 7.000 2.000 2.000 SN 150612 ATKH-08-L AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4

DSSNL 164D-H ' 1.000 ' 1.000 6.000 1.810 1.250 SI\ISN.1.24034208 ATKH-01-R | AKV-33-M6x22 AASN-3-0004 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
SN.. 432
SN.. 120408
DSSNL 16 5D-H ' 1.000 ' 1.000 6.000 2.000 1.250 SI\ISN.1.55046312 ATKH-07-R | AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
SN.. 543
SN.. 150612

SN.. 543
SN.. 150612

The left wedge clamp should be used on right-hand tools. and the right wedge clamp should be used on left-hand tools.

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

DSSNR 16 4D-H | 1.000 |1.000/6.000 1.810 1.250 ATKH-02-L AKV-33-M6x22 AASN-3-0004 ' AAV-13-M5X8 AKY-01/AXR-01/2705-G1/8x5.5 AAL-03-3

DSSNR204D-H | 1.250 | 1.250 6.000 1.810 1.500 ATKH-02-L AKV-33-M6x22 AASN-3-0004 AAV-13-M5X8 AKY-01 AXR-01/2705-G1/8x5.5 AAL-03-3

DSSNR205D-H 1.250 1.250 6.000 2.000 1.500 ATKH-08-L AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01/2705-G1/8x5.5 AAL-05-4

DSSNL 20 4D-H | 1.250 |1.250/6.000 1.810 1.500 ATKH-01-R AKV-33-M6x22 AASN-3-0004 AAV-13-M5X8 | AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DSSNL205D-H ' 1.250 |1.250 6.000/2.000 1.500

ATKH-07-R AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4

DSSNL 24 5E-H | 1.500 ' 1.500 7.000 2.000 2.000 ATKH-07-R AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=75°

lllustrations shown may vary from actual product.

Dimensions in Inch

WF

LF

B & ¢ G

& $0 G

/

Ordering Code HF=H B LF LH WF Inclh“/sIVIe:lric ‘(':VIZ(:I?: Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key
DSBNR 16 4D-H | 1.000 1.000 6.000/1.730/0.790 SI\?[.\L1.24034208 ATKH-01-R | AKV-33-M6x22 AASN-3-0004 AAV-02-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DSBNR 20 4D-H ' 1.250 1.250 6.000 1.770 0.990 SI\?I.\‘.1.24034208 ATKH-01-R ' AKV-33-M6x22 AASN-3-0004 AAV-02-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DSBNR 16 5D-H 1.000 1.000 6.000 1.960 0.790 Sl\?.,.\‘-1I55(;16312 ATKH-07-R | AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
DSBNR 20 5D-H | 1.250 1.250 6.000 1.960 0.990 Sl\?. ’.\|.1.5504631 9 ATKH-07-R  AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
DSBNL 16 4D-H  1.000 1.000 6.000 1.730 0.790 Sl\?.,.\‘{24034208 ATKH-02-L  AKV-33-M6x22 | AASN-3-0004 | AAV-02-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DSBNL 20 4D-H 1.250 1.250 6.000 1.770 0.990 Sl\?.'.\l.1.240%1208 ATKH-02-L ' AKV-33-M6x22 AASN-3-0004 AAV-02-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DSBNL 16 5D-H | 1.000 1.000 6.000/1.960/0.790 Sl\?,.\|.1.55046312 ATKH-08-L  AKV-39-M7x21|AASN-3-0023 | AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4
DSBNL 205D-H 1.250 1.250 6.000 1.960 0.990 Sl\?.l.\l.1.55046312 ATKH-08-L AKV-39-M7x21 AASN-3-0023 AAV-05-M6x10 AKY-01 AXR-01 2705-G1/8x5.5 AAL-05-4

KAPR=90°

L

i

. I
F,gfjw

lllustrations shown may vary from actual product.

Dimensions in Inch

HF

k|

WF

E

KAPR

LF

A B 4

& e L

. _ Insert Wedge . . -
Ordering Code HF=H B LF LH WF Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DTGNR123B | 0.750 | 0.750 4.500 1.250 1.000 TI\ITN.1.63034208 ATK-01 | AKV-01-M5x22 = AATN-2-0002 & AAV-03-Mb5x12 - ABPL-01 = AAL-03-3
DTGNR164D  1.000 1.000 6.000 1.250 1.250 TNTN524034208 ATK-02 ' AKV-30-M6x22 = AATN-3-0015  AAV-02-M5x12 = AS-01 | ABPL-01 = AAL-03-3
DTGNL 16 3D 1.000 | 1.000 6.000 1.250 1.250 TNTN.1.63034208 ATK-01 | AKV-01-M5x22 = AATN-2-0002 & AAV-03-Mb5x12 - ABPL-01 = AAL-03-3

32/33




) D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=93°

HF

WF
B
J

KAPR
- LF

Fe ¢ & O L

Insert Wedge
Inch/Metric  Clamp

TN.. 432
TN.. 220408

lllustrations shown may vary from actual product.

Dimensions in Inch

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw Ring Stamp Allen Key

DTINR 16 4D 1.000 ' 1.000 6.000 1.250 1.250 ATK-02 = AKV-30-M6x22 = AATN-3-0015 ' AAV-02-M5x12  AS-01  ABPL-01 AAL-03-3

KAPR=93° o

s (@

LF

lllustrations shown may vary from actual product.

Dimensions in Inch é\-\b @ & @ @ )

Insert Wedge
Inch/Metric  Clamp

TN.. 332
TN.. 160408
DTIJNR20 3D-H 1.250 1.250 6.000 1.810 1.500 TI\ITN.1.63034208 ATKH-03-R  AKV-37-M5x18 AATN-2-0002 AAV-03-M5x12 AKY-02 AXR-02 2705-G1/8x5.5 AAL-02-2.5

TN.. 432
TN.. 220408

TN.. 432
TN.. 220408

TN.. 332
TN.. 160408

TN.. 332
TN.. 160408
DTJNL 16 4D-H  1.000 1.000 6.000 1.810 1.250 TI\ITN524034208 ATKH-02-L  AKV-33-M6x22 AATN-3-0015 ' AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

TN.. 432
TN.. 220408

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

DTJNR 16 3D-H  1.000 1.000 6.000 1.810/1.250 ATKH-03-R | AKV-37-M5x18  AATN-2-0002 AAV-03-M5x12 AKY-02 AXR-02|2705-G1/8x5.5 AAL-02-2.5

DTJNR 16 4D-H 1.000 1.000 6.000 1.810 1.250 ATKH-01-R | AKV-33-M6x22 AATN-3-0015 | AAV-13-M5X8 ' AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DTINR 20 4D-H 1.250 1.250 6.000 1.810 1.500 ATKH-01-R  AKV-33-M6x22 AATN-3-0015 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
DTJINL 16 3D-H ' 1.000 1.000 6.000 1.810 1.250 ATKH-04-L  AKV-37-M5x18 AATN-2-0002 AAV-03-M5x12 AKY-02 AXR-02|2705-G1/8x5.5 AAL-02-2.5
DTJNL 20 3D-H 1.250 1.250 6.000 1.810 1.500 ATKH-04-L AKV-37-M5x18 AATN-2-0002 AAV-03-Mb5x12 AKY-02 AXR-02 2705-G1/8x5.5 AAL-02-2.5

DTJNL 20 4D-H 1.250 1.250 6.000 1.810/1.500 ATKH-02-L AKV-33-M6x22 AATN-3-0015 AAV-13-M5X8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93°

lllustrations shown may vary from actual product.

LF
Dimensions in Inch < ﬁ & =87 @ @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric ~ Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DVINR 12 3C 0.750 ' 0.750 5.000 1.750 | 1.000 Vl\\l/.,.\|.1.63034208 ATK-03 | AKV-30-M6x22 = AAVN-2-0002 | AAV-04-M5x12 = AS-01 | ABPL-01  AAL-03-3
DVJNR 16 3D 1.000 | 1.000 6.000 1.750  1.250 VI\\II.,.\L1.63034208 ATK-03 = AKV-30-M6x22 AAVN-2-0002 | AAV-04-M5x12  AS-01 | ABPL-01  AAL-03-3
DVJNR 85 3D 1.250  1.000 6.000 1.750 |1.250 Vl\\l/.,.\|.1.63034208 ATK-03 | AKV-30-M6x22 | AAVN-2-0002 | AAV-04-M5x12 = AS-01 | ABPL-01  AAL-03-3
DVJNL 12 3C 0.750 0.750 5.000 1.750 1.000 VI\\II.,.\L1.63034208 ATK-03  AKV-30-M6x22 = AAVN-2-0002 @ AAV-04-M5x12 = AS-01  ABPL-01 AAL-03-3
DVJNL 16 3D 1.000 1.000 6.000 1.750 |1.250 Vl\\l/.’.\l.1'63034208 ATK-03 | AKV-30-M6x22 | AAVN-2-0002 | AAV-04-M5x12 = AS-01 | ABPL-01  AAL-03-3
DVJNL 85 3D 1.250 | 1.000 6.000 1.750  1.250 VI\\II.,.\I.1.63034208 ATK-03  AKV-30-M6x22 = AAVN-2-0002 @ AAV-04-M5x12 = AS-01  ABPL-01 AAL-03-3

KAPR=03° gl o

é

DVINR

WF

& LF

llustrations shown may vary from actual product.

Dimensions in Inch - @ @ § @ )

Insert Wedge
Inch/Metric ~ Clamp

DVINR 123B-H | 0.750 0.750 4.500/2.200/1.000 VI\\I/N.1'630%1208 ATKH-05-R  AKV-33-M6x22 AAVN-2-0002| AAV-04-M5x12 AKY-01 AXR-01/2705-G1/8x5.5 AAL-03-3

DVJNR 16 3D-H 1.000 1.000 6.000 2.200 1.250 VI\\I/N.1-63034208 ATKH-05-R AKV-33-M6x22 AAVN-2-0002 AAV-04-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

DVJINR 20 3D-H | 1.250 1.250 6.000/2.200/1.250 VI\\I/N.1'63034208 ATKH-05-R  AKV-33-M6x22 AAVN-2-0002| AAV-04-M5x12 AKY-01 AXR-01/2705-G1/8x5.5 AAL-03-3

DVJNL 12 3B-H 0.750 0.750 4.500 2.200 1.000 VI\\I/N.1.63034208 ATKH-06-L | AKV-33-M6x22 AAVN-2-0002 AAV-04-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DVJNL 16 3D-H  1.000 1.000 6.000 2.200 1.250 Vl\\I/N.1.63034208 ATKH-06-L | AKV-33-M6x22 AAVN-2-0002 AAV-04-M5x12 | AKY-01 |AXR-01 2705-G1/8x5.5 | AAL-03-3

DVJINL203D-H 1.250 1.250 6.000 2.200 1.250 VI\\IIN.1.63034208 ATKH-06-L | AKV-33-M6x22 AAVN-2-0002 AAV-04-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

34/35




> D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=03° P

P LF

lllustrations shown may vary from actual product.

Dimensions in Metric - ﬁg & @ )

Insert Wedge

Ordering Code HF=H B LF  WF Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DVJNR 2020 K16 20 20 125 25 VKN1 234 ATK-03  AKV-30-M6x22 = AAVN-2-0002 | AAV-04-M5x12 = AS-01 | ABPL-01 | AAL-03-3
DVJNR 2525 M16 25 25 | 150 32 V\I<IN1234 ATK-03  AKV-30-M6x22 = AAVN-2-0002 = AAV-04-M5x12  AS-01  ABPL-01 = AAL-03-3
DVJNR 3232 P16 32 32 170 40 V\,\/IN1234 ATK-03  AKV-30-M6x22 = AAVN-2-0002 | AAV-04-M5x12 = AS-01 | ABPL-01 | AAL-03-3
DVJNL 2020 K16 20 20 | 125 | 25 V\I(IN1284 ATK-03  AKV-30-M6x22 = AAVN-2-0002 = AAV-04-M5x12  AS-01  ABPL-01 = AAL-03-3
DVJNL 2525 M16 25 25 | 150 @ 32 V\I(IN1284 ATK-03 | AKV-30-M6x22 = AAVN-2-0002 @ AAV-04-Mb5x12 | AS-01 | ABPL-01 @ AAL-03-3
DVJNL 3232 P16 32 32 170 40 V\,\/IN1284 ATK-03  AKV-30-M6x22 =~ AAVN-2-0002 = AAV-04-M5x12 = AS-01 | ABPL-01 = AAL-03-3

KAPR=117.5°

Xl
HF
H

LF

e

lllustrations shown may vary from actual product.

Dimensions in Inch - éﬁ @ \\§~\\\\& @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DVONR123C | 0.750 | 0.750 5.000 1.500 1.000 VI\\I/.'.\‘.1.63034208 ATK-03 | AKV-30-M6x22 | AAVN-2-0002 ' AAV-04-M5x12 = AS-01 | ABPL-01 | AAL-03-3
DVONR 163D  1.000 1.000 6.000 1.470 1.250 VI\\I/.'.\I.1-63034208 ATK-03  AKV-30-M6x22 AAVN-2-0002 AAV-04-M5x12 = AS-01  ABPL-01 AAL-03-3
DVONR853D | 1.250 | 1.000 6.000 1.470 1.250 VI\\II.'.\L1'63034208 ATK-03 | AKV-30-M6x22 | AAVN-2-0002 ' AAV-04-M5x12 = AS-01 | ABPL-01 | AAL-03-3
DVONL 12 3C 0.750 0.750  5.000 1.500 1.000 VI\\I/.'.\L1.63034208 ATK-03  AKV-30-M6x22 AAVN-2-0002 AAV-04-M5x12 = AS-01 = ABPL-01 AAL-03-3
DVONL 16 3D 1.000 1.000 6.000 1.470 1.250 VI\\I/.'.\I.1-63034208 ATK-03 | AKV-30-M6x22 | AAVN-2-0002 | AAV-04-M5x12 | AS-01 | ABPL-01 ' AAL-03-3
DVONL 853D  1.250 1.000 6.000 1.470 1.250 VI\\I/.'.\‘.1.63034208 ATK-03  AKV-30-M6x22 = AAVN-2-0002  AAV-04-M5x12  AS-01  ABPL-01 AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=72.5° DVVNN

I B
gl I \;}}D max

lllustrations shown may vary from actual product.

Dimensions in Inch ; @ @ g/ § @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric ~ Clamp

Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

DVVNN 16 3D-H 1.000 |1.000 6.000 2.360 0.500 VI\\I/N.1.63034208 ATKH-05-R | AKV-33-M6x22 AAVN-2-0002 AAV-04-M5x12 AKY-01|AXR-01 2705-G1/8x5.5 AAL-03-3
DVVNN 12 3B-H 0.750 0.750 4.5002.250 0.375 Vl\\I/N.1-63034208 ATKH-05-R ' AKV-33-M6x22 AAVN-2-0002 AAV-04-M5x12 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3
KAPR=95° i -

LY
HF
n

=
L 2
.o

llustrations shown may vary from actual product.

Dimensions in Inch &5 ﬁ @ & @ )

Insert Wedge

Ordering Code HF=H B LF LH WF Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DWLNR123B  0.750 ' 0.750 4.500 | 1.000 1.000 W\I<IV.’.\1663034208 ATK-01 | AKV-01-M5x22 = AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNR163C | 1.000 1.000 5.000  1.000 1.250 W\l<lv.'.\1663034208 ATK-01 = AKV-01-M5x22 = AAWN-SW317 = AAV-01-M3x10 - ABPL-01  AAL-03-3
DWLNR 163D | 1.000  1.000 6.000 | 1.000 1.250 W\I<IV.I.\1663034208 ATK-01 = AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 ' AAL-03-3
DWLNR164C  1.000 1.000 5.000 1.250 1.250 W\I(IV.I.\L(iS4034208 ATK-02 = AKV-30-M6x22 = AAWN-3-0001 = AAV-02-M5x12  AS-01  ABPL-01 ' AAL-03-3
DWLNR164D  1.000 1.000 6.000 1.250 |1.250 W\I<IV.I.\1684034208 ATK-02 | AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 = AS-01 | ABPL-01 ' AAL-03-3
DWLNR204D  1.250 1.250 6.000 1.250 1.500 W\l<lv.l.\1684034208 ATK-02 = AKV-30-M6x22 = AAWN-3-0001 AAV-02-M5x12 = AS-01  ABPL-01 ' AAL-03-3
DWLNL123B  0.750 0.750 4.500 1.000 |1.000 WVN\I.I.\I663034208 ATK-01 | AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 ' AAL-03-3
DWLNL163C | 1.000 1.000 5.000  1.000 1.250 W\I<lv.l.\|663034208 ATK-01 = AKV-01-M5x22 = AAWN-SW317 | AAV-01-M3x10 - ABPL-01 ' AAL-03-3
DWLNL163D  1.000 1.000 6.000  1.000 1.250 WVNY,.\I663034208 ATK-01 | AKV-01-M5x22 = AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNL164C  1.000 1.000 5.000 1.250 1.250 W\I<IV.,.\|684034208 ATK-02 = AKV-30-M6x22 = AAWN-3-0001 | AAV-02-M5x12 = AS-01  ABPL-01 AAL-03-3
DWLNL164D  1.000 1.000 6.000 1.250 1.250 WKI\/.’.\I684034208 ATK-02 | AKV-30-M6x22 = AAWN-3-0001 = AAV-02-M5x12 | AS-01  ABPL-01 | AAL-03-3
DWLNL204D  1.250 1.250 6.000 1.250  1.500 Wva.l.\LO.84034208 ATK-02 = AKV-30-M6x22 = AAWN-3-0001 | AAV-02-M5x12 = AS-01  ABPL-01 AAL-03-3

36/37




> D-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=95° S

lllustrations shown may vary from actual product.

Dimensions in Metric & ﬁ g @ @ )

Insert Wedge

%\
HF
o

Ordering Code HF=H B LF WF Inch/Metric ~ Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
DWLNR 1616 H06 16 16 | 100 | 20 WV'V\‘N0284 ATK-01 | AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNR 2020 K06 20 20 125 25 Wvl\\lIN0284 ATK-01  AKV-01-M5x22 = AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNR 2525 M06 25 25 150 @ 32 WV|V\1N0284 ATK-01 | AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNR 2020 K08 20 20 125 25 wv|\<|N0384 ATK-02  AKV-30-M6x22 = AAWN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 | AAL-03-3
DWLNR 2525 M08 25 25 150 @ 32 WV,\\IIN0384 ATK-02 = AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 |  AS-01 ABPL-01 | AAL-03-3
DWLNR 3232 P08 32 32 170 40 WVI\\IIN0384 ATK-02  AKV-30-M6x22 = AAWN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 | AAL-03-3
DWLNR 4040 S08 40 40 1250 50 WV,\\IIN0284 ATK-02 = AKV-30-M6x22 = AAWN-3-0001 | AAV-02-M5x12 = AS-01 ABPL-01 | AAL-03-3
DWLNR 5050 S08 50 50 250 60 WV,\\IIN0384 ATK-02  AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 | AAL-03-3
DWLNL 1616 H06 16 16 100 20 WV,\\IIN0284 ATK-01 | AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNL 2020 K06 20 20 (125 25 WVI\\I‘N0234 ATK-01  AKV-01-M5x22 = AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNL 2525 M06 25 25 150 32 WV,\\IIN0284 ATK-01 | AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 | AAL-03-3
DWLNL 2020 K08 20 20 125 25 WV,\\IIN0234 ATK-02 = AKV-30-M6x22 = AAWN-3-0001 | AAV-02-M5x12  AS-01 ABPL-01 | AAL-03-3
DWLNL 2525 M08 25 25 | 150 32 WV,\\IIN0334 ATK-02 ' AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 |  AS-01 ABPL-01 | AAL-03-3
DWLNL 3232 P08 32 32 170 40 Wvl\\llN(]gg4 ATK-02  AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 |  AS-01 ABPL-01 = AAL-03-3
DWLNL 4040 S08 40 40 | 250 50 Wvl\\/lNogg4 ATK-02 | AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 |  AS-01 ABPL-01 | AAL-03-3
DWLNL 5050 S08 50 50 250 60 WV|V\]N0384 ATK-02  AKV-30-M6x22 = AAWN-3-0001 | AAV-02-M5x12 | AS-01 ABPL-01 | AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

_
KAPR=95° 5
DWLNR
6 VI - s
SN ve j“
o (] =
| KAPR F

lllustrations shown may vary from actual product.

Dimensions in Inch &.’5 @ @ & @ @ )

Insert Wedge
Inch/Metric  Clamp

DWLNR123B-H | 0.750 0.750/4.500 1.380 1.000 W\II\IVN663034208 ATKH-03-R AKV-37-M5x18 AAWN-SW317 AAV-01-M3X10 AKY-03 AXR-02|2705-G1/8x5.5 AAL-02-2.5

DWLNR16 3D-H 1.000 1.000 6.000 1.650 1.250 W\|<IVN663034208 ATKH-03-R AKV-37-M5x18 AAWN-SW317 AAV-01-M3X10 AKY-03 AXR-02/2705-G1/8x5.5 AAL-02-2.5

DWLNR124B-H 0.750 0.750 4.500 1.690/1.000 Wl\<IVN.0'84034208 ATKH-01-R AKV-33-M6x22 AAWN-3-0001  AAV-13-M5x8 ' AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DWLNR164D-H 1.000 1.000 6.000 1.650 1.250 W\I<IVN684034208 ATKH-01-R AKV-33-M6x22 AAWN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DWLNR 20 4D-H 1.250 1.250 6.000 1.650/1.500 W\I<IVN684034208 ATKH-01-R| AKV-33-M6x22 AAWN-3-0001| AAV-13-M5x8 | AKY-01 |AXR-01 2705-G1/8x5.5 AAL-03-3

WN.. 332
WN.. 060408

DWLNL 16 3D-H 1.000 1.000 6.000 1.650/1.250 W\I<IVN663034208 ATKH-03-R| AKV-37-M5x18 AAWN-SW317 AAV-01-M3X10| AKY-03 |AXR-02/2705-G1/8x5.5 AAL-02-2.5

DWLNL 124B-H 0.750 0.750 4.500 1.690/1.000 W\I<IVN684034208 ATKH-02-L AKV-33-M6x22 AAWN-3-0001 AAV-13-M5x8 AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

DWLNL 16 4D-H 1.000 1.000/6.000 1.650 1.250 WWN684034208 ATKH-02-L AKV-33-M6x22 AAWN-3-0001 AAV-13-M5x8 | AKY-01 |AXR-01 2705-G1/8x5.5 AAL-03-3

DWLNL 204D-H 1.250 1.250 6.000 1.650/1.500 WnIN684034208 ATKH-02-L AKV-33-M6x22 AAWN-3-0001 AAV-13-M5x8 = AKY-01 AXR-01 2705-G1/8x5.5 AAL-03-3

Ordering Code HF=H B LF LH WF Clamp Screw Shim Shim Screw Spring Ring Threaded Pin Allen Key

DWLNL 123B-H 0.750 0.750 4.500 1.380 1.000 ATKH-03-R AKV-37-M5x18 AAWN-SW317 AAV-01-M3X10 AKY-03 AXR-02 2705-G1/8x5.5 AAL-02-2.5

38/39




) INTERNAL COOLANT SYSTEM

/@
i

1
// o
04

o

Note: 3 types of cooling hose sets are designed that can be used in all external turning lathes. Before using the tools, care should be taken to ensure that

the unused connections are closed with the screw in the set and that sealing is ensured. Cooling hose sets for lathe tools can be used in the pressure
range of ACHS ... 10 bar to max 150 bar.

. Length Code

Parts In The Set Set Code: ACHS-1-250 | Set Code: ACHS-2-250 | Set Code: ACHS-3-250

Set Code Product Description

% AMP-01 M10 Fastener 1X - -
% AMP-02 G 1/8” Double Fastener 2% 1X .
% AMP-03 G 1/8” Angle Connection - 1x %
AMP-04 M10” Angle Connection i 1

/ZJJ - gle Connectio - X X
‘ AMP-05 G1/4°-G1/8" Capillry Piece - X 1x

-
Q

AG-01 Copper Gasket 2X 3x 4x

@
@)  2705-G1/8-55 G1/8" Sealing Bot ix i ix

&l

AH-1-250 Hose X - .
9] AH-2-250 Hose - 1X -
AH-3-250 Hose : i 1

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




O AKKO

1.0 0.0 8 ¢
USA INC.

the spoken quality... | M 'S YS TE M

M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

40/41




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

OAKKO

* ok ko
USA INC.




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=75°

HF
H

=
LF
lllustrations shown may vary from actual product. =
Dimensions in Inch :I 0A ) E@'/ )

Ordering Code ~ WF=H B LF LW WF | _ c'h“/sM‘?;‘tri . ‘[";’IZ"’]?: CumP MllenKey  Shim  LockPin Allen Key

MCKNR 12 4B 0750 0750 4500 1200 1000 VB2 G20 | STC20 | AAL14B | IGSN33 | KL4G  AAL16-3/32
MCKNR 16 4C 1000 1.000 5000 1.200 1250 CA?..N{24034208 CK20 | STC-20 | AAL-14-1/8  ICSN-433  KL-46  AAL-16-3/32
MCKNR 16 4D 1000 1.000 6000 1200 1250 VKA CK20 | STC20 | AAL4YE | ICSN33 K46 AAL16-3/32
MCKNR 16 5D 1000 1000 6000 1260 1250 M3 kg T4 AMAT5B2 ICSN-GI3 | KLSS | AAL14-1/8
MCKNR 20 4D 1250 1250 6000 1200 1500 oCVotE 0 CK20 | STC20 | AAL4-YE | ICSN433 K46 AAL16-3/32
MCKNR 20 5D 1250 1250 6000 1260 1500 oSM® k9S4 AMLAT5B2  ICSN-S3 | KLSS | AAL14-1/B
MCKNR 20 6 1250 | 1250 6000 1470 1500 MO gt T4 AMLAT52 | ICSN-GI3 | KLGS  AAL19-9/64
MCKNR 24 5D 1500 1500 6000 1260 2000 (O3 Ck9  STC4  AAL17-532 ICSN-S33  KLSB | AAL14-1/8
MCKNR 24 6D 1500 | 1500 6000 1470 2000 MO gt T4 AMLAT5B2 | IGSN-GI3 | KLGS  AAL19-9/64
MCKNL 12 48 0750 0750 4500 1200 1000 oHE oK20 | STC20 | AAL4YE | ICSN433 K46 AAL16-3/32
MCKNL 16 4C 1000 1000 5000 1200 1250 B2 g | STC20 | AAL14YB | ICSN33  KL4G  AAL16-3/32
MCKNL 16 4 1000 1000 6000 1200 1250 (M2 geop  sTC20 | AAL14YB | ICSN33  KL4E  AAL16-3/32
MCKNL 16 5 1000 1000 6000 1260 1250 M3 ke T4 AMLAT52 | ICSNGI3 | KLGS | AAL14-1/8
MCKNL 20 4D 1250 1250 6000 1200 1500 M2 geoo  STC20 | MAL14YB | ICSN33  KL4E  AAL163/32
MCKNL 20 5D 1250 1250 | 6000 1260 1500 o2 Cke | STC4  AAL17-532  ICSN-533 | KLSB | AAL14-1/8
MCKNL 20 6D 1250 1250 6000 1470 1500 oSO8 gt T4 AMAT5B2 | ICSN-GI3 KLGS  AAL19-9/64
MCKNL 24 5D 1500 1500 | 6000 1260 2000 (Vo2 Cke | TG4 AAL17-532  ICSN-S33 | KLSB | AAL14-1/8
MCKNL 24 6D 1500 1500 6000 1470 2000 o2 okt TG4 AAL17-532 ICSN-633  KL6B  AAL19-9/64

42/43




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=95° :
_ meLnR )

HF

KAPR
LH
LF
llustrations shown may vary from actual product.
(=) N
- 3\\\ @ '
Dimensions in Inch —_— 04 Q\\\\\“ ) ';'/ %\\'\3‘
5 _ Insert Wedge Clamp . .
Ordering Code HF=H B LF LH WF Inch/Metric Clamp Screw Allen Key Shim Lock Pin Allen Key
MCLNRO83A 0500 0.500 4000 1.000 0.750 CI\?N693T23208 CK-6 STC-5 | AAL-16-3/32 - K33 | AAL-18-5/64
MCLNR103A 0625 0.625 4.000 1000 0875 .CMN-322 CK-6 STC-5 | AAL-16-3/32 - KI-33  AAL-18-5/64
CN.. 097308
MCLNR1238 0750 0.750 4500 1.000 1.000 Cl\(IJN693T23208 CK-6 STC-5 | AAL-16-3/32  ICSN-332 | KL-34L | AAL-18-5/64
MCLNR124A 0750 0750 4.000 1200 1.000 C|\?N'1'24034203 CK-20 STC-20 | AAL-14-1/8  ICSN-433  KL-46 | AAL-16-3/32
MCLNR124B 0750 0.750 4500 1200 1.000 CI\(I:N.1.24034208 CK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL-46 | AAL-16-3/32
MCLNR163C  1.000 1.000 5.000 1.000 1.250 cnx?N693T23208 CK-6 STC-5 | AAL-16-3/32  ICSN-332  KL-34L | AAL-18-5/64
MCLNR163D  1.000 1.000 6.000 1.000 1250 Cl\(l:N693:I?3208 CK-6 STC-5 | AAL-16-3/32  ICSN-332 | KL-34L | AAL-18-5/64
MCLNR164C  1.000 1.000 5000 1200 1.250 cﬁNi';osfoa CK-20 STC-20  AAL-14-1/8  ICSN-433 | KL-46  AAL-16-3/32
MCLNR164D  1.000 1.000 6.000 1200 1250 CI\(I:N.1.24034208 CK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL-46 | AAL-16-3/32
MCLNR165C  1.000 1.000 5000 1370 1.250 CI\?Ni'55046312 CK-12 STC-4  AAL-17-5/32  ICSN-533  KL-58  AAL-14-1/8
MCLNR165D  1.000 1.000 6000 1370 1.250 C|\?N'1'65046312 CK-12 STC-4 | AAL-17-5/32 | ICSN-533 | KL58 | AAL-14-1/8
MCLNR166C  1.000 1.000 5.000 1500 1.250 CI\(I)N.1-96046312 CK-12 STC-4 | AAL17-5/32  ICSN-633  KL-68  AAL-19-9/64
MCLNR166D  1.000 1.000 6000 1500 1.250 CI\?N.1.96046312 CK-12 STC-4 | AAL-17-5/32  ICSN-633 = KL-68 | AAL-19-9/64
MCLNR204D 1250 1250 6.000 1.200 1500 C|\?N'1'24034203 CK-20 STC-20 | AAL-14-1/8  ICSN-433  KL-46 | AAL-16-3/32
MCLNR205D 1250 1.250 6.000 1370 1.500 0|\(1:N'1'55046312 CK-12 STC-4 | AAL-17-5/32 | ICSN-533 = KL-58  AAL-14-1/8
MCLNR206D 1250 1.250 6.000 1500 1.500 C|\(|:N'1'96045312 CK-12 STC-4 | AAL-17-5/32  ICSN-633 = KL-68  AAL-19-9/64
MCLNR244D 1500 1500 6.000 1.200 2.000 c,\?N{;osfog CK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL-46 | AAL-16-3/32
MCLNR245D 1500 1.500 6000 1370 2.000 CI\(I:N'1.65046312 CK-12 STC-4  AAL-17-5/32  ICSN-533  KL-58  AAL-14-1/8
MCLNR245E 1500 1500 7.000 1.370 2.000 C,\?N{65046312 CK-12 STC-4 | AAL-17-5/32 | ICSN-533 = KL-58  AAL-14-1/8
MCLNR246D 1500 1.500 6.000 1500 2.000 Cl\(l:N'1'96046312 CK-12 STC-4 | AAL-17-5/32  ICSN-633  KL-68  AAL-19-0/64
MCLNR246E 1500 1.500 7.000 1500 2.000 c|\?N'1'96045312 CK-12 STC-4 | AAL-17-5/32  ICSN-633 = KL-68 | AAL-19-9/64
MCLNR248E 1500 1500 7.000 1500 2.000 C,SN558069624 CK-24 STC-19 | AAL-15-3/16 = ICSN-846  KL-810 | AAL-17-5/32
MCLNR326F  2.000 2000 8000 1500 2.500 CI\?N.1.96046312 CK-12 STC-4 | AAL-17-5/32  ICSN-633 = KL-68 | AAL-19-9/64
O AKKO
eSS AN S E——

USA INC.



M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=95° 1
_ MeLNR__J

HF

KAPR
LH
LF

lllustrations shown may vary from actual product. \\ \\

x % 5

Dimensions in Inch —_— ﬁ @\\\\\‘ ) !/ Q\\'\)\‘

. _ Insert Wedge Clamp . .
Ordering Code HF=H B LF LH WF Inch/Metric Clamp Screw Allen Key Shim Lock Pin Allen Key
MCLNR854D | 1250 1.000 6.000 1200 1250 S'io32.  cK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL-46 | AAL-16-3/32
MCLNR8S6D 1250 1.000 6.000 1500 1250 okliootS, — CK-12 STC-4 | AAL-17-5/32  ICSN-633 = KL-68  AAL-19-9/64
MCLNR866E  1.500 1.000 7.000 1.500 1.250 cn&.’.\‘{gﬁollgm CK-12 STC-4 | AAL17-5/32  ICSN-633 = KL68  AAL-19-9/64
MCLNLOB3A 0500 0500 4.000 1.000 0750 o< ':322.  cKkee STC5  AAL-16-3/32 - KL33  AAL-18-5/64
MCLNL103A 0625 0625 4.000 1000 0875 o\ 's322. K6 STC-5 | AAL-16-3/32 - KL-33 | AAL-18-5/64
MCLNL123B 0750 0750 4500 1.000 1.000 o<':322.  cKke STC-5 | AAL-16-3/32  ICSN-332 = KL-34L  AAL-18-5/64
MCLNL124A 0750 0750 4.000 1200 1.000 o iptong — CK-20 STC-20  AAL-14-1/8 | ICSN-433 | KL46  AAL-16-3/32
MCLNL124B 0750 0750 4500 1200 1.000 X 'is2o  CK-20 STC-20  AAL-14-1/8  ICSN-433 = KL-46  AAL-16-3/32
MCLNL164C 1000 1000 5000 1200 1250 o 'iptome — CK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL-46 | AAL-16-3/32

MCLNL164D 1000 1.000 6.000 1200 1250 oX'is2.  CK-20 STC-20  AAL-14-1/8  ICSN-433 = KL-46  AAL-16-3/32

MCLNL165C | 1.000 1.000 5.000 1370 1250 oS';>i3,  ck-12 STC-4 | AAL-17-5/32  ICSN-533 | KL-58 | AAL-14-1/8
MCLNL165D 1000 1000 6000 1370 1250 ok 'iotd, — Ck-12 STC-4 | AAL-17-5/32  ICSN-533  KL-58  AAL-14-1/8
MCLNL166C 1000 1000 5000 1500 1250 ox'iot3, — ck-12 STC-4 | AAL-17-5/32  ICSN-633 = KL-68 | AAL-19-9/64
MCLNL166D 1000 1000 6.000 1500 1250 ok'igntd, — CK-12 STC-4  AAL-17-5/32  ICSN-633  KL-68  AAL-19-9/64

MCLNL204D 1250 1.250 6.000 1.200 1500 ,CN- 432 CK-20 STC-20  AAL-14-1/8 | ICSN-433 | KL-46  AAL-16-3/32

CN.. 120408
MCLNL244D 1500 1500 6.000 1200 2.000 oNio¥2.  ck-20 STC-20  AAL-14-1/8  ICSN-433  KL-46  AAL-16-3/32
MCLNL245D 1500 1500 6.000 1370 2000 ok 'iold, — Ck-12 STC-4 | AAL17-5/32 | ICSN-533 | KL-58 | AAL-14-1/8
MCLNL24SE 1500 1500 7.000 1370 2000 ok i, — Ck-12 STC-4 | AAL-17-5/32  ICSN-533  KL-58  AAL-14-1/8
MCLNL246D 1500 1500 6.000 1500 2000 ok o8, — Ck-12 STC-4 | AAL-17-5/32  ICSN-633 = KL-68 | AAL-19-9/64
MCLNL246E 1500 1500 7.000 1500 2000 ok, ck-12 STC-4 | AAL-17-5/32  ICSN-633  KL-68  AAL-19-9/64

MCLNL248E 1500 1.500 7.000 1500 2.000 ,CN:; 866 CK-24 STC-19 | AAL-15-3/16 = ICSN-846 = KL-810 | AAL-17-5/32

CN.. 250924
MCLNL326F 2000 2000 8000 1500 2500 (k'3 ck-12 STC-4  AAL-17-5/32  ICSN-633  KL-68  AAL-19-9/64
MCLNL854D | 1.250 1.000 6.000 1200 1250 S'io32.  cK-20 STC-20 | AAL-14-1/8  ICSN-433 | KL-46 | AAL-16-3/32
MCLNLB66E 1500 1.000 7.000 1500 1250 ok 'igotd, — CK-12 STC-4  AAL-17-5/32  ICSN-633  KL-68  AAL-19-9/64

44 /45




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=75°

HF
H
=
=)
=
=
=

K%
o> L3

KAPR
L LH

LF

lllustrations shown may vary from actual product.

- o S D
Dimensions in Inch -_— :@\\\\‘\\\) ) )

Ordering Code ~ WF=H B LF LW WF | _ c'm:m . ‘[':’IZ‘:?: CumP MlenKey  Shim  LockPin  Allen Key

MCRNR 1248 0750 0750 4500 1260 0751 Ctor | Ck9 | STC4 | AALAT5E2 | ICSN433 K46 | AAL16-3/32
MCRNR164C  1.000 1.000 5000 1260 1.251 CI\(I).I.\L1.24034208 CK-9 STC-4  AAL-17-5/32  ICSN-433  KL-46  AAL-16-3/32
MCRNR164D 1000 1000 6000 1260 1251 ,C'tof | Ck9 | STC4 | AALAT5B2 | ICSN433  KL46 | AAL16-3/32
MCRNR165D  1.000 1.000 6.000 1340 1.251 CI\?_'_\‘;6504631 , K9 STC-4 | AAL17-5/32 ICSN-533  KL58  AAL-14-1/8
MCRNR 166D 1000 1000 6000 1500 1251 D Ck12 | STC4 | AALAT5/2 | ICSN633  KL6B | AAL19-9/64
MCRNR204D 1250 1250 6000 1260 1500 (CiNlo CK9 | STCA | AALIZ532 ICSN433 KL | AAL16-332
MCRNR205D 1250 1250 6000 1340 1501 o8 CKO | STC4 | AALIZ532  ICSN533 | KLSB | AAL14-18
MCRNR206D 1250 1250 6000 1500 1501 oGO Ck12 | STC4  AALAT5/32 | ICSN633  KL6B  AAL19-9/64
MCRNR246D 1500 1500 6000 1500 2001 ;o8 Ck12 | STC4 | AALIZ-532  ICSN-633  KL6B | AAL19-/64
MCRNR246E 1500 1500 7.000 1500 2001 O Ck12 | STC4  AALAT5/2 | ICSN633  KL68  AAL19-9/64
MCRNL1248 0750 0750 4500 1260 0751 Cotor | Ck9 | STC4 | AALAT52 | ICSN433  KL46 | AAL16-3/32
MCRNL164C  1.000 1.000 5000 1260 1.251 CI\(I).I.\L1.24034208 CK-9 STC-4  AAL-17-5/32  ICSN-433  KL-46  AAL-16-3/32
MCRNL164D 1000 1000 6000 1260 1251 o 't | CK9 | STC4 | AALAT52 | ICSN433  KL46 | AAL16-3/32
MCRNL165D0  1.000 1.000 6.000 1340 1.251 CI\?_'_\‘;6504631 , K9 STC-4 | AAL17-5/32 ICSN-533  KL58  AAL-14-1/8
MCRNL1660 1000 1000 6000 1500 1251 2% 1 Ck12 | STC4 | AALAT5/32 | ICSN633 | KL6B | AAL19-9/64
MCRNL204D 1250 1250 6000 1260 1500 (C'iRe. CK9 | STCA  AALIZ5B2 ICSN433 KL | AAL16-332
MCRNL20SD 1250 1250 6000 1340 1501 o0 CKO | STC4 | AALIZ532  ICSNS33  KLSB | AAL14-18
MCRNL206D 1250 1250 6000 1500 1501 O Ck12 | STC4  AALAT5/2 | ICSN633  KL6B  AAL19-9/64
MCRNL246D 1500 1500 6000 1500 2001 ;o8 | Ck12 | STC4 | AAL17-532  ICSN-633  KL6B | AAL19-/64
MCRNL246E 1500 1500 7.000 1500 2001 28  Ck12 | STC4  AALAT5/2 | ICSN633  KL68  AAL19-9/64

OAKKO

* ko k
USA INC.

www.akkousa.us




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93°

LF

lllustrations shown may vary from actual product.

- M )
Dimensions in Inch ‘-i:f’ ﬁ ®® ) - @\'\)\\‘\m )

Ordering Code  WF=H B LF LW  WF | _ c'h"/slﬁgm . ‘é"lg‘:g: SIamP AlenKey  Shim  LockPin  Allen Key

MDINR123B 0750 0750 4500 1260 1000 oo ooee CK-7 STC-5 | AAL-16-3/32 | IDSN-322  KL-34L = AAL-18-5/64
MDINR163C 1000 1000 5000 1260 1250 ;3% CK-7 STC-5 | AAL-16-3/32  IDSN-322  KL-34L = AAL-18-5/64
MDINR163D  1.000 1.000 6.000 1260 1250 = po0ioor CK-7 STC-5 | AAL-16-3/32 | IDSN-322  KL-34L = AAL-18-5/64
MDINR203D 1250 1250 6.000 1260 1500  oiioe. CK-7 STC-5 | AAL-16-3/32 IDSN-322  KL-34L = AAL-18-5/64
MDINR124A 0750 0750 4000 1380 1000  o0'ieeee | CK23 | STC-20 | AAL14-1/8 | IDSN-443  KL-46L | AAL-16-3/32
MDINR124B 0750 0750 4500 1380 1.000 0o Ck23 | STC-20 | AAL14-1/8  IDSN-443  KL46L | AAL-16-3/32
MDINR164C  1.000 1.000 5000 1260 1250  0'ie. | CK20 | STC-20 | AAL14-1/8 | IDSN-443 | KL-46L | AAL16-3/32
MDINR164D 1000 1000 6000 1260 1250 ;5 CK20 | STC-20  AAL14-1/8  IDSN-443  KL-46L = AAL-16-3/32
MDINR854D  1.250 1.000 6.000 1260 1250  0'iee. | CK20 | STC-20 | AAL14-1/8 | IDSN-443 | KL-46L | AAL-16-3/32
MDINR204D 1250 1250 6.000 1260 1500 o'ieoe . CK20 | STC-20 | AAL14-1/8 | IDSN-443  KL-46L | AAL-16-3/32
MDINR165D  1.000 1.000 6.000 1470 1250 0> CK-12 STC-4 | AAL-17-5/32  IDSN-533  KL-58  AAL-14-1/8
MDINR205D 1250 1250 6.000 1470 1500 it Cki2 | STC-4 | AAL17-532 IDSN-533  KL58 | AAL14-1/8
MDINR245D 1500 1.500 6.000 1470 2000  poien, | CK12 STC-4 | AAL-17-532 | IDSN-533  KL-58  AAL-14-1/8
MDINR245E 1500 1500 7.000 1470 2000 it Cki2 | STC-4 | AAL17-532 IDSN-533  KL58 | AAL14-1/8
MDINL123B 0750 0750 4500 1260 1000 oo ooe. CK-7 STC-5 | AAL-16-3/32 | IDSN-322  KL-34L = AAL-18-5/64
MDINL163C 1000 1000 5000 1260 1250 ;3% CK-7 STC-5 | AAL-16-3/32 IDSN-322  KL-34L = AAL-18-5/64
MDINL163D  1.000 1.000 6.000 1260 1250 & ,o0i3or CK-7 STC-5 | AAL-16-3/32 | IDSN-322  KL-34L = AAL-18-5/64
MDINL203D 1250 1250 6.000 1260 1500  oiee. CK-7 STC-5 | AAL-16-3/32 IDSN-322  KL-34L = AAL-18-5/64
MDINL124A 0750 0750 4000 1380 1000  ,0'ieoee | CK23 | STC-20 | AAL14-1/8 | IDSN-443  KL46L | AAL-16-3/32
MDINL124B 0750 0750 4500 1380 1.000 i Ck23 | STC-20 | AAL14-1/8  IDSN-443  KL46L | AAL-16-3/32
MDINL164C  1.000 1.000 5000 1260 1250  0'ieoe. | CK20 | STC-20 | AAL-14-1/8 | IDSN-443 | KL-46L | AAL-16-3/32
MDINL164D 1000 1000 6000 1260 1250 ;% Ck20 | STC-20  AAL14-1/8  IDSN-443  KL46L = AAL-16-3/32
MDINL204D  1.250 1.250 6.000 1260 1500 oo ieene CK-20 | STC-20 | AAL-14-1/8 | IDSN-443 = KL-46L | AAL-16-3/32
MDINL205D 1250 1250 6.000 1470 1500 >4 cki2 | STC-4  AAL17-532 IDSN-533  KL58 | AAL14-1/8
MDINL245D  1.500 1.500 6.000 1470 2000 oo, CK-12 STC-4 | AAL-17-5/32  IDSN-533 | KL-58  AAL-14-1/8
MDINL245E 1500 1500 7.000 1470 2000 >4 Cki2 | STC-4 | AAL17-532 IDSN-533  KL58 | AAL14-1/8

46/47




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=62.5°
MDPNN
d = e
)
KF&W
o
™ M
LF
llustrations shown may vary from actual product.
(=) A
- }\\\\ \\\\
Dimensions in Inch < @\\\\‘ @ @\\’\3\‘
. _ Insert Wedge Clamp . .
Ordering Code HF=H B LF LH WF Inch/Metric Clamp Screw Allen Key Shim Lock Pin Allen Key
MDPNN 12 38 0750 | 0750 4500 1500 0.375 DI\IIJN.1.13034208 CK-7 STC-5 | AAL-16-3/32  IDSN-322  KL-34L | AAL-18-5/64
MDPNN 16 30 1000 1.000 6000 1500 0.500 DI\?N.1.13034208 CK-7 STC-5  AAL-16-3/32 | IDSN-322  KL-34L  AAL-18-5/64
MDPNN 16 4D 1000 1.000 6000 1630 0.500 DI\?N.1.54034208 CKA2 | STC-4 | AAL-17-5/32 | IDSN-443  KL-46L = AAL-16-3/32
MDPNN 20 5D 1250 1250 6.000 1920 0.625 DI\?N.1‘95046312 CK12  STC-4 | AAL-17-5/32  IDSN-533  KL58 | AAL-14-1/8
MDPNN 24 5D 1500 1.500  6.000 1920 0.750 m?Ni'95045312 CK12 | STC-4 | AAL-17-5/32 | IDSN-533  KL-58 | AAL-14-1/8

OAKKO

* ko k
USA INC.

www.akkousa.us




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=45°
T T MSDNN
@
& b+ K
= e 4
W
LF

lllustrations shown may vary from actual product.

E S <D
Dimensions in Inch & @ @)\\\‘\\\\ ) ‘@‘ @‘\W\ )

Insert Wedge Clamp

Ordering Code HF=H B LF LH WF Allen Key Shim Lock Pin Allen Key

Inch/Metric ~ Clamp Screw
MSDNN 08 38 0500 0500 4500 1140 0250 (OV-32 0 ckG  STCS | AAL16-332 | ISSN-322  KL34 | AAL1B/64
MSDNN 10 38 0625 0.625 4500 1140 0312 sﬂbgsozszoa Ck6 | STC5 | AAL-16-3/32 | ISSN-322  KL-34  AAL-18-5/64
MSDNN1238 0750 0750 4500 1140 0375 (05322 1 Cke | STC5 | AAL163/32  ISSN-322 | KL34 | AAL18-5/64
MSONN1248 0750 0750 4500 1300 0375 (oS0 CKO | STC4 | AAT5B2 | ISSN433  KL4G | AAL16-3/32
MSDNN164D 1000 1000 6000 1390 0500 (o'i 92 K9 | STC4 | AALIZ-5/32  ISSN-433 | KL46 | AAL16-3/32
MSONNS54D 1250 1000 600D 1390 0500 oo'ise. CKO ST | AMAT5B2  ISSN433 K46 AAL16-3/32
MSDNN8SSD 1250 1000 6000 1620 0500 o'i0. | CKA2 | STC4 | AALI7-5/32  ISSN-533 | KLGB | AAL14-1/B
MSDNNBSGD 1250 1000 6000 1620 0500 oo'iOt3 CKA2 | STC4 | AALIZ-5/32  ISSN-633 KL6S  AAL19-9/64
MSDNN 20 6E 1250 | 1250 7000 1680 0625 oo'ite | CK12 | STC4 | AALAT5B2 | ISSN-GI3 | KLGS | AAL19-9/64
MSDNN 24 6E 1500 1500 7.000 1680 0750 (O35 k12 STC4 | AAL17532  ISSN-GI3 K68 | AAL19-9/64

48/49




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

LH
KAPR=75°

MSKNR

HF
H

LF

lllustrations shown may vary from actual product.

o~ = A )
Dimensions in Inch ﬁ @ @\)\\\s\\\ ) ‘®‘ @‘\‘N )

Ordering Code ~ HF=H B LF  LH  WF Inc'lf/ﬁ;‘mc ‘(':VIZ‘I"?: CamP mlenKey  Shim  LockPin Allen Key
MSKNR 12 4B 0750 0750 4500 1260 1000 (O HE gk STC-4 | AAL-17-5/32 | ISSN-433  KL-46 | AAL-16-3/32
MSKNR 16 4C 1000 1000 5000 1260 1250 (o2 ckg T4 AMAT5E2  ISSN433 | K46 | AAL16-3/32
MSKNR 16 4D 1000 1.000 6000 1260 1250 (OHE 1 Ck9 | STC4 | AAL17532  ISSN433 KL | AAL16-3/32
MSKNR 20 5D 1250 1250 6000 1340 1500 o' gtz STC4 | AALAT5B2  ISSN-S33 | LGS AAL14-1/B
MSKNR 20 6 1250 1250 6000 1500 1500 (OO 1 okt | STC4 | AAL17-532 | ISSN-GI3 K68 | AAL19-9/64
MSKNR248D 1500 1500 8000 1620 2000 (o580 1 cka  STCA9  AML5316  ISSN-846 | KLB10  AAL17-5/32
MSKNL 20 5 1250 1250 6000 1340 1500 (OO 1 ck12 | STC4 | AAL17-532  ISSN-533 | KLSB | AAL14-1/8
MSKNL 20 6D 1250 1250 6000 1500 1500 (O30 1 okf2 | STC4 | AAL17532  ISSN-GI3  KL6B | AAL19-9/64
MSKNL 24 6D 1500 | 1500 6000 1500 2000 oo'iS4 | gkt2 | STC4 | AALAT5B2 | ISSN-GI3 | KLGS | AAL19-9/64

OAKKO

* ko k
USA INC.

www.akkousa.us




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=75°

MSRNR

HF _
H

WF

LF

lllustrations shown may vary from actual product.

(=) A
Dimensions in Inch a ,ﬂ :@\\\\\‘\\\\ ) ‘®‘ @‘\‘\\ )

Insert Wedge Clamp

Ordering Code HF=H B LF LH WF Allen Key Shim Lock Pin Allen Key

Inch/Metric  Clamp Screw
MSRNR 12 48 0750 | 0750 | 4500 1260 0880 ol | CKO | STC4 | AAL17532  ISSN433  KL46 | AAL16-3/32
MSRNR 16 4C 1000 1000 5000 1260 1130 (VB2 gko | STC4  AMAT5E2  ISSN433 | K4S | AALT6-3/32
MSRNR 16 4D 1000 1.000 6000 1260 1130 GOt CKO | STC4 | AALI7532  ISSN433 K46 | AAL16-3/32
MSRNR 16 5¢ 1000 1.000 5000 1470 1103 SI\IS.'.\L1.55046312 Ok12 | STC-4  AAL17-532  ISSN-533  KL58  AAL-14-1/8
MSRNR 20 5D 1250 1250 6000 1470 1353 O | CK12 | STC4 | AAL17-532 | ISSN-33 K58 | AAL141/8
MSRNR 85 6D 1250 1000 6000 1500 107t (S ck12 | STC4  AMAT5B2 ISSN-GI3 | KL6B | AAL19-9/64
MSRNR206D 1250 1250 6000 1500 1321 (O3 ck12 | sTC4 MM ISSN-GI3 | KLEB | AAL19-9/64
MSRNR 24 6D 1500 1500 6000 1500 1821 (OO | k12 | STC4 | AAL17532 ISSN-GI3 K68 | AAL19-9/64
MSRNR 24 6E 1500 | 1500 7.000  1.500  1.821 SNS.N{9604631 o CK12 | STCA | AAA7532 | ISSN-633  KL6B | AAL-19-9/64
MSRNR 24 8F 1500 1500 8000 1620 1770 (OV-89 ko4 | STC19  AAL15316  ISSN-B46  KLBIO | AALAT5/32
MSRNL 12 4B 0750 | 0750 | 4500 1260 0880 olioe | CKO | STC4 | AALI7532  ISSN433  KL46 | AAL16-3/32
MSRNL 16 4C 1000 1000 5000 1260 1130 (B2 gk STC4  AMAT5B2 | ISSN433 | KL4G | AAL16-3/32
MSRNL 16 4D 1000 1000 6000 1260 1130 (OVtE | cko | STC4 | AAL17-532  ISSN433  KL46 | AAL16-3/32
MSRNL 85 4D 1250 1000 6000 1260 1130 (B2 gk STC4 | AMLAT5B2 | ISSN433 | KL4G | AAL16-3/32
MSRNL 20 4D 1250 1250 6000 1260 1380 (O F | CK9 | STC4 | AAL17-5/32  ISSN-433 | K46 | AAL16-332
MSRNL 16 5 1000 1000 5000 1470 1103 (M3 Ck12 | STC4  AMAT5B2 | ISSN-S33 | KLSB | AAL14-1/8
MSRNL 20 5 1250 1250 6000 1470 1353 (OV;OO | K12 | STC4 | AAL17-532 | ISSN-S3 K58 | AAL141/8
MSRNL 20 6D 1250 1250 6000 1500 1321 oo DS k12 | STC4  AAL17532 ISSN-GI3 K68 AAL19-9/64
MSRNL 24 6D 1500 1500 6000 1500 1821 (SO ck12 | STC4 | AMAT5B2 | ISSN-GI3 | KL6B | AAL19-9/64
MSRNL 24 6E 1500 1500 7.000 1500 1821 OO Ck12 | STC4  AAL17-532  ISSN-GI3 K68 AAL19-9/64

50/51




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=45°

" - MSSNR

% i _

~KAPR
LH LF

lllustrations shown may vary from actual product.

= A N
Dimensions in Inch 3 @ @\\\\‘\\\\ ) ‘®‘ @‘\\\\ )

Ordering Code  WF=H B LF LW WF | _ c'h“/ﬁ;'m . ‘[";’IZ"’I?: CamP mlenKey  Shim  LockPin  Allen Key

MSSNR 12 38 0.750 | 0750 | 4500 1000 0641 oo'oSP2 ek STC-5 | AAL16-3/32 | ISSN-322 K34 | AAL-18-5/64
MSSNR 12 48 0750 0750 4500 1340 0662 oo'iee  CKO  STC-4 | AALIZ-5/E | ISSN33 K46 | AAL16-3/32
MSSNR 16 4C 1000 1.000 5000 1340 0912 (W2 cko | STC4 | AMATS5E2 | ISSN433 | KL46 | AAL16-3/32
MSSNR 16 4D 1000 1000 6000 1340 0912 (oNME . CK9  STC4 | AALIZ-5/E | ISSN433 K46 | AAL16-3/32
MSSNR 85 4D 1250 1000 6000 1340 0912 (W2 cko | STC4 | AMLAT5R2 | ISSN433 | K46 | AAL16-3/32
MSSNR 16 5D 1000 1000 6000 1378 0828 ooliov.  CK9 | STC-4 | AALIZ-5/E | ISSNS3  KLSS | AAL14-1/8
MSSNR205D | 1250 1250 6000 1378 1078 (oS CKO | STC4 | AALIZ-5/G | ISSNS3 KLSS | AAL14-1/B
MSSNR 20 6 1250 1250 6000 1480 0992 SO ckg STC-4 | AAL-17-5/32  ISSN-633 = KL-68  AAL-19-9/64
MSSNR 24 6D 1500 | 1500 6.000 1480 1511 sv\?.'.\li'9604631 , Ok STC-4 | AAL17-5/32 | ISSN-633 = KL-68 | AAL-19-9/64
MSSNL 16 4C 1000 1000 5000 1340 0912 B2 kg STC-4 | AAL17-5/32  ISSN-433  KL46  AAL-16-3/32
MSSNL 16 4D 1000 1.000 6000 1340 0912 W2 kg STC-4 | AAL-17-5/32 | ISSN-433 = KL-46 | AAL-16-3/32
MSSNL 85 4D 1250 1.000 6.000 1.340 0912 sn?.'.\li'24034208 CK-9 STC-4  AAL-17-5/32  ISSN-433  KL-46  AAL-16-3/32
MSSNL 16 5D 1000 | 1000 6000 1378 0828 (oSS CKO | STC4 | MALIZ-5/E | ISSNS33 KLSS | AAL14-1/B
MSSNL 20 5D 1250 1250 6000 1378 1078 (oo CK9 STC-4 | AAL17-5/32 | ISSN-533 | KL58 | AAL-14-1/8
MSSNL 20 6D 1250 1250 6000 1480 0992 oo ckg STC-4 | AAL17-5/32 | ISSN-633 = KL-68 | AAL-19-9/64
MSSNL 24 6D 1500 1500 6000 1480 1511 (oSO CK9  STC4 | AALIZ-5/E2  ISSN633  KLGS | AAL19-9/64

OAKKO

* ko k
USA INC.

www.akkousa.us




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=90° ;
é . _ | AN
K;‘ﬂ.m
o
s /8 = -
f
KAPR
LH
LF
lllustrations shown may vary from actual product.
(=) A
<D /N D
Dimensions in Inch oﬂ @\)\\\s | @\’\\3\‘\
Ordering Code ~ HF=H B LF LH WF mc::‘/s,;l’;'mc ‘g’l‘;‘:‘f: g':r';‘v': AllenKey  Shim  LockPin  Allen Key
MTANR 08 2B 0500 0500 4500 0.960 0500 T,\ITN'1'12023104 CKA9 | STC-0 | AAL-16-3/32 ; KL-23 | AAL-13-1/16
MTANR 10 3B 0625 0625 4500 1130 0.625 T,\ITN'1'63034208 CK6  STC-5  AAL-16-3/32  ITSN-323 = KL-34L  AAL-18-5/64
MTANR 12 38 0750 | 0.750 | 4500 1130  0.750 T|\1TN'1'53034203 CK-6 | STC-5 | AAL-16-3/32  ITSN-323 | KL-34L | AAL-18-5/64
MTANR 16 4D 1000 1.000 6000 1200 1.000 T|\|TN524034203 CK-9  STC-4  AAL-17-5/32  ITSN-433  KL-46 | AAL-16-3/32
MTANL 10 38 0625 0625 4500 1130 0.625 T,\ITN'1'63034208 CK-6 | STC-5 | AAL-16-3/32  ITSN-323 | KL-34L | AAL-18-5/64
MTANL 12 38 0750 0750 4500 1.130 0.750 TJN;63034208 CK6  STC-5  AAL-6-3/32  ITSN-323 | KL-34L  AAL-18-5/64
MTANL 16 4D 1000 | 1.000 6000 1200  1.000 T|\|TNéz4034208 CK9 | STC-4 | AAL-A7-5/32  ITSN-433 | KL-46 | AAL-16-3/32
KAPR=90° A [MTCNN
I I
s
@’M‘f‘w
= KﬁPﬁ © = ~
LH
LF
lllustrations shown may vary from actual product.
D =N D
Dimensions in Inch ﬁ Q\\\\\“ T @\'\}‘
OrderingCode ~ HF=H B LF LH WF |nc|r:]/sme;ttric ‘s'l':l‘:#: g::’r:‘v'; MlenKey ~ Shim  LockPin  Allen Key
MTCNN 08 38 0500 0500 4500 1130 0.552 TJN{63034208 CK7 | STC-9 | AAL-16-3/32  [TSN-323 = KL-34L | AAL-18-5/64
MTCNN 44 3F 1000 0500 8000 1130 0.552 TI\-er.1.63034208 CK7 | STC-9  AAL-6-3/32  ITSN-323  KL-34L  AAL-18-5/64
MTCNN 12 4D 0750 | 0750 6000 1430 0785 TJN524034208 CK12 | STC-4 | AAL-17-5/32 | ITSN-433 = KL-46  AAL-16-3/32
MTCNN 64 4F 1000 0750 8000 1430 0775 TJN524034208 CKA2 | STC-4 | AAL-17-5/32  [TSN-433  KL-46  AAL-16-3/32

52/53




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=60°

N MTENNS

LF

llustrations shown may vary from actual product.

Dimensions in Inch & @\)\\\s\\ ) _J )

Ordering Code  WF=H B LF LW WF | c::‘/s,;l’;'m . ‘g’;‘:ﬁ: CamP MlenKey  Shim  LockPin  AllenKey

MTENNS0828 0500 0500 4500 1000 0250 ;220 = CK6 | STCS | AAL16-3/32 : K23 | AAL-13-1/16
MTENNS1038 0625 0625 4500 1160 0312 139 ' okg  STC5  AAL16-3/32  TSN23  KLBAL | AAL18-5/64
MTENNS1238 0750 0750 4500 1160 0375 [V-3% 1 ckg | STC5 | AAL169/32  TSN23 | KLBAL | AAL18-5/64
MTENNS163C 1000 1000 5000 1160 0500 ;39 Ck6  STCS | AAL16-3/32 TSN323  KLBAL | AAL18-5/64
MTENNS164D 1000 1000 6000 1440 0500 (-2 cko | STC4 | AALAT5/E2 | TSN433 | KL46 | AAL16-3/32
MTENNS854D 1250 1000 6000 1420 0500 (-2 Gko T4 AMAT5B2  ITSN433 | KL4G  AAL16-332
MTENNS2050 1250 1250 6000 1630 0625 (M-S0 CKO | STC4 | AAL75B2 | ITSN-534 | KLSE | AALT4-1
MTENNS246E 1500 1500 7000 1950 0750 (':0%0 g2 | STC4  AALA7-5/32  TSN636  KLGBL | AAL19-9/64

OAKKO

* ko k
USA INC.

www.akkousa.us




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=90° : . ]
' . . MTENR
@ }
LF
lllustrations shown may vary from actual product. =
Dimensions in Inch 0A ) )

Ordering Code  WF=H B LF LW WF | _ c'm;‘m . ‘[";'IZ"’I?: ClamP AlenKey  Shim  LockPin Allen Key
MTFNR 12 38 0750 | 0750 4500 0940 1000 ;5o CK6 | STCS | AAL16-3/32 | ITSN-323 | KL34L | AAL18-5/64
MTFNR 16 4C 1000 1000 5000 1220 1250 oA ko | T4 | L1752 | TSN33 KL | AAL16-3/32
MTFNR 16 4D 1000 1.000 6000 1220 1250 [ MSME o geo | sTC4  AALATSB2 | ITSNA433 K46 | AAL16-3/32
MTFNR 20 4D 1250 1250 6000 1220 1500 ['sAE . ko | STC4 | AALAZ-5/2 | ITSN433 KL | AAL16-3/32
MTFNR 20 5D 1250 | 1250 6000 1440 1500 M8 0 ck12 | STC4 | AALAT5B2 | TSNS | KLGE | AAL14-1/8
MTFNR 24 6E 1500 1500 7000 1500 2000 [ "o oK1z | T4 | AALAZ-5/32 | ITSN-G36  KLGAL | AAL19-9/64
MTFNL 12 38 0750 0750 4500 0940 1000 ;W2 gk | STCS  AAL16-382 | MTSN-323  KLJAL | AAL18-5/64
MTFNL 16 4C 1000 1000 5000 1220 1250 MM gko  sTC4  AALATEB2 | ITSNA433 K46 AAL16-3/32
MTFNL 16 4D 1000 1000 6000 1220 1250 [ (-AE Gk | STC4 | AALAT5E2 | ITSN433 | K46 | AAL16-3/32
MTENL 20 4D 1250 1250 6000 1220 1500 [ MBZ. gk | STC4  AAL17532 | ITSN433  KL46 | AAL16-3/32
MTFNL 85 4D 1250 1250 | 6000 1220 | 1250 "5 CK9 | STC4 | AAL17-532 | MTSN433 | K46 | AAL16-3/32
MTFNL 24 5D 1500 1500 6000 1440 2000 [ -3  CKt2 | STC4 | AALIZ-5/E2 | TSNS KLSB | AAL14-1f8
MTENL 24 6E 1500 1500 7.000 1500 2000 .90 ' ck1a | sTC4 | AALAT5/B2 | ITSN636 | KLGBL | AAL19-9/64

54 /55




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=90°

KAPR
LH

LF

lllustrations shown may vary from actual product.

Dimensions in Inch & Q\\\\\“\\\ ) Q )

Insert Wedge Clamp

Ordering Code HF=H B LF LH WF Allen Key Shim Lock Pin Allen Key

Inch/Metric  Clamp Screw
MTGNR 08 2B 0500 | 0.500 4500 0960 0625 y';AZl | CK19 | STCO | AAL16-332 . KL-23 | AAL13-1/16
MTGNR 10 38 0625 0625 4500 1120 0875 ;o2 CkG | STC-S  AAL16-332 ITSN-333 KL | AAL18-5/64
MTGNR 12 38 0750 | 0750 4500 1120 1000 32 0 ck6 | STCS | AAL163/2 | IMSN-323 | KL3AL | AAL1B-5/64
MTGNR 12 48 0750 0750 4500 1200 1000 ;2 1 Ck9 | TG4 AALIT5B2  MSN-433 K46 AAL16-3/32
MTGNR 16 4C 1000 | 1.000 5000 1200 1250 [ M:H2 1 ckg | STC4 | AAL1T532 | MTSN433 | K46 | AAL16-3/32
MTGNR 16 5¢ 1000 1000 5000 1380 1250 [J'-2S | Ck9 | STC4 | AAAT5B2  MSN-534 | KLSB | AAL14-1/8
MTGNR 16 4D 1000 1000 6000 1200 1250 Lo tSE o cko | STC4 | AALAT52 | ITSN433 | K46 | AAL16-3/32
MTGNR 20 4D 1250 1250 6000 1200 1500 [M>2 0 cko  STC4 | AALAT5E2  ITSN433  KL46 | AAL16-3/32
MTGNR 20 5 1250 | 1250 6000 1440 1500 [ SM3 1G9 | STC4 | MALIZ-5/E | TSNS | KLSB | AAL14-1/8
MTGNL 10 38 0625 0625 4500 1120 0875 2% Ck6 | STC-S | AAL16332  ITSN-333 KL | AAL1B-5/64
MTGNL 12 38 0750 | 0750 | 4500 1120 1000 [ ';Se. Ck6 | STCS | AAL16332 | ITSN323 | KL34L | AAL18-5/64
MTGNL 12 4B 0750 0750 4500 1200 1000 [ ["sH2 0 cko  STC4 | AALAT5B2 | ITSN33  KL4G | AAL16-3/32
MTGNL 16 4C 1000 1.000 5000 1200 1250 [M>92 1 cko | STC4 | AALAT52 | ITSN433 | KL46 | AAL16-3/32
MTGNL 16 4D 1000 1000 6000 1200 1250 [ M-ME G STC4 | AAL1Z-5/E | ITSN33 | KL46  AAL16-3/32
MTGNL 20 4D 1250 1250 6000 1200 1500 [Ms2 1 ck9 | STC4 | AALAT5B2 | ITSN433 | KL4G | AAL16-3/32
MTGNL 20 5D 1250 1250 6000 1440 1500 Néfé& o CKO | STC4 | AALIT5/32 ITSN-53 | KLS8 | AAL14-1/8

OAKKO

* ko k
USA INC.

www.akkousa.us




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93° 1 MTJINR
% = —

LF

A O & & D

Insert Wedge Clamp

lllustrations shown may vary from actual product.

Dimensions in Inch

Ordering Code HF=H B LF LH WF Allen Key Shim Lock Pin Allen Key

Inch/Metric ~ Clamp Screw
MTJNR 08 2B 0500 | 0.500 4500 0720 0625 ['iiZl. | k19 | STCO | AAL16-3/32 : K23 | AAL-13-1/16
MTINR 10 38 0625 0625 4500 0880 0875 ;3L | CK6 | STC5 | AAL16-3/32 [TSN-333  KL34L | AAL18-564
MTINR 12 38 0750 0750 | 4500 0880 1000 ;32 1 cke | STC5 | AAL16-3/32  TSN-333 | KL34L | AAL18-5/64
MTINR 16 3C 1000 1000 5000 0880 1250 /o3 ck6 | STCS | AAL16-3/32  TSN333  KLBAL | AAL18-5/64
MTINR 16 3D 1000 1.000 6000 0880 1250 [ [-3F 1 ok STCS | AAL16-3/32  TSN333 | KL34L | AAL18-5/64
MTINR 16 4D 1000 1000 6000 1130 1250 MBZ Gko  STC4  AAL1Z-5B2  TSN433 K46 | AAL16-332
MTINR 20 4D 1250 | 1250 6000 1130 1500 M2 gk sTC4 | AAL17E/B2  ITSNG3 | KL46 | AAL16-3/32
MTINR 20 5 1250 1250 6000 1260 1500 's2 0 CKO | STC4 | AALAZ-5/32  TSNS34 | KLSB  AAL14-1
MTJNL 08 2B 0500 0500 4500 0720 0625 ;e CK19 | STCO | AAL16-3/32 : K23 | AAL13-1/16
MTINL 10 38 0625 0625 4500 0880 0875 ;o CK6  STC5 | AAL16-3/32 TSN-333  KL34L | AAL18-5/64
MTJNL 12 38 0750 | 0750 | 4500 0880 1000 ['iSZZ. | CK6 | STC5 | AAL16-3/32 ITSN-333  KL-34L | AAL18-5/64
MTINL 16 3¢ 1000 1000 5000 0880 1250 ['\;3F . cK6  STCS | AAL16-3/32 TSN333 K34 | AAL18-5/64
MTINL 16 3D 1000 1000 6000 0880 1250 322 g STCS | AAL16332 | TSN333 | KL3AL | AAL18-5/64
MTINL 16 4D 1000 1000 6000 1130 1250 M2 gkg  sTC4 | AALIZEB2  TSN433 K46 AAL16-332
MTINL 20 4D 1250 1250 | 6000 1130 1500 s HE 0 cKO | STC4 | AALAT-5/E2  TSN433 | K46 | AAL16-332
MTJNL 20 5D 1250 1250 6000 1260 1500 M3 ko STC4 | AAL17-532  ITSNS34 | KLSS | AAL14-1

56/57




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=93° MVJNR

Of
: S

| KAPR
LH

LF

lllustrations shown may vary from actual product.

Dimensions in Inch S @)\\\\\\\\ ) g )

Ordering Code  WF=H B LF LW WF | _ c'm;‘m . ‘é"l‘;‘:ﬁ: CamP Mienkey  Shim  LockPin  Allen Key

MVJNR 12 3A 0750 | 0750 | 4000 1660 1000 -3 1 ck43 | STC4 | MAL17-532 | NSN322 | KLBAL | AAL18-5/64
MVJNR 12 38 0750 0750 4500 1660 1000 ;33 Ck43 | STC4 | AALAT5B2 | NSN322  KL34L | AAL18-5/64
MVJNR 16 3¢ 1000 | 1000 5000 1660 1250 V-2 ka3 | sTC4 | AALAT5B2 | SN-22 | KL34L | AAL1B5/64
MVJNR 16 3D 1000 1000 6000 1660 1250 \\".39 0 ck43 | STC4 | AALI7EB2  SN-B22  KL3AL | AAL18-5/64
MVJNR 20 3D 1250 1250 6000 1660 1500 \\'o39% | CK43 | STC4 | AALIZE32 | ISN-322  KLBAL | AAL18-5/64
MVJNR 24 3D 1500 1500 6000 1660 2000 \WiSSZ k43 | STC4 | AMAT5B2 | NSN-322 | KL34L | AAL1B-5/64
MVJNR 12 48 0750 0750 4500 2000 1000 | oWP o cka3 | STC4 | MAL1Z-5/E2 | SNG3  KL4E | AAL16-332
MVJNR 16 4C 1000 1000 5000 2000 1250 \\'oA3E 0 ck43 | STC4 | AALI7EB2  SN433  KL4G | AAL16-3/32
MVJNR 16 4D 1000 1000 6000 2000 1250 \\"o'2 0 CK43 | STC4 | AAL17E32 | IVSN433  KL4G | AAL16-3/32
MVJNR 20 4D 1250 1250 6000 2000 1500 \\'ot3%  CK43 | STC4 | AALI7532  IVSN433  KL4G | AAL16-3/32
MVJINR 24 4D 1500 1500 6000 2000 2000 | ">¥2 1 Ck43 | STC-4 | AALI7-5B2 | VSN433 | K46 | AAL16-3/32
MVJNL 12 3A 0750 0750 4000 1660 1000 ;3% Ck43 | STC4 | AALAT5B2 | NSN322 KB4l | AAL18-5/64
MVJNL 12 38 0750 0750 4500 1660 1000 V32 ckas | osTC4 | MAL1Z5/E2 | WSNB22  KLGAL | AAL18-5/64
MVJNL 16 3C 1000 1000 5000 1660 1250 .39 0 cka3 | STC4 | MAL17EB2  SN-B22  KL3AL | AAL18-5/64
MVJNL 16 3D 1000 1.000 6000 1660 1250 .39 0 cka3 | STC4 | MAL17EB2 | SN-B22  KLGAL | AAL1B-5/64
MVJNL 20 3D 1250 | 1250 6000 1660 1500 \WNiSZ k43 | STCA | AMAT5B2 | NSN-322 | KL3AL | AAL1B-5/64
MVJNL 16 4C 1000 1.000 5000 2000 1250 o2 Gk43 | STC4 | MAL17-532 | IVSN-433 | KL4G | AAL16-3/32
MVJNL 16 4D 1000 1000 6000 2000 1250 Mot ck43 | STC4 | AALIZEB2  VSN433  KL46 | AAL16-3/32
MVJNL 20 4D 1250 | 1250 6000 2000 1500 M3 BZ ka3 | STC4 | AMLAT5B2 | SN433 | KL46 | AAL16-3/32
MVJNL 24 4D 1500 1500 6000 2000 2000 '-35 GK43 | STC4 | AALI7EB2  IVSN433  KL4E | AAL16-3/32

OAKKO

* ko k
USA INC.

www.akkousa.us




M-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93° .

VA
WF
B

©)
KAPR

LF

=

lllustrations shown may vary from actual product.

Dimensions in Inch —_ @)\\\\‘\\\ ) I!@ @\'\3\‘\\ )

Insert Wedge Clamp

Ordering Code HF=H B LF LH WF Allen Key Shim Lock Pin Allen Key

Inch/Metric  Clamp Screw
MVUNR 20 4C 1250 | 1.250 5000 1.250 2.000 V,\Y N524034208 CK-43 | STC-4 | AAL-17-5/32 | IVSN-433 = KL-46 | AAL-16-3/32
MVUNR 20 4D 1250 1.250 6.000 1250 2.000 V,\Y N524034208 CK-43 | STC-4  AAL-17-5/32  IVSN-433  KL-46  AAL-16-3/32
MVUNR 24 4D 1500 1.500 | 6.000 1250 2.250 V,\Y N524034208 CK-43 | STC-4 | AAL-17-5/32  IVSN-433  KL-46  AAL-16-3/32
MVUNL 20 4D 1250 1250 6000 1.250 2000 N524034208 CK-43 | STC-4  AAL-17-5/32  ISN-433  KL-46  AAL-16-3/32
MVUNL 24 4D 1500 1.500 | 6.000 1250 2.250 vr\Y N524034208 CK-43 | STC-4 | AAL-17-5/32  IVSN-433  KL-46 | AAL-16-3/32
KAPR=72.5°
; MVUNN
o I

LF

lllustrations shown may vary from actual product.

- ) => )
Dimensions in Inch ﬁ ®® ) I!/ )

Insert Wedge Clamp

Ordering Code HF=H B LF LH WF Inch/Metric Clamp S Allen Key Shim Lock Pin Allen Key

MVUNN123B 0750 0750 4500 1770 0875 M3 ckas | sTC4 AALA7BB2 | SN2 | KLBAL | AAL18-5/64
MVVNN 16 3¢ 1000 1000 5000 1770 0500 | ":332 g3 STC4 | MAL17EB2 WSN-G22  KL34L | AAL185/64
MVVNN 16 3D 1000 1.000 6000 1800 0500 ;332 ' ck43 | STC4 | MAL175B2  NSN-322 | KL34L | AAL18-5/64
MVVNN 20 3D 1250 1250 6000 1770 0625 \\'ieor | CK43 | STC-4 | AAL17-532  NSN-322  KL34L | AAL18-5/64
MVVNN 16 4D 1000 1.000 6000 2250 0500 \"oE 1 GK43 | STC4 | MALI7-5B2  IVSN-433  KLd6 | AAL16-332
MVVNN 20 4 1250 1250 6000 2250 0625 \'poone  CK43 | STC-4 | AALIZ-532  IVSN-433 KL | AAL16-332
MVVNN 24 4E 1500 1500 7.000 2250 0750 | "-U8Z 1 ck43 | STC4 | MALI7EB2  IVSN433  KL46 | AAL16-332

58/59




> M-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=95" ’
- = _ ] = T
L 5 -.-’y/ K“Ilgﬂ pu
g d
0"
[N [aa]
=
(KAFR LF
lllustrations shown may vary from actual product.
(=) A
Dimensions in Inch éé %\\\\\‘ ) T %‘"\3\‘
. _ Insert Wedge Clamp . .
Ordering Code HF=H B LF LH WF Inch/Metric Clamp Screw Allen Key Shim Lock Pin Allen Key
MWLNR1238 0750 0750 4500 0880 1000 Vo392 ok STC5 | AAL16332  WSN-322 | KLBAL | AAL18-5/64
WN.. 432

MWINR 1248 0750 0750 4500 1120 1000 | WN-S2 ckoo | STC20 | MAL14UB  WSN433 K46 | AAL16-32
MWLNR163C | 1.000 1.000 5000 0.880  1.250 w\|<|VN653034203 CK6 | STC-5 | AAL-16-3/32  IWSN-322 | KL-34L | AAL-18-5/64
MWLNR163D 1000 1.000 6000 0.880 1.250 W\II\IVN663034208 CK6 | STC-5  AAL-16-3/32  IWSN-322  KL-34L = AAL-18-5/64
MWLNR 16 4C 1000 | 1.000 | 5.000 1130 1.250 W\,Q’N684034208 CK-20 | STC-20 = AAL-14-1/8 | IWSN-433  KL-46 | AAL-16-3/32
MWLNR164D  1.000 1.000 6.000 1120 1.250 W\I<IVN684034208 CK20 | STC-20 = AAL-14-1/8  IWSN-433  KL-46  AAL-16-3/32
MWLNR204D | 1250 1250 6.000 1120 1500 WWN684034208 CK20 | STC-20 | AAL-14-1/8 | IWSN-433 | KL-46  AAL-16-3/32
MWLNL 12 38 0750 0750 4500 0880 1.000 W\,Q’N663034208 CK-6  STC-5  AAL-16-3/32  IWSN-322 = KL-34L  AAL-18-5/64
MWLNL 12 48 0750 0750 4500 1420 | 1.000 W\I<IVN684034208 CK20 | STC-20 | AAL-14-1/8 | IWSN-433 | KL-46 | AAL-16-3/32
MWLNL 16 3¢ 1000 1.000 5000 0880 1.250 W\,Q’N663034208 CK-6  STC-5  AAL-16-3/32  IWSN-322 = KL-34L  AAL-18-5/64
MWLNL 16 3D 1000 | 1.000 6.000 0.880  1.250 W\KIVN663034208 CK-6 STC-5 | AAL-16-3/32  IWSN-322  KL-34L | AAL-18-5/64
MWLNL 16 4C 1000  1.000 5000 1130 1.250 W‘K‘VN684034208 CK-20  STC-20 = AAL-14-1/8  IWSN-433  KL-46  AAL-16-3/32
MWLNL 16 4D 1000 1.000 6000 1120 1.250 W\,’“VN684034208 CK20 | STC-20 = AAL-14-1/8  IWSN-433  KL-46 | AAL-16-3/32
MWLNL 20 4D 1250 1.250 6.000 1120 1.500 w\r/uVN684034203 K20  STC-20  AAL-14-1/8  IWSN-433  KL-46  AAL-16-3/32

OAKKO

* ko k
USA INC.

www.akkousa.us




O AKKO

L0 0 0 5
USAINC.

P-SYSTEM

P-SYSTEM EXTERNAL TURNING TOOLHOLDERS

the spoken quality...




> P-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=95° . PCLNR
(KO IT 3

LF

lllustrations shown may vary from actual product.

Dimensions in Metric ; & ﬁ @ & )

Ordering Code HF=H B LF  WF |nc||1I‘/s|;|Ttric Lever Lever Screw Shim Ssphrllwg ‘g&ﬁ: Clamp Screw  Allen Key
PCLNR 1616 H09 16 | 16 100 20 SNo38. | APL-O1 | ALV-02-M6x17 | AACN-2-0002  AAY-O1 - - AAL-02-2.5
PCLNR 2020 K09 20 20 125 25 fVo8%. APLO1  ALV-02-M6x17 | AACN-2-0002 AAY-O1 - - AAL-02-2.5
PCLNR2525M09 | 25 | 25 | 150 32 KNo38. APL-O1 | ALV-02-MBx17 | AACN-2-0002  AAY-01 - - AAL-02-2.5
PCLNR 1616 H12 16 16 100 20  HV4a%  APL-02  ALV-03-M8x19  AACN-3-0001 AAY-02 - - AAL-03-3

PCLNR2020K12C |~ 20 | 20 125 25 = (S\42%.  APL-02 | ALV-03-M8x19 | AACN-3-0001 AAY-02 = ACK05 = 4015-Mdxi1 = AAL-03-3
PCLNR 2525 M12C 25 25 150 32  (H\4a%  APL-02  ALV-03-M8x19  AACN-3-0001 AAY-02 = ACK05 = 4015-Mdx11 = AAL03-3
PCLNR3232P12C | 32 | 32 170 40  S\4adi  APL-02 | ALV-03-M8x19 | AACN-3-0001 AAY-02 = ACK05 = 4015-Mdxi1 = AAL-03-3
PCLNR 2525 M16C 25 25 150 32  (hi3hc  APL-O4  ALV-04-M8x22  AACN-3-0002 AAY-03 = ACK-09 AAV-05-M6x15 ~AAL-03-3
PCLNR3232P16C 32 | 32 170 | 40 (V4305 | APL-O4 | ALV-04-M8x22 A AACN-3-0002  AAY-03 = ACK-09 | AAV-05-M6x15 —AAL-03-3
PCLNR2525M19C 25 25 150 32  H\i5hc  APL-05 ALV-05-M10x27 AACN-3-0003 AAY-04 =~ ACK-09  AAV-05-M6x15 —AAL-05-4
PCLNR3232P19C | 32 | 32 170 40  (i'iS%: | APL-0S  ALV-05-M10x27 AACN-3-0003 AAY-04 | ACK-09 | AAV-05-M6x15 —AAL-05-4
PCLNR4040S19C 40 40 250 50  (SV450:  APL-OS  ALV-05-M10x27 AACN-3-0003 AAY-04 ~ ACK-09  AAV-05-M6x15 —AAL-05-4
PCLNR5050S19C 50 | 50 | 250 60 = o5‘i50: | APL-05 | ALV-05-M10x27 AACN-3-0003 AAY-04 = ACK-09  AAV-05-M6x15 —AAL-05-4
PCLNR4040S25C 40 40 250 50 o\, AP0 ALV-06-M12x36 AACN-3-0008 AAY-05 ~ ACK-04 AKV-16-M6x16 ~AAL-07-5

PCLNR5050 §25C 50 | 50 250 60 = (505 APL-06  ALV-06-M12x36 AACN-3-0008 AAY-05 = ACK-04 | AKV-16-M6x16 —AAL-07-5

PCLNL 1616 H09 16 16 100 20 HVo¥. APLOT ALV-02-M6x17 | AACN-2-0002 AAY-01 - - AAL-02-2.5
PCLNL 2020 K09 20 | 20 125 25 SV APLOT | ALV-02-M6x17 | AACN-2-0002 AAY-01 - - AAL-02-2.5
PCLNL2525M09 25 25 150 32 (SVo325  APL-O1  ALV-02-M6x17  AACN-2-0002 AAY-01 - - AAL-02-2.5
PCLNL 1616 H12 16 16 | 100 20 | HViadi | APL02 | ALV-03-M8X19 | AACN-3-0001 AAY-02 & - - AAL-03-3

PCLNL2020K12C 20 20 125 25 (i‘4as;  APL-02  ALV-03-M8x19  AACN-3-0001 AAY-02 = ACK05 = 4015-Mdx11 = AAL-03-3
PCLNL2525M12C | 25 | 25 150 32 (o443 APL-02 | ALV-03-M8x19 | AACN-3-0001 AAY-02 = ACK05 = 4015-Mdxi1 = AAL-03-3
PCLNL3232P12C 32 32 170 40  (H\‘4a%;i  APL-02  ALV-03-M8x19  AACN-3-0001 AAY-02 = ACK05 = 4015-Mdx11 = AAL03-3
PCLNL2525M16C | 25 | 25 150 32 (fi30s  APL-O4  ALV-04-M8Xx22 | AACN-3-0002 AAY-03 = ACK-09 | AAV-05-M6x15 —AAL-03-3
PCLNL3232P16C 32 32 170 40  oi3h  APL-O4  ALV-04-M8x22  AACN-3-0002 AAY-03 = ACK-09 AAV-05-M6x15 —AAL-03-3
PCLNL2525M19C | 25 | 25 | 150 32 | (i'iSfs | APL-0S  ALV-05-M10x27 AACN-3-0003 = AAY-04 | ACK-09 | AAV-05-M6x15 —AAL-05-4

PCLNL3232P19C 32 32 170 40  SMi80s  APL-05  ALV-05-M10x27 AACN-3-0003 AAY-04 ~ ACK-09 | AAV-05-MEx15 AAL-05-4

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




P-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=95°

Al

"

h}'lf W

=
KAP?R
LF
lllustrations shown may vary from actual product. ) o
Dimensions in Metric ; & @ ﬁ @ & )
Ordering Code HF=H B LF  WF mclhn/ﬁ:mc Lever Lever Screw Shim Sspl:llwg ‘glg':r?: Clamp Screw  Allen Key
PCLNL4040S19C | 40 40 | 250 | 50 = (oiSh | APL-05  ALV-05-M10x27 AACN-3-0003 AAY-04 | ACK-09  AAV-05-M6x15 —AAL-05-4
PCLNL5050S19C 50 50 250 60  oG\iSds  APL-05  ALV-05-M10x27 AACN-3-0003 AAY-04 ~ ACK-09 | AAV-05-MEx15 AAL-05-4
PCLNL4040S25C 40 | 40 | 250 | 50 = oS85 | APL-06 | ALV-06-M12x36 | AACN-3-0008 = AAY-05 = ACK-04 | AKV-16-MBx16 AAL-07-5
PCLNL5050S25C 50 50 250 60 = (npos  APL-06  ALV-06-M12x36 AACN-3-0008 AAY-05 = ACK-04 AKV-16-M6x16 ~AAL07-5
KAPR=93°
_ r\':shl
v ks
- LF
lllustrations shown may vary from actual product. o
Dimensions in Metric - & &\\“ =~ ﬂ

Ordering Code HF=H B LF WF Inc'h“/s,;l’;‘mc Lever é::’:vr: Shim Ssphrlll:g ‘S'I‘;‘I’ﬁ: gL‘::‘v': Allen Key
PDJNR 1616 H11 16 | 16 100 20  SN43% APLOT | ALV-02-MBx17 | AADN-SD317 | AAY-01 - - AAL-02-2.5
PDJNR 2020 K11 20 20 125 25  oVi33 APLOT | ALV-02-M6x17 | AADN-SD317 | AAY-01 - - AAL-02-2.5
PDJNR 2525 M11 25 | 25 150 | 32 | o433 APLOT | ALV-02-M6x17 | AADN-SD317 | AAY-01 . . AAL-02-2.5
PDINR2020KI5C 20 20 125 25 DVedbe  APLO3  ALV-03-MBX19  AADN-3-0001 AAY-02 | ACK05 = 4015-Mdxi1  AAL-03-3
PDINR2525M15C | 25 25 150 32  Rlqddc | APL-03 | ALV-03-M8x19 | AADN-3-0001 = AAY-02 = ACK05 = 4015-Mdxi1 | AAL-03-3
PDINR3232P15C 32 32 170 40 ph‘yeds | APLO3  ALV-03-M8x19  AADN-3-0001 AAY-02 ~ ACK-05 = 4015-Mdx11  AAL-03-3
PDJNR4040S15C | 40 40 250 50 D\qddi | APL-03 | ALV-03-M8x19  AADN-3-0001 = AAY-02 = ACK05 = 4015-Mdxi1 | AAL-03-3
PDJNL 1616 H11 16 | 16 100 20  SV43% APLOT | ALV-02-MBx17 | AADN-SD317  AAY-01 - - AAL-02-2.5
PDJNL 2020 K11 20 20 125 | 25 | o433 APLOT | ALV-02-M6x17 | AADN-SD317 | AAY-01 . . AAL-02-2.5
PDJNL 2525 M11 25 25 150 32 DNu33. APLOT ALV-02-M6x17 | AADN-SD317 | AAY-O1 - - AAL-02-2.5
PDINL2020K15C | 20 20 125 25 RMddc | APL-03 | ALV-03-M8x19 | AADN-3-0001 = AAY-02 = ACK05 = 4015-Mdxi1 | AAL-03-3
PDINL2525M15C 25 25 150 32  phVidde | APLO3  ALV-03-M8x19  AADN-3-0001 AAY-02  ACK-05 = 4015-Mdx11  AAL-03-3
PDINL3232P15C | 32 32 170 40 D\qd0s | APL-03 | ALV-03-M8x19  AADN-3-0001 = AAY-02 = ACK05 = 4015-Mdxi1 | AAL-03-3
PDINL4040SISC 40 40 250 50 ph\yids | APLO3  ALV-03-M8x19  AADN-3-0001 AAY-02  ACK-05 = 4015-Mdx11  AAL-03-3

62/63




> P-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=95°

HF

F g PWLNR

KAPR

WF
©

lllustrations shown may vary from actual product.

Dimensions in Metric & & ﬂ @ & )

Ordering Code HF=H B LF  WF In c“'/ﬁ:‘ ric Lever Lever Screw Shim ssphr::]g ‘glz(:'?: Clamp Screw  Allen Key
PWLNR 1616 H06 16 16 100 20 WVI\\IIN0?584 APL-01 = ALV-02-M6x17 A AAWN-SW317 = AAY-01 - - AAL-02-2.5
PWLNR 2020 K06 20 20 125 25 WVI\\/|N0234 APL-01 = ALV-02-M6x17 = AAWN-SW317  AAY-01 - - AAL-02-2.5
PWLNR 2525 M06 25 25 150 32 WVIV\IN0284 APL-01 = ALV-02-M6x17 A AAWN-SW317  AAY-01 - - AAL-02-2.5
PWLNR 3232 P06 32 32 170 40 WVI\\IIN0?384 APL-01 = ALV-02-M6x17 = AAWN-SW317  AAY-01 - - AAL-02-2.5
PWLNR 1616 H08 16 16 100 20 WV|V\|N0384 APL-02 = ALV-03-M8x19 A AAWN-3-0001 = AAY-02 - - AAL-03-3
PWLNR 2020 K08C 20 20 | 125 | 25 WVI\\IINOgg4 APL-02 = ALV-03-M8x19 A AAWN-3-0001 AAY-02 = ACK-05 = 4015-M4x11 = AAL-03-3
PWLNR 2525 M08C 25 25 | 150 | 32 WV,\\I]N0284 APL-02 = ALV-03-M8x19 A AAWN-3-0001  AAY-02 = ACK-05 & 4015-M4x11 = AAL-03-3
PWLNR 3232 P08C 32 32 170 40 WVIV\IN0234 APL-02 = ALV-03-M8x19 A AAWN-3-0001 AAY-02 = ACK-05 = 4015-M4x11 = AAL-03-3
PWLNL 1616 H06 16 16 100 | 20 WV,\\IIN0284 APL-01 = ALV-02-M6x17 A AAWN-SW317  AAY-01 - - AAL-02-2.5
PWLNL 2020 K06 20 20 125 25 WV,\\IIN0234 APL-01 = ALV-02-M6x17 = AAWN-SW317  AAY-01 - - AAL-02-2.5
PWLNL 2525 M06 25 25 150 32 WVI\\GN0284 APL-01 = ALV-02-M6x17 A AAWN-SW317  AAY-01 - - AAL-02-2.5
PWLNL 3232 P06 32 32 170 40 WVI\\IIN0234 APL-01 = ALV-02-M6x17 = AAWN-SW317  AAY-01 - - AAL-02-2.5
PWLNL 1616 HO8 16 16 100 20 WV|Y|N0334 APL-02 = ALV-03-M8x19 A AAWN-3-0001 = AAY-02 - - AAL-03-3
PWLNL 2020 K08C 20 20 | 125 | 25 Wvl\\leogg4 APL-02 = ALV-03-M8x19 | AAWN-3-0001 AAY-02 = ACK-05 = 4015-M4x11 = AAL-03-3
PWLNL 2525 M08C 25 25 | 150 | 32 WVI\\IINOgg4 APL-02 = ALV-03-M8x19 A AAWN-3-0001  AAY-02 = ACK-05 & 4015-M4x11 = AAL-03-3
PWLNL 3232 P08C 32 32 170 40 Wvl\\llNogg4 APL-02 = ALV-03-M8x19 | AAWN-3-0001 AAY-02 = ACK-05 = 4015-M4x11 = AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




P-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=45°

LF A

lllustrations shown may vary from actual product.

, Q®
- (S B)
Dimensions in Metric i & \&@ —/ ﬂ @ & )

Ordering Code HF=H B LF  WF Incll:m;t!ric Lever Lever Screw Shim SsphrI|Tg ‘3’;?'?: Clamp Screw  Allen Key
PSSNR 1616 H09 16 16 | 100 | 20 S§N03§3 APL-01 | ALV-02-M6x17 | AASN-2-0002 = AAY-01 - - AAL-02-2.5
PSSNR 2020 K09 20 20 125 25 SENOSSS APL-01 | ALV-02-M6x17 = AASN-2-0002  AAY-01 - - AAL-02-2.5
PSSNR 2020 K12C 200 20 (125 25 SEN1334 APL-02 = ALV-03-M8x19 ' AASN-3-0004 = AAY-02 = ACK-05 = 4015-M4x11 | AAL-03-3
PSSNR 2525 M12C 25 25 | 150 32 SEN1£2134 APL-02 = ALV-03-M8x19 = AASN-3-0004 = AAY-02 = ACK-05 = 4015-M4x11 = AAL-03-3
PSSNR 3232 P12C 32 32 170 40 SEN1‘2134 APL-02 | ALV-03-M8x19 ' AASN-3-0004 = AAY-02 | ACK-05 | 4015-M4x11 | AAL-03-3
PSSNR 3232 P15C 32 32 170 40 SﬁNégG APL-04 = ALV-04-M8x22 = AASN-3-0023  AAY-03  ACK-09 = AAV-05-M6x15 = AAL-03-3
PSSNR 3232 P19C 32 32 170 | 40 SEN1836 APL-05 | ALV-05-M10x27 | AASN-3-0005 = AAY-04 | ACK-09 = AAV-05-M6x15  AAL-05-4
PSSNR 4040 S19C 40 40 250 @ 50 SEN1836 APL-05 = ALV-05-M10x27 AASN-3-0005 AAY-04  ACK-09  AAV-05-M6x15 = AAL-05-4
PSSNR 4040 $25C 40 40 | 250 50 SENQESQ APL-06 | ALV-06-M12x36 = AASN-3-0020 = AAY-05 | ACK-04 | AKV-16-M6x16 | AAL-07-5
PSSNL 1616 H09 16 16 100 20 SENOS(ZB APL-01 | ALV-02-M6x17 = AASN-2-0002  AAY-01 - - AAL-02-2.5
PSSNL 2020 K09 200 20 (125 25 S§N03§3 APL-01 | ALV-02-M6x17 | AASN-2-0002 = AAY-01 - - AAL-02-2.5
PSSNL 2020 K12C 20 20 125 25 SEN1‘2134 APL-02 | ALV-03-M8x19 = AASN-3-0004  AAY-02 | ACK-05 | 4015-M4x11 | AAL-03-3
PSSNL 2525 M12C 25 25 150 32 SEN1334 APL-02 = ALV-03-M8x19 ' AASN-3-0004 = AAY-02 = ACK-05 = 4015-M4x11 | AAL-03-3
PSSNL 3232 P12C 32 32 170 40 SEN1£2134 APL-02 = ALV-03-M8x19 = AASN-3-0004 = AAY-02 = ACK-05 = 4015-M4x11 = AAL-03-3
PSSNL 3232 P15C 32 32 170 40 SﬁNégG APL-04 | ALV-04-M8x22 | AASN-3-0023 = AAY-03 | ACK-09 @ AAV-05-M6x15  AAL-03-3
PSSNL 3232 P19C 32 32 170 40 SEN1836 APL-05 = ALV-05-M10x27 AASN-3-0005 AAY-04  ACK-09 = AAV-05-M6x15 = AAL-05-4
PSSNL 4040 S19C 40 40 250 | 50 SEN1 836 APL-05 | ALV-05-M10x27 | AASN-3-0005 = AAY-04 | ACK-09 = AAV-05-M6x15  AAL-05-4
PSSNL 4040 S25C 40 40 250 @ 50 SENZESQ APL-06 = ALV-06-M12x36 AASN-3-0020  AAY-05  ACK-04 = AKV-16-M6x16 = AAL-07-5

64 /65




> P-SYSTEM EXTERNAL TURNING TOOLHOLDERS

O AKKO

W W ok
USA INC.




O AKKO

1.0 0.0 5
USAINC.

the spoken quality... S -S YS TE M

S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

66/67




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=90° L | LF |
o i " SCACR
’ ! r
lﬂcﬂ‘,.p*“ 4 W
Fﬁg“:} ' T T
ﬁ‘h :Euu' _
, . A = mI
< LKAﬁR
lllustrations shown may vary from actual product. o
) - Q <,
Dimensions in Inch -_— &&\&\ /
. _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
CC.. 2151
SCACRO520-S 0312 0312 6000 0440 0313 SCZOl 4008256 - - 82-T08
CC.. 2151
SCACR0620-S 0375 0375 6000 0440 0375 00510 4008-M2.56 - - 82-T08
CC.. 3252
SCACROB3D-S 0500 0500 6000 0620 0500 U032 1 4015-M35c11 - - 80-T15
SCACR103B-S 0625 0625 4500 0620 0625 cﬁc"()g?iﬁs 4015-M3.5x14 = AACN-2-0001  AAV-06-M35x11  80-T15
cC.. 2151
SCACLOG2D-S 0375 0375 6000 0440 0375 U210 | 4008-M2.56 - - 82-T08
CC.. 3252
SCACLOB3D-S 0500 0500 6000 0620 0500 o poco.  4015-M35c11 - i 80-T15
SCACL 10 3B-S 0625 0625 4500 @ 0.620 0625 020'63%3 4015-M3.5x14 | AACN-2-0001 | AAV-06-M35x11  80-T15
KAPR=90° Lol
gl a SCACR
d 13 !l G
'A - >~ 5°r ww Y
phs
&
LF
lllustrations shown may vary from actual product.
=)
Dimensions in Inch -_—
. _ Insert - .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
cC.. 2151
SCACR 10 2A 0625 | 0625 4000 0500 0750 o2 4008256 - - 82-T08
SCACR 10 3A 0625 0625 4000 0620 0750 020'63%38 4015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCACR 12 38 0750 0750 4500 0620  1.000 c%c"og?rggs 4015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCACR 16 3D 1000 1000 6000 0620 1.250 C%C"OS%SB 4015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCACL 12 38 0750 0750 = 4500 @ 0.620 1.000 cgc'bg'zrggs 4015-M35x14 | AACN-2-0001 | AAV-06-M35x11  80-T15
SCACL 16 3D 1000 1000 6000 0620 1250 c%c"og%gga 4015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=00° ’ | F
o i | | SCACR
AL ﬁ‘a"g: :. & % \‘—/ ;I "r 777777777777 [~
D [ [
' =, [e -
/'byw LKNéR
lllustrations shown may vary from actual product. Y
Dimensions in Metric 2 & @
Ordering Code HF=H B F o wF | c'h“/ﬁ;‘m . Screw Shim Shim Screw Torx Key
SCACR 0808 X06-S 08 08 115 08 552'0261052'; 4008-M2.5%6 . : 82-T08
SCACR 1010 K06-S 0 100 15 10 CSES g008m256 - - 82708
SCACR 1212 606-S 2 12 e 12 SIS 4008256 : : 82708
SCACR 1212 K06-S 12 | 12 | 125 | 12 gg:'ozgosé:_ 4008-M2.5%6 : : 82708
SCACR 1616 F06- 6 16 75 16 oA 4008M256 : : 82708
SCACR 1616 K06-S 6 16 125 16 CoES 4008M256 : : 82708
SCACR 1212 609-S 2 120 12 SR 15w : : 80-T15
SCACR 1212 K09-§ 2 12 125 12 CUSBe 15w : : 80-T15
SCACR 1616 F09-S % 16 75 | 16 (SCC_:'0392T53':_ 4015-M3.5¢11 : : 80-T15
SCACR 1616 K09-§ 16 16 125 16 ool 4015M3 : : 80715
SCACR 2020 K09-§ 20 2 125 20 3% anisusd : i 80-T15
SCACL 0808 X06-S 8 08 15 08 CES 008m2si : i 82708
SCACL 1010 K06-S 0 10 125 0 SR 4005 : : 82708
SCACL 1212 606-S 212w 12 SEER n0smesi : : 82708
SCACL 1212 K06-S 2 12 125 12 SN 4005 : : 82708
SCACL 1616 F06-S 6 16 75 16 B 4008m2si : : 82708
SCACL 1616 K0-S 16 16 125 16 ool 4008256 i : 82708
SCACL 1212 G09-S 2 12 0 12 SESBe 15 masa : : 80715
SCACL 1212 K09-§ 12 12 125 | 12 0052'0392%:. 4015-M3.5x11 : : 80-T15
SCACL 1616 F09-S 16 16 75 16 o omc 4015M35 : : 80715
SCACL 1616 K09-S % | 16 125 16 (30(?.:.03921_55:. 4015-M3.5x11 i i 80-T15
SCACL 2020 K09-§ 0 2 15 20 SO apismas i - 80-T15
68/69




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=95°

HF

7| F g SCLCR
‘AKﬁl.l’ 2 : i Bl } **** [

A
KAPR
|

LI
[
o

LF {
llustrations shown may vary from actual product.

Dimensions in Inch 2 & @

q _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SCLCR 10 2A 0625 0625 4000 0500 0750 @ .CC-2151 4008-M2.5%6 . ; 82-T08
: : : : : CC.. 060204 :
SCLCR 10 3A 0625 0625 4000 0620 0750 C%C"og%ggs 4015-M35x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCLCR 12 38 0750 0750 4500 0620  1.000 C%C'b3$g§8 4015-M35x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCLCR 16 3D 1000 1000 6000 0620 1.250 cgc'bg$g§3 4015-M35x14 | AACN-2-0001  AAV-06-M35x11  80-TH5
SCLCR 12 4B 0750 0750 4500 0750 = 1.000 cgci'24o34208 1020-M45x16 | AACN-2-0003 | AAV-07-M45x13  80-T20
SCLCR 16 4D 1000 1.000 6000 0750 = 1.250 cgcﬁ'24034203 1020-M45x16 ~ AACN-2-0003 | AAV-07-M45x13  80-T20
SCLCL 10 2A 0625 0625 4000 0500 0750 @ .oC-2151 4008-M2.5x6 - - 82-T08
: : : : : CC.. 060204 :
SCLCL 10 3A 0625 0625 4000 0620 0750 cf;c'ié??ﬁs A015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCLCL 12 3B 0750 0750 4500 @ 0620 1.000 c(éc'bg%ggs 4015-M35x14 | AACN-2-0001 | AAV-06-M35x11 | 80-T15
SCLCL 16 3D 1000 1000 6000 0620 1.250 0(030'63%38 4015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCLCL 12 4B 0750 0750 4500 0750 = 1.000 cc;cci';oa4zoa 1020-M45x16 | AACN-2-0003 | AAV-07-M45x13  80-T20
SCLCL 16 4D 1000 1000 6000 0750 1.250 CCCC'1'24034208 1020-M45x16  AACN-2-0003 | AAV-07-M45x13  80-T20

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

HF

KAPR=95° : rg::_f‘ ‘HEIT E SCLCR
;gbﬂ’ : e T :] **** [

‘ AKAPIR

Y
WF
.8
[©]

LF {
lllustrations shown may vary from actual product.

Dimensions in Metric 2 &

; _ Insert . .

Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key

SCLCR 0808 E06 8 8 70 10 GC.. 215.. 4008-M2.5x6 . . 82-T08
CC.. 0602. :

SCLCR 1010 E06 0 10 70 12 to. 2l 4008-M2.546 . - 82-T08
CC.. 0602. :

SCLCR 1212 F06 12 12 | 8 16 CC.. 215.. 4008-M2.5x6 . . 82-T08
CC.. 0602.. :
CC.. 325.

SCLCR 1010 E09 0 10 70 12 oo 4015-M3.5x9 . - 80-T15
CC.. 325.

SCLCR 1212 F09 12 12 8 | 16 So-822 qots M3t . - 80-T15
CC.. 325.

SCLCR 1212 M09 12 12 150 16 -85 4ot5M35x14 . - 80-T15

SCLCR 1616 H09 16 16 | 100 20 é:cc__0392T53_ 4015-M35x14 | AACN-2-0001 | AAV-06-M3.5x11 80-T15

SCLCR 2020 K09 20 20 125 25 gg"0392fé' 4015-M35x14 | AACN-2-0001  AAV-06-M3.5x11 80-T15

SCLCR 2525 M09 25 | 25 | 150 32 GC.. 325.. 4015-M3.5x14 . . 80-T15
CC.. 09T3.. :

SCLCR 1616 H12 16 16 100 20 C(éc'iggii 1020-M5x11 | AACN-2-0003  AAV-07-M4.5x13 80-T20

SCLCR 2020 K12 20 | 20 | 125 25 C%C'igg'zi 1020-M45x16  AACN-2-0003 | AAV-07-MA45x13 80-T20

SCLCR 2525 M12 25 | 25 | 150 32 c(éC'i ‘2‘34 1020-M45x16  AACN-2-0003  AAV-07-MA4.5x13 80-T20

SCLCL 0808 E06 8 8 70 10 CC.. 215. 4008-M2.5%6 . . 82-T08
CC.. 0602. :

SCLCL 1010 E06 10 10 70 12 GC.. 215. 4008-M2.5%6 . . 82-T08
CC.. 0602. :

SCLCL 1212 F06 12 12 8 | 16 CC.. 215. 4008-M2.5%6 - . 82-T08
CC.. 0602. :
CC.. 325..

SCLCL 1010 E09 10 10 70 12 oo 4015-M3.5x9 - . 80-T15
CC.. 325.

SCLCL 1212 F09 12 12 s | 16 oo aR 4015 M35 - - 80-T15
CC.. 325.

SCLCL 1212 M09 12 12 150 16 o2 4015M3.5014 - - 80-T15

SCLCL 1616 H09 %6 16 100 20 gg"ggz%' 4015-M3.5x14 | AACN-2-0001 | AAV-06-M3.5x11 80-T15

SCLCL 2020 K09 20 | 20 @ 125 25 Cccc..oagz%. 4015-M3.5x14  AACN-2-0001 = AAV-06-M3.5x11 80-T15
CC.. 325.

SCLCL 2525 M09 25 | 25 | 150 | 32 .82 aot5M3sn4 - - 80-T15

SCLCL 1616 H12 % 16 100 20 cgc'iggi 1020-M5x11  AACN-2-0003  AAV-07-M4.5x13 80-T20

SCLCL 2020 K12 20 | 20 @ 125 25 cgc'iggi 1020-M45x16 | AACN-2-0003 | AAV-07-M4.5¢13 80-T20

SCLCL 2525 M12 25 25 | 150 32 cgc'iggéi 1020-M45x16 | AACN-2-0003  AAV-07-M4.5x13 80-T20

70/71




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

- [ | SCLCR
S ] [ -
s . IF‘I’I’ ¢ /Y
(‘-ﬁ d ﬁ" [
/ ‘ = ® @
2 ‘(mﬁR

lllustrations shown may vary from actual product.

- [S]
Dimensions in Inch -_— @

5 _ Insert . .

Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key

SCLCRO62D-S | 0375 0375 6000 0500 0375  20-2151 1 4008 Mo 5x6 i : 82-T08
: : : : : CC.. 060204 :

SCLCR 08 2D-S 0500 0500 6000 0500 0500 GO 2191 4008-M2.5x6 - - 82-T08
: : : : : CC.. 060204 :

SCLCR 08 30-S 0500 0500 6000 0620 0500  2C-3%52 4015 3 5kt - - 80-T15
: : : : : CC.. 097308 :

SCLCR 10 3B-S 0625 0625 4500 0620 0625 C(éc'bg%gs 4015-M35x14 | AACN-2-0001  AAV-06-M35x11  80-T15

SCLCL 06 2D-S 0375 0375 6000 0500 0375 002151 4008-M2.5x6 - - 82-T08
: : : : : CC.. 060204 :

SCLCL 08 2D-§ 0500 0500 6000 0500 0500 02181 4008 M2 5x6 : : 82708
: : : : : CC.. 060204 :

SCLCL 08 3D-S 0500 0500 6000 0620 0500 003252 4045 Mg 5x11 - - 80-T15
: : : : : CC.. 097308 '

SCLCL 10 38-S 0625 0625 4500 0620 0625 0%0'535333 4015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

LF |
KAPR=95° 5 |
e w
i - =
O ]
—~ ; Ak o
(&) @sﬂ"
e = =
_ 2
LKAPR
lllustrations shown may vary from actual product.
=) . $O
Dimensions in Metric -_— /
; _ Insert . .

Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key

SCLCR 0808 X06-S 08 08 115 08 o2l 4008-M2.5x6 - 82708

SCLCR 1010 X06-S 10 10 115 10 B 4008-M2.546 . 82-T08
CC.. 215.

SCLCR 1212 GO6-S 12 12 90 12 o2l 4008-M2.5x6 - 82-T08

SCLCR 1212 X06-S 12 12 130 12 o 2% 4008-M2.5¢6 - 82-T08
CC.. 215.

SCLCR 1212 K06-S 12 12 | 125 | 12 o2 4008-M2.5x6 - 82-T08
CC.. 215..

SCLCR 1616 F06-S 16 16 75 16 o s 4008-M2.5x6 - 82-708
CC.. 215.

SCLCR 1616 X06-S 16 16 130 16 o2 4008-M2.5x6 - 82-T08
CC.. 325..

SCLCR 1212 G09-S 12 12 90 12 o 4015-M3.5x11 - 80-T15
CC.. 325.

SCLCR 1212 X09-S 12 12 130 | 12 o 4015-M3.5x11 - 80-T15
CC.. 325..

SCLCR 1616 F09-S 16 16 75 16 - gz 4015-M3.5x11 - 80-T15
CC.. 325.

SCLCR 1616 G09-S 16 16 90 16 o 4015-M3.5x11 - 80-T15
CC.. 325.

SCLCR 1616 X09-S 16 16 | 115 16 o gz 4015-M3.5x11 - 80-T15
CC.. 325..

SCLCR 2020 X09-S 20 20 | 120 20 . . 4015-M3.5x11 - 80-T15

SCLCL 0808 X06-S 08 08 115 08 o2l 4008-M2.5x6 - 82-708

SCLCL 1010 X06-S 10 10 115 10 CG.. 215.. 4008-M2.5x6 - 82708
CC.. 0602.. -

SCLCL 1212 GOG-S 12 12 90 12 U2 4008-M2.56 - 82-T08
CC.. 0602.. '

SCLCL 1212 X06-8 12 12 130 | 12 GC.. 215.. 4008-M2.5x6 - 82708
CC.. 0602.. :

SCLCL 1212 K06-S 12 12 | 125 | 12 6C.. 215, 4008-M2.5x6 ; 82-708
CC.. 0602.. '

SCLCL 1616 F06-S 16 16 75 16 AL 4008-M2.5x6 - 82708
GC.. 0602.. :

SCLCL 1616 X06-S 16 16 | 130 16 UL 2 15 4008-M2.56 - 82-708
CC.. 0602.. :
CC.. 325..

SCLCL 1212 G09-S 12 12 90 12 g gz 4015-M3.5x11 - 80-T15
GC.. 325..

SCLCL 1212 X09-§ 12 12 130 12 o 4015-M3.5x11 - 80-T15
CC.. 325..

SCLCL 1616 F09-S 16 16 75 16 . sz 4015-M3.5x11 - 80-T15
GC.. 325..

SCLCL 1616 G09-S 16 16 90 16 o 4015-M3.5x11 - 80-T15
CC.. 325..

SCLCL 1616 X09-§ 16 16 | 115 16 o sz 4015-M3.5x11 - 80-T15
GC.. 325..

SCLCL 2020 X09-§ 20 20 120 20 oo 4015-M3.5x11 - 80-T15

72173




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=50° 2
_aiatt SCMCN
P + e .
0. 1t o 1 !
Lo | |
ﬂﬂﬁ# ‘ ‘
i oF 1 8
'.-" - LF
,‘ e g
lllustrations shown may vary from actual product. v
- 5 & P
Dimensions in Inch f—===1 & /
) _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SCMCN 10 3A 0625 0625 4000 0620 0313 030'633338 4015-M35x14  AACN-2-0001 | AAV-06-M35x11 | 80-T15
SCMCN 12 3B 0750 0750 4500 0.620 0375 0%0'63%38 A015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15
SCMCN 16 3D 1000 1000 6000 0620 0500 c%c"og%ggs 4015-M35x14 | AACN-2-0001 | AAV-06-M35x11  80-Ti5
KAPR=90° F LF :
: w ﬂ
-
a g L = ® » ﬂ
i | KePR
lllustrations shown may vary from actual product. "
- - Q )
Dimensions in Inch v & —/ &&&\\ ya
. _ Insert . -
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SDACRO62D-S | 0375 0375 6000 0620 0375  2C-2151 1 4008 Mo 5x6 - - 82-T08
: : : : : DC.. 070204 :
SDACR082D-S 0500 0500 6000 0620 0500  DC-2151 ' 4508 mo5x6 - - 82-T08
: : : : : DC.. 070204 :
SDACR103B-S | 0.625 0625 4500 0880 0.625 D[())C"1 ?%g(z)s 4015-M35x14  AADN-2-0001 | AAV-06-M35x11  80-T15
SDACR083D-S 0500 0500 6000 0880 0500 203252 4545 M3 syt 80-T15
: : : : : DC.. 117308 :
SDACL062D-S | 0375 0375 6000 0620 0375  DC-2151 1 4508 Mo 5x6 - . 82-T08
: : : : : DC.. 070204 :
SDACL082D-S 0500 0500 6000 0620 0500  2C=2151 a0 Mo sx6 - . 82-T08
: : : : : DC.. 070204 :
SDACL 10 3B-S 0625 0625 4500 0880 0625 D[(;C'iﬁggs 4015-M35x14 | AADN-2-0001 | AAV-06-M35x11  80-Ti5
SDACL083D-S 0500 0500 6000 0880 0500  DC-3252 ' 4515 3 it 80-T15
: : : : : DC.. 117308 :

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

LF

KAPR=90°

HF
1
i

0

Y

lllustrations shown may vary from actual product.

Dimensions in Metric "& &

; _ Insert . .
Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key
SDACR 0808 X07-S 8 | 08 115 08 DC.. 215.. 4008-M2.546 - - 82-T08
DC.. 0702. :
SDACR1010 K07-S 10 10 | 125 10 DC.. 215.. 4008-M2.546 . - 82-T08
DC.. 0702. :
SDACR 1212 GO7-S 12 12 9 | 12 DC.. 215.. 4008-M2.546 . . 82-T08
DC.. 0702. :
SDACR 1212 K07-S 12 12 15 12 26 2l 4008-M2.5x6 ; - 82-T08
DC.. 0702. :
SDACR 1616 FO7-S 6 16 | 75 16 DC.. 215. 4008-M2.546 . . 82-T08
DC.. 0702. :
SDACR 1616 K07-S 16 | 16 | 125 16 o 2l 4008-M2.546 . - 82-T08
DC.. 0702. :
DC.. 325
SDACR 1212 G11- 12 12 9w | 12 DC.. 325 4015-M3.5x11 . : 80-T15
DC.. 11T3.
DC.. 325
SDACR 1212 K11-S 12 12 15 12 oo a015M5d - . 80-T15
DC.. 325
SDACR 1616 F11-S % 16 75 16 oo %2 a015M 5t . . 80-T15
DC.. 325
SDACR 1616 K11-S 6 | 16 | 125 16 oo 4015 M3 . . 80-T15
DC.. 325
SDACR 2020 K11-S 20 20 | 125 20 4015-M3.5¢11 . . 80-T15
DC.. 11T3.
SDACL 0808 X07-S 8 08 115 08 L. 2. 4008-M2.5x6 . . 82-T08
DC.. 0702... :
SDACL 1010 K07-S 10 10 | 125 10 DC.. 215. 4008-M2.5%6 . . 82-T08
DC.. 0702.. :
SDACL 1212 G07-S 12 12 90 12 DC.. 215. 4008-M2.5x6 - . 82-T08
DC.. 0702.. -
SDACL 1212 K07-S 12 12 15 12 DC.. 215. 4008-M2.5x6 - . 82-T08
DC.. 0702.. :
SDACL 1616 F07-S %6 | 16 | 75 | 16 D 215 4008-M2.5x6 - . 82-T08
DC.. 0702.. :
SDACL 1616 K07-S 16 16 125 16 DC.. 215.. 4008-M2.5x6 - - 82-T08
DC.. 0702.. -
DC.. 325
SDACL 1212 G11-S 12 12 w0 @ 12 oo B a015M5dl 1 - - 80-T15
DC.. 325
SDACL 1212 K11-8 12 12 15 12 oo B a015msat . i 80-T15
DC.. 325
SDACL 1616 F11-S 6 | 16 | 75 16 ool 40t5Mas 1 - - 80-T15
DC.. 325
SDACL 1616 K11-S % 16 125 16 oo B a0i5m5a1 : : 80-T15
DC.. 325
SDACL 2020 K11-§ 20 20 125 20 4015-M3.5x11 - - 80-T15
DC.. 1173..
74175




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=93°

& =i = 1
s ’s
- KAPR

LF
llustrations shown may vary from actual product.
A Q <
Dimensions in Inch V & g &&\K\ /
o _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SDJCR 10 2A 0625 0625 4000 0620 0750 DC-2151 4008-M2.5%6 ; ; 82-T08
: : : : : DC.. 070204 :
SDJCR 10 3A 0625 0625 4000 0880 0750 D[éc'i?'zrgga 4015-M3.5x14  AADN-2-0001 | AAV-06-M35x11  80-T15
SDJCR 12 38 0750 0750 4500 0880 = 1.000 D?;C'i?'zrgga 4015-M3.5x14 | AADN-2-0001  AAV-06-M35x11  80-T15
SDJCR 16 3D 1000 1000 6000 1000 1.250 D[c)c'iﬁggs 4015-M35x14 | AADN-2-0001  AAV-06-M35x11  80-Ti5
SDJCL 10 2A 0625 0625 4000 0620 0750 @ DC-2151 508 Mo 5x6 - - 82-T08
: : : : : DC.. 070204 :
SDJCL 10 3A 0625 0625 4000 0880 0.750 D%C'ﬁ’%ggg 4015-M35x14  AADN-2-0001 | AAV-06-M3.5x11  80-T45
SDJCL 12 38 0750 | 0750 4500 0.880 = 1.000 D?;C'i?'zrgga A015-M35x14 | AADN-2-0001 | AAV-06-M35x11 | 80-T15
SDJCL 16 3 1000 1000 6000 1000 1.250 D?;C'i?'zrggs A015-M3.5x14 | AADN-2-0001  AAV-06-M35x11  80-T15
KAPR=75° & T

T
2
a
=
WF
B

= Y B

[BIBRAS)

LF

lllustrations shown may vary from actual product.

Dimensions in Inch 2 @

Insert

Ordering Code HF=H B LF LH WF T Screw Shim Shim Screw Torx Key
SCRCR 10 3A 0625 0625 4000 0620 0673 c%c"og'zrgga A015-M3.5x14 | AACN-2-0001  AAV-06-M35x11  80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93° % | LF
ﬁggﬂ gt T -
s - @;‘hj{:ﬂr
‘@ l w o
(2 J =
| 4 LKAPR
lllustrations shown may vary from actual product. .
- Q Jo)
Dimensions in Inch v & &&&\\ /
. _ Insert - .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SDJCR 06 2D-S 0375 0375 6000 0620 0375 DC-2151 4008-M2.5x6 - - 82-T08
: : : : : DC.. 070204 :
SDJCR 08 2D-S 0500 0500 6000 0620 0500 D 2151 4008-M2.5x6 - - 82-T08
: : : : : DC... 070204 :
SDJCR 08 3D-S 0500 0500 6000 0880 0500  DC-3252 40153511 - - 80-T15
: : : : : DC.. 117308 :
SDJCR 10 3B-S 0625 0625 4500 0880 0625 D%c.ﬁggg 4015-M3.5x14 | AADN-2-0001  AAV-06-M35x11  80-T15
SDJCL 06 2-S 0375 0375 6000 0620 0375 D 2151 4008-M2.5x6 . . 82-T08
: : : : : DC.. 070204 :
SDJCL 08 2-S 0500 0500 6000 0620 0500 DC-2151 4008-M2.5x6 - - 82-T08
: : : : : DC.. 070204 :
SDJCL 08 3D-S 0500 0500 6000 0880 0500  DC-3252 4045 M3 5x11 - - 80-T15
: : : : : DC.. 117308 :
SDJCL 10 3-S 0625 0625 4500 0880 0.625 D%C'a?%ﬁs 4015-M3.5x14 | AADN-2-0001  AAV-06-M35x11  80-T15
KAPR=62.5° ;I ﬁ E
i I(‘(gﬂ
~_ e
.. .. ) ‘-I-L
- f - 69 =@ mI
o P
! | KAPR
- LH
LF
lllustrations shown may vary from actual product. "
Dimensions in Inch " @ —/ \\\\\\\‘ /
. _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SDPCN 06 2D 0375 0375 6000 0620 0187  DC-2151 4008-M2.546 - - 82-T08
: : : : : DC.. 070204 :
SDPCN 08 2D 0500 0500 6000 0620 0250  DC-2191 4508 Mo 5k i : 82708
: : : : : DC.. 070204 :
SDPCN 08 3D 0500 0500 6000 0880 0250  DC-3252 4015 351 . - 80-T15
: : : : : DC.. 117308 :
SDPCN 10 3D 0625 0625 6000 0880 0313 D?;C'i?'zrggs A015-M3.5x14 | AADN-2-0001  AAV-06-M35x11  80-T15

76177




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=93°

LKAPR LF
llustrations shown may vary from actual product.
- 7 Q $O
Dimensions in Metric ~ & —/ &&\&\ Y
q _ Insert . .
Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key
DC.. 215.
SDJCR 0808 E07 8 8 70 10 D 4008-M2546 - - 82-T08
SDJCR 1010 EO7 10 10 70 12 OC.. 215., 4008-M2.5x6 - - 82-708
DC.. 0702... :
SDJCR 1212 FO7 12 12 80 16 DC.. 215.. 4008-M2.5x6 - - 82-708
DC.. 0702... :
SDJCR 1616 HO7 16 16 100 20 206 215 4008-M2.5x6 - - 82-T08
DC.. 0702... :
SDJCR 1212 F11 12 12 80 16 D%C'ﬁ??rg 4015-M3.5x14 | AADN-2-0001 | AAV-06-M3.5x11 80-T15
SDJCR 1616 H11 16 16 100 20 D%C'ﬁ% 4015-M3.5x14 | AADN-2-0001  AAV-06-M3.5x11 80-T15
SDJCR 2020 K11 20 20 125 25 D%C'ﬁg 4015-M35x14 | AADN-2-0001 | AAV-06-M3.5x11 80-T15
SDJCR 2525 M11 25 25 150 | 32 D%Cﬁ%g 4015-M35x14 | AADN-2-0001  AAV-06-M3.5x11 80-T15
SDJCR 3232 P11 32 32 170 | 40 D%C'iﬁg 4015-M35x14 | AADN-2-0001 | AAV-06-M3.5x11 80-T15
SDJCL 0808 EO7 8 8 70 10 — 4008-M2.546 . - 82-T08
DC.. 0702... :
SDJCL 1010 E07 10 10 70 12 DC.. 215.. 4008-M2.5x6 . - 82-T08
DC.. 0702... :
SDJCL 1212 Fo7 12 12 80 16 DC.. 215.. 4008-M2.5x6 . . 82-T08
DC.. 0702... :
SDJCL 1616 HO7 16 16 100 20 DC.. 215.. 4008-M2.546 . - 82-T08
DC.. 0702... :
SDJCL 1212 F11 12 12 80 16 D[())C“1 ﬁg 4015-M35x14  AADN-2-0001  AAV-06-M3.5x11 80-T15
SDJCL 1616 H11 16 16 100 | 20 D%C'ﬁ’% 4015-M3.5x14 | AADN-2-0001 | AAV-06-M3.5x11 80-T15
SDJCL 2020 K11 20 20 125 25 D'():C'ﬁ ﬁg 4015-M35x14  AADN-2-0001  AAV-06-M3 5x11 80-T15
SDJCL 2525 M11 25 25 150 32 D[éc'ﬁﬁg A015-M35x14 | AADN-2-0001 | AAV-06-M3 5x11 80-T15
SDJCL 3232 P11 32 3 170 40 D'é"ﬁ%g A015-M3.5x14  AADN-2-0001 | AAV-06-M3.5x11 80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93° e T LF
et

A = ﬂ
N y 5"."(!12
& 16 X
v J = -

" LKAPR

|

lllustrations shown may vary from actual product.

Dimensions in Metric ‘& &

Ordering Code HF=H B LF WF In clhl}swt:;tm c Screw Shim Shim Screw Torx Key
SDJCR 0808 X07-S 08 08 | 115 08 - 218 4008-M2.5x6 - - 82-T08
SDJCR 1010 X07-S 10 10 115 10 e 4008-M2.5x6 - - 82-08
SDJCR 1212 GO7-§ 12 12 90 12 - 218 4008-M2.5%6 - - 82-T08
SDJCR 1212 X07- 12 12 130 12 el 4008-M2.5x6 - - 82-08
SDJCR 1616 FO7-S 6 16 75 16 . 215 4008-M2.5x6 - - 82-T08
SDJCR 1616 X07-S 16 16 130 16 e 4008-M2.5x6 - - 82-08
SDJCR 2020 X07-S 20 20 | 120 20 . 215 4008-M2.5%6 - - 82-T08
SDJCR 1212 G11-§ 12 12 9 12 o2C-325 1 4015-M3.511 - - 80-T15
SDJCR 1212 X11-S 12 12 130 12 ooC-, 328 4015-M3.5x11 - - 80-T15
SDJCR 1212 K11-S 12 12 125 12 p2C-328  4015-M3.5x11 - - 80-T15
SDJCR 1616 F11-S 6 16 75 16 o2C-325 | 4015-M3.511 - - 80-T15
SDJCR 1616 X11-S 16 16 130 16 el 4015-M3.5x11 - - 80-T15
SDJCR 1616 K11- 16 16 125 16 o2C-325 1 4015-M3.5¢11 - - 80-T15
SDJCR 2020 X11-S 20 20 120 20 o2C-325 1 4015-M3.511 - - 80-T15
SDJCL 0808 X07-§ 8 | 08 | 115 08 - 218 4008-M2.5%6 . . 82-T08
SDJCL 1010 X07-S 10 10 115 10 el 4008-M2.5x6 - . 82-708
SDJCL 1212 GO7-S 12 12 90 12 . 21 4008-M2.5%6 - - 82-T08
SDJCL 1212 X07-8 12 12 130 12 Al 4008-M2.5%6 - - 82-T08
SDJCL 1616 FO7-S 6 16 75 16 . 215 4008-M2.5x6 - - 82-708
SDJCL 1616 X07-S 16 16 130 16 sy 4008-M2.5x6 - - 82-08
SDJCL 2020 X07-S 20 20 120 20 - 218 4008-M2.5x6 - - 82-08
SDJCL 1212 G11-S 12 12 90 12 o2C- 325 4015-M3.5¢11 - . 80-T15
SDJCL 1212 X11-§ 12 12 130 12 oo 323 4015-M3.5x11 - - 80-T15
SDJCL 1212 K11-§ 12 12 | 125 12 el 4015-M3.5x11 - - 80-T15
SDJCL 1616 F11-S 6 16 75 16 o2C-325 | 4015-M3.511 - - 80-T15
SDJCL 1616 X11-S 16 16 130 16 oRC-325 | 4015-M3.5¢11 - - 80-T15
SDJCL 1616 K11-§ 16 16 | 125 16 poC-, 328 4015-M3.5x11 - - 80-T15
SDJCL 2020 X11-§ 20 20 120 20 o2C- 325 4015-M3.5¢11 - . 80-T15
78/79




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=93° w o
K4
b D
® W A .
N, : 8
LF
lllustrations shown may vary from actual product. "
A Q O
Dimensions in Inch ~ & g &&&\\ /
) _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SDUCR 10 3A 0625 0625 4000 0620 0871 D[();C'iﬁg(z)s 4015-M35x14 | AADN-2-0001 | AAV-06-M35x11  80-T15
SDUCL 10 3A 0625 0625 4000 0620 0871 D?:C'iﬁgga 4015-M35x14  AADN-2-0001  AAV-06-M35x11  80-T15
i i )
o Ks 16
g o
[,
£

R
@

LF

lllustrations shown may vary from actual product.

- 5O
Dimensions in Inch - & /
. _ Insert .
Ordering Code HF=H B LF WF LU Inch/Metric Screw Shim Torx Key
SRACR 16 3D 1000 | 1000 & 6000 = 1.020 | 1.000 ﬁg"ggz%' 4015-M3.5x12 SR3 80-T15
RC.. 325.
SRACR 20 3 1250 1250 6000 120 1000 3% 4015-M3.5x12 SR3 80-T15
SRACR 16 4D 1000 1000 = 6000 = 1020  1.000 Rgc'iggéi 4015-M4x05x14 SR4 80-T15
SRACR 20 4D 1250 1250 = 6000 1270 | 1.000 RFSCHE‘SA 4015-MAx05x14 SR4 80-T15
SRACR 24 4D 1500 = 1500 = 6000 1520 | 1.000 Rgc'igg'zi 4015-M4x05x14 SR4 80-T15
SRACR 16 2D 1000 = 1000 = 6000 1020 | 1.000 i 2l 4108-M2.5%6.5 - 82-T08
RC.. 0602.
RC.. 215.
SRACR 20 2D 1250 1250 | 6000 1270 | 1.000 4108-M2.5%6.5 : 82-T08
RC.. 0602.
RC.. 325.
SRACL 20 3D 1250 1250 6000 120 too0 3% 4015-M3.5x12 SR3 80-T15
SRACL 16 4D 1000 = 1000 = 6000 = 1020  1.000 RFSCHE‘%A 4015-M4x05x14 SR4 80-T15
SRACL 20 4D 1250 1250 6000 1270  1.000 Rgc'iggi 4015-MAx05x14 SR4 80-T15
SRACL 24 4D 1500 = 1500 = 6000 1520 | 1.000 Rgc'igg'zi 4015-M4x05x14 SR4 80-T15
SRACL 16 2D 1000 1000 = 6000 1020 | 1.000 e 2l 4108-M2.5%6.5 - 82-708
RC.. 0602.
RC.. 215.
SRACL 20 2D 1250 1250 | 6000 1270 | 1.000 4108-M2.5%6 5 i 82708
RC.. 0602.
O AKKO
S

USA INC.



S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

e SRDCN
o |
S o L
';. | @ '. EL‘ E
. Lu,| ©

LF |
llustrations shown may vary from actual product.
- © S,
Dimensions in Metric — & @ &&&\\ J
H — Insert
Ordering Code HF=H B LF LU WF Inch/Metric Screw Wedge Clamp  Clamp Screw Torx Key
SRDCN 1616 HO6 6 | 16 | 100 15 8 RC..215. ' 3008-M2.5%6 . - 82-T08
RC.. 0602. :
SRDCN 2020 K06 20 2 125 17 10 RC. 215 5408 M2 56 - . 82-T08
RC.. 0602. :
SRDCN 2525 M06 25 25 450 | 17 | 125 | [PC-215. 1 4008 1o 5x6 . - 82-T08
5 Re. 0602, :
SRDCN 1616 HO8C % 16 100 15 8 HC. 0803 3008-M3x8 ACK-15  4015-M35x11  82-T08
SROCN 2020 K0SC 20 2 125 20 0 ol 3008-M3x8 ACK-15 | 4015-M35x11 | 82-T08
SRDCN 2525 M0SC 25 25 150 20 125 o oo 3008-M3x8 ACK-15 4015-M35x11  82-T08
SROCN 1616 H10C % | 16 100 20 8 feora. | AUISMBSAT | ACKAS | 4015MBST 80TIS
SRDCN 2020 K10C 20 20 125 20 0 ooojo. 40ISM3ST ACKS  ADISMBS1 8015
SRDCN 2525 M10C 25 25 150 20 | 125 oo o 40ISM3ST | ACK1S  401SMBSI1 | 80TIS
SRDCN 3232 P10C 2 % 170 2 16 oo o 4015M35A1 | ACKS  401SM3SI1 0TS
SRDCN 2020 K12C 20 2 125 2 10 RFSCHE'SA 4015-M35x11 | ACK-05 4015-Mdx11 80-T15
SRDCN 2525 M12C 25 25 150 22 | 125 R?:C'iggii 4015-M35x11  ACK-05 4015-Mdx11 80-T15
SRDCN 3232 P12C 2 %2 40 2 16 RFC‘CH‘Z‘SX 4015-M35x11 | ACK-05 4015-Max11 80-T15
SRDCN 2525 M16C 25 25 150 32 125 oo oo 1020M5d ACK-05 4015-Mdx11 80-T20
SRDCN 3232 P16C 2 % 0 % 6 oo 102051 ACK-05 4015-Mdx11 80-T20
SRDCN 2525 M20C 25 25 150 32 125 o oo 1420-Mexl6 ACK-09  AAV-05-M6x15  80-T20
SRDCN 3232 P20C 22 32 A0 40 16| oo 1420-M6x16 ACK-09 | AAV-05-M6xi5  80-T20
SRDCN 3232 P25C 2 3% 170 40 16 Rgc.égg; 1520-M6x16 ACK-09  AAV-05-M6xi5  80-T20
SRDCN 3232 P32C 22 32 A0 45 16 oo osoo 190AMBXX0 | ACK0D | AAVOSMEXS  AAL0S4

80/81




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

HF

< 9
= 19 Qc'ﬁ“"" - / =

@1 [

WF

LF

lllustrations shown may vary from actual product.

QD
S (@) 55
Dimensions in Inch — & /

ii — Insert .
Ordering Code HF=H B LF LH WF LU Inch/Metric Screw Shim Torx Key
SRCCR 12 2B 0750 | 0750 4500 1660 1000 0810 SCoZS 4108-m2565 : 82708
SRCCR 16 2D 1000 1000 6000 1660 1250 0810  [o-2lS 410825065 . 82-T08
SRCCR 12 38 0750 0750 4500 1.880  1.000  1.200 F:‘CC"0392T‘F’3' 4015-M3.5x12 SR3 80-T15
SRCCR 16 3D 1000 1000 6000 1.880 1250 1.200 F?é)"o?’ngsé' 4015-M3.5x12 SR3 80-T15
RC.. 325..
SRCCR 20 3D 1250 | 1250 6000 1880 1500 | 1200 %25 4015-M3.5x12 SR3 80-T15
SRCCL 16 2D 1000 1000 6000 1.660 1250 0.810 Eg" 5&?2 4108-M2.5%6.5 : 82-708
SRCCL 16 3 1000 | 1000 6000 1880 1250 1200 o5 4015-M3.5x12 SR3 80-T15
SRCCL 20 3D 1250 1250 6000  1.880 1500 1.200 F?cc"oangss" 4015-M3.5x12 SR3 80-T15

HF

_ W = SRGCR
0

L P.{_R 10
RY
% @9 : KAPR
- = o
I LF

llustrations shown may vary from actual product.

o
- §O
Dimensions in Inch - & /

Insert

Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Torx Key

SRGCR 12 28 0750 = 0750 @ 4500 = 0400 | 1.000 Sg 3&32 4108-M2.5x6.5 - 82-T08
RC.. 215.

SRGCR 16 2D 1000 1000 = 6000 0400 1250 . 2 4108-M2.5%6.5 : 8208
RC.. 325.

SRGCR 16 3D 1000 | 1000 = 6000 = 0410 | 1250 . 4015-M3.5x12 SR3 80-T15

SRGCR 20 3D 1250 | 1250 6000 0430 1500 ,55'0392% 4015-M3.5x12 SR3 80-T15
RC.. 215.

SRGCL 16 2D 1000 = 1000 = 6000 | 0400 & 1250 4015-M3.5x12 i 82-708
RC. 0602.
RC.. 325.

SRGCL 20 3D 1250 | 1250 6000 0430 1500 . o 4108-M2.546.5 SR3 80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

Wl
KAPR=90° Pl
g %IF - STGCR
M% ﬂlé it R T
| ﬂﬂ 1 !
L ERI =
Gﬂ* il W) §L o) ©
2 ©
KAPR LF -
lllustrations shown may vary from actual product.
A Q) $O
Dimensions in Inch —_— & &&\&\ /
5 _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
STGCR 10 3A 0625 0625 4000 1000 0750 TEC'ig$338 A015-M35x14 | AATN-2-0001 | AAV-06-M35x11  82-TH5
STGCR 12 38 0750 0750 4500 1.000 1.000 Tgc'ig?rggs 4015-M3.5x14  AATN-2-0001  AAV-06-M35x11  82-T15
STGCR 16 3D 1000 1000 6000 1000 1250 Tgc'ig'zrgga A015-M35x14 | AATN-2-0001  AAV-06-M35x11  82-T15
STGCL 10 3A 0625 0625 4000 1.000 0.750 TEC“@?SSB 4015-M3.5x14  AATN-2-0001 | AAV-06-M35x11  82-T15
STGCL 12 38 0750 0750 4500 1.000  1.000 TEC"12$§38 4015-M3.5x14 | AATN-2-0001  AAV-06-M35x11  82-T15
STGCL 16 3D 1000 1000 6000 1.000 1.250 T(T)C'ﬁg%gg A015-M35x14 | AATN-2-0001  AAV-06-M35x11  82-TH5
KAPR=91 A STGCR
e _a = =
P 1% | 7
; o s L] ‘
;s“ﬁg;{l ' o —
Dty @ﬁ“" = @
&
: _ LKAPR LF |
I ! -
lllustrations shown may vary from actual product. Q ,
- & 59
Dimensions in Metric — & \&\& /
. _ Insert . .
Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key
STGCR 1216 K11-S 12 16 | 125 16 TC. 215 4008-M2.5%6 - - 82-T08
1C.. 1102, :
STGCR 1616 K11-S 6 | 16 | 125 16 TC.. 215 4508-M2.5%6 - - 82-T08
1C.. 1102, :
1C.. 325.
STGCR 1216 K16-S 216 15 16 3 gpi5m3s - - 80-T15
TC.. 325.
STGCR 1616 K16-S 6 16 125 16 g 32 4015M351 - - 80-T15
STGCL 1216 K11-8 12 16 125 16 TC.. 215 4008-M2.5%6 - - 82-T08
TC.. 1102.. :
STGCL 1616 K11-S 16 16 | 125 16 TC.. 215 4008-M2.5x6 . . 82-T08
TC.. 1102.. :
1C.. 325.
STGCL 1216 K16-S 2 16 15 16 o 4015-M351 - . 80-T15
TC.. 325..
STGCL 1616 K16-S 6 16 15 16 g3 4015.M351 - . 80-T15
82/83




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=91°

é

%@ >
e
l\

lllustrations shown may vary from actual product.

Dimensions in Metric A & @D )

. _ Insert -
Ordering Code HF=H B LF WF Inch/Metric Screw Thread Pin Allen Key Torx Key
STGCR 1216 K16-SHC 12 16 | 125 16 TTé:"sz%' 4015-M3.5x11 | 2703-M6X4 AAL-03-3 80-T15
STGCR1616 K16-SHC 16 16 | 125 16 TTCC"1362T53" 4015-M3.5x11 | 2704-M8X1X5 = AAL-05-4 80-T15
STGCL 1216 K16-SHC 12 16 | 125 16 TTcC"1362T53" 4015-M35x11 | 2703-M6X4 AAL-03-3 80-T15
STGCL 1616 K16-SHC 16 16 125 16 TTg"fGQT%' 4015-M3.5x11 | 2704-M8X1X5 = AAL-05-4 80-T15
\
KAPR=93°

Ty
Q)
HF
"\-
\
H

) N\
- /(L -
= | %, S
" "% LF
llustrations shown may vary from actual product.
Dimensions in Inch -—2- & &&\&\ /
. _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
STJCR 06 2D-S 0375 0375 6000 0620 0375  _1C- 2151 4008-M2.546 . . 82-T08
: : : : : TC.. 110204 :
STJCR 08 2D-S 0500 0500 6000 0620 0500  1C- 2151 4008-M2.546 . . 82-T08
: : : : : TC.. 110204 :
STJCR 10 28-S 0625 0625 4500 0620 0625 102151 4008-M2.5x6 . . 82-T08
: : : : : TC.. 110204 :

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=90° : Shimil| E

KAPR
"
LF
lllustrations shown may vary from actual product.
Dimensions in Inch \w & &&\&\ /
5 _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SVABRO620-S | 0375 0375 6000 0880 0375 VB 22 4008-M2.5%6 i : 82708
: : : : : VB.. 110304 :
SVABRO82D-S 0500 0500 6000 0880 0500 o221 4008-M2.5x6 - - 82-T08
: : : : : VB.. 110304 :
SVABR103B-S | 0625 0625 4500 1380 0625 V8332 ' 4045 M35x11 - - 82-T15
: : : : : VB.. 160408 :
SVABL 06 20-S 0375 0375 6000 0880 0375 . -2 4008-M2.5x6 - - 82-T08
: : : : : VB.. 110304 :
SVABL 08 20-S 0500 0500 6000 0880 0500 . 221 4008-M2.5x6 - - 82-T08
: : : : : VB.. 110304 :
SVABL103B-S 0625 0625 4500 1380 0625 VP332 ' 4n15.M35x11 : : 8215
: : : : : VB.. 160408 :

84 /85




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

LF

KAPR=90° _ |

HF
LN

WF
®
N
L_B>

) A
| KAPR
lllustrations shown may vary from actual product.
o= Q) $O
Dimensions in Metric o & &&&\\ /
; _ Insert . .

Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key

SVACR 0808 X11-8 08 | 08 | 115 | 08 VC.. 22. 4008-M2.5x6 . . 82-T08
VC.. 1103.. :

SVACR1010 K11-S 10 10 125 10 VC.. 2. 4008-M2.5x6 . . 82-T08
VC.. 1103.. :

SVACR 1212 G11-S 12 12 e | 12 ve.. 22. 4008-M2.546 . . 82-T15
VC.. 1103.. :

SVACR 1212 K11-8 12 12 125 12 o 4008-M2.5x6 ; ; 82-T08
VC.. 1103.. :

SVACR 1616 F11-S % 16 75 16 ve.. 22. 4008-M2.546 . . 82-T08
VC.. 1103. :

SVACR 1616 K11-S 6 | 16 | 125 | 16 e 4008-M2.5x6 . . 82-T15
VC.. 1103.. :

SVACR 2020 K11-8 20 | 20 | 125 20 VC.. 22. 4008-M2.5x6 ; ; 82-T15
VC.. 1103. :

SVACR 1212 K16-S 12 12 15 12 VC..33. 4015.M3.5x11 - . 80-T15
VC.. 1604... :

SVACR 1616 K16-S 16 16 | 125 16 VC..38. 1 4015.M3.5x11 ; ; 80-T15
VC.. 1604... :

SVACL 0808 X11-S 8 08 115 08 e 22 4008-M2.546 . . 82-T08
VC.. 1103. :

SVACL 1010 K11-S 10 10 | 125 10 vC.. 22.. 4008-M2.5x6 ; ; 82-T08
VC.. 1103. :

SVACL 1212 G11-S 12 12 90 12 VC.. 22. 4008-M2.5x6 : - 82-T15
VC.. 1103. :

SVACL 1212 K11-S 12 12 15 12 VG.. 22.. 4008-M2.5x6 - - 82-T08
VC.. 1103. :

SVACL 1616 F11-S 6 16 75 16 U 2L 4008-M2.5%6 - - 82-708
VC.. 1103. :

SVACL 1616 K11-S 16 16 | 125 16 Ve.. 22. 4008-M2.5x6 - - 82-T15
VC.. 1103. :

Ve, 22.

SVACL 2020 K11- 20 20 125 20 4008-M2.5%6 - - 82-T15
VC.. 1103.

SVACL 1212 K16-S 12 12 125 12 VC.. 33. 4015-M3.5x11 - - 80-T15
VC.. 1604... :

SVACL 1616 K16-S 16 16 125 16 VC..33. 4015.M3.5x11 - - 80-T15
VC.. 1604... :

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

_
_ga° PR
KAPR=93 P LILLW %
s a
(0}
-_.‘.‘--ﬂ’
Yo,
Y % .
p
KAPR LF
lllustrations shown may vary from actual product. .
p— == Q $O
Dimensions in Inch - & &&\&\ ya
5 _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
VB.. 221
SVJBR 10 2A 0625 | 0625 4000 0880 0750 \J°0Zl 4008256 - - 82-T08
SVJBR 12 3B 0750 0750 4500 1380  1.000 Vg’ B'1'63034208 A015-M35x14  AAVN-2-0002  AAV-06-M35x11  82-T15
SVJBR 16 3D 1000 1000 6000 1380 1250 3'1'63034208 A015-M3.5x14 | AAVN-2-0002  AAV-06-M35x11  82-T15
VB.. 221
SVJBL 10 2A 0625 0625 4000 0880 0750 \J°iZ  4008-M256 - - 82-T08
SVJBL 12 38 0750 0750 4500 1380 = 1.000 Vg’ 85'5034208 A015-M3.5x14 | AAVN-2-0002  AAV-06-M35x11  82-T15
SVJBL 16 3D 1000  1.000 6000 1380 1.250 VQ’ 3'1'63034208 4015-M35x14 | AAVN-2-0002  AAV-06-M35x11  82T15
KAPR=93° | LF |
\ |
s | =
1- 5 - |
y | KAPR
lllustrations shown may vary from actual product. Q é
o O ~
Dimensions in Inch - & &\&\ /
. _ Insert . .
Ordering Code HF=H B LF LH WF Inch/Metric Screw Shim Shim Screw Torx Key
SVJBR 06 2D-S 0375 0375 6000 0930 0375 B 22 4008-M2.5x6 - - 82-T08
: : : : : VB.. 110304 :
SVJBR 08 2D-S 0500 0500 6000 0930 0500 b 22 4008-M2.5x6 - - 82-08
: : : : : VB.. 110304 :
SVJBR 10 3B-S 0625 0625 4500 1430 0625 . B-3%2 4045 Mm5x11 - - 82-T15
: : : : : VB.. 160408 :
SVJBL 06 2D-S 0375 0375 6000 0930 0375 B 22 4008-M2.5x6 - - 82-T08
: : : : : VB.. 110304 :
SVJBL 08 2D-S 0500 0500 6000 0930 0500 B 22 4008-M2.5x6 - - 82-T08
: : : : : VB.. 110304 :
SVJBL 10 3B-S 0625 0625 4500 1430 0625 . B-3%2 4045 M sxit - - 82-T15
: : : : : VB.. 160408 :

86/87




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

n-"mj
KAPR=93° o
"‘:'Il*‘k:;‘ % -
l' pﬂw
R
Y -.:525
B
o/ . ﬂ
&> £
\ KAPR LF :i
lllustrations shown may vary from actual product. - = @ @
Dimensions in Metric g & == & 4
. _ Insert . .
Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key
SVJBR 1212 F11 12 12 80 16 vB..22. 4008-M2.5%6 - 82-T08
VB.. 1103.. :
SVJBR 1616 H11 16 16 100 20 vB.. 22. 4008-M2.5%6 - 82-T08
VB.. 1103.. :
SVJBR 2020 K11 20 20 125 25 vB..22. 4008-M2.5%6 . 82-T08
VB.. 1103.. :
SVJBR 1616 H16 16 16 100 20 v\éBHggZ 4015-M35x12  AAVN-2-0002  AAV-08-M3.5x8 80-T15
SVJBR 2020 K16 20 20 125 25 . 4015-M3.5x14 | AAVN-2-0002 | AAV-06-M3.5x11 80-T15
SVJBR 2525 M16 25 25 150 32 . 4015-M3.5¢14 | AAVN-2-0002 | AAV-06-M3.5x11 80-T15
SVJBR 3232 P16 32 32 170 40 s 4015-M3.5x14 | AAVN-2-0002 | AAV-06-M3.5x11 80-T15
SVJBL 1212 F11 12 12 80 16 VB.. 22. 4008-M2.5%6 - 82108
VB.. 1103.. :
SVJBL 1616 H11 16 16 100 20 vB.. 22. 4008-M2.5x6 - 82-T08
VB.. 1103.. :
SVJBL 2020 K11 20 20 125 25 VB.. 22. 4008-M2.5%6 - 82108
VB.. 1103.. :
SVJBL 1616 H16 16 16 100 20 v\éB'iggi 4015-M35x12  AAVN-2-0002 = AAV-08-M3.5x8 80-T15
SVJBL 2020 K16 20 20 125 25 v\éB'iggi 4015-M3.5x14  AAVN-2-0002  AAV-06-M3.5x11 80-T15
SVJBL 2525 M16 25 25 150 32 v\éB'iggi 4015-M3.5¢14 | AAVN-2-0002 | AAV-06-M3.5x11 80-T15
SVJBL 3232 P16 32 32 170 40 v\éB'iggi 4015-M3.5x14  AAVN-2-0002  AAV-06-M3.5x11 80-T15
J
P d LF
KAPR=93° S | |
NS N j_ﬁ | I
¥ e =
r | KAPR
lllustrations shown may vary from actual product. "
‘ <,
Dimensions in Metric - & @1‘ ) /
5 _ Insert . .
Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key
VB..22..
SVJBR 1616 K11-S 16 16 125 16 gyt 4008-M25i6 - . 82-T08
VB..22..
SVJBL 1616 K11-S 16 16 125 160U 4008-M25:6 - - 82-T08

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

KAPR=93° : ‘ LF
e \ \ SVJCR
gf,n*‘ - " ‘ S (R
AR 0~ T *
w - : AN
{ ?
h \)
g | KAPR =
lllustrations shown may vary from actual product. "
== Q 4
Dimensions in Metric o § &&&\\ /
) B Insert . .
Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key
SVJCR 0808 X11-S 8 08 115 08 Ve.. 22. 4008-M2.546 - - 82-T08
VC.. 1103. :
SVJCR 1010 K11-S 10 10 125 10 o 4008-M2.5%6 . - 82-T08
VC.. 1103. :
SVJCR 1212 G11-S 12 12 90 | 12 ve.. 22. 4008-M2.5x6 - - 82-T15
VC.. 1103. :
SVJCR 1212 K11-S 12 12 15 12 e 4008-M2.546 - - 82-708
VC.. 1103. :
SVJCR 1616 F11-S 16 16 75 16 VG.. 22.. 4008-M2.5x6 . ; 82-T08
VC.. 1103. :
SVJCR 1616 K11-S 16 | 16 | 125 16 Y 22 4008-M2.5x6 - - 82-T08
VC.. 1103. :
SVJCR 2020 K11- 20 20 125 20 VC.. 22.. 4008-M2.5x6 - - 82-T08
VC.. 1103. :
SVJCR 1616 K16-S % 16 125 12 vgc'i g§4 A015-M3.5x11 | AAVN-2-0002  AAV-08-M358  80-T15
SVJCR 2020 K16-S 20 | 20 125 16 V(\;/C'i 2034 A015-M3.5x11 | AAVN-2-0002  AAV-06-M35x11 80-T15
SVJCL 0808 X11-8 8 08 115 08 . 22, 4008-M2.5x6 - - 82-T08
VC.. 1103.. :
SVJCL 1010 K11-8 10 10 | 125 10 ve.. 22. 4008-M2.5x6 . - 82-T08
VC.. 1103.. :
SVJCL 1212 G11-8 12 12 e 12 U2 4008-M2.5%6 - - 82-T15
VC.. 1103.. :
SVJCL 1212 K11-S 12 12 125 12 ve.. 22. 4008-M2.5x6 - - 82-T08
VC.. 1103.. :
SVJCL 1616 F11- 6 | 16 | 75 | 16 U 2 4008-M2.5x6 - - 82-708
VC.. 1103.. :
SVJCL 1616 K11-S 6 16 | 125 | 16 Ve.. 22. 4008-M2.5x6 ; - 82-T08
VC.. 1103.. :
SVJCL 2020 K11-S 20 20 125 20 vC.. 2. 4008-M2.5x6 - - 82-708
VC.. 1103.. :
SVJCL 1616 K16-S % 16 125 12 V(‘:’ 0'1' g’g’4 4015-M35x11 | AAVN-2-0002 | AAV-08-M3.5%8 80-T15
SVJCL 2020 K16-S 20 20 125 16 V(‘:’ 0'1' 284 4015-M35x11 | AAVN-2-0002  AAV-06-M35x11  80-T15

88/89




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

zPR—Q?) s
f'/ij)f .
rd T
llustrations shown may vary from actual product. "
Dimensions in Metric &= & @ ) 4
3 _ Insert i
Ordering Code HF=H B LF WF Inch/Metric Screw Thread Pin Allen Key Torx Key
SVJCR 1212 K11-SHC 12 12 15 12 v\(/:c'i %3 4008-M25%6 | 2703-M6X4 AAL-03-3 82-T08
SVJCR 1616 K11-SHC 16 16 125 16 iBa | 4008M256  2704-MEXIXS | AALOS4 82-T08
SVJCL 1212 K11-SHC 12 12 | 15 12 v\éc'i 22. | 4008M256 | 2703MeX4 | AAL03-3 82-T08
SVJCL 1616 K11-SHC 16 16 | 125 16 v\cloﬁgé 4008-M25%6 | 2704-MX1X5 = AAL-05-4 82-T08
KAPR=93° = @
KIh 2
R 10
P _

i =\e,

i ]

| LH

LF
lllustrations shown may vary from actual product.
- o= Q $O
Dimensions in Inch ~&= & = &&\\\ y
5 _ Insert . .
Ordering Code HF=H B LF LH Inch/Metric Screw Shim Shim Screw Torx Key
SVUBR 10 2A 0625 0625 4000 0500 0955 . /B-221 4008-M2.546 . . 82-T08
: : : : : VB.. 110304 :
SVUBL 10 2A 0625 0625 4000 0500 0955 /B2 4008-M2.546 . . 82-T08
: : : : : VB.. 110304 '

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

g3 A
KAPR=93 ) P
cf”g“ —_ P ?.‘-_-.. f :::’ :"" ELW -
Jdy
‘-:%le [LO‘M'“
y };{,—/ JA]L i ;i
: : KAPR
’— LF

llustrations shown may vary from actual product.

- o= © 5
Dimensions in Metric &= & & J
) _ Insert . .

Ordering Code HF=H B LF WF Inch/Metric Screw Shim Shim Screw Torx Key

SVVBN 1212 F11 12 12 80 06 VB.. 22. 4008-M2.5x6 - - 82-T08
VB.. 1103. :

SVVBN 1616 H11 16 16 100 08 UL 4008-M2.5x6 - - 82-T08
VB.. 1103. :

SVVBN 2020 K11 20 20 125 10 VB.. 2. 4008-M2.5%6 - . 82-T08
VB.. 1103. :

SVVBN 2020 K16 20 20 125 10 v\éB'iggli A015-M35x14 | AAVN-2-0002  AAV-06-M3.5x11 80-T15

SVVBN 2525 M16 25 25 150 | 125 v\éB'iggZ 4015-M35x14 | AAVN-2-0002 | AAV-06-M3.5x11 80-T15

SVVBN 3232 P16 32 2 170 16 VEB'@SA 4015-M3.5x14 | AAVN-2-0002  AAV-06-M3.5x11 80-T15

lllustrations shown may vary from actual product.

Dimensions in Metric

Ordering Code H B RE HBKW LH 0AL CNT THID Thread Pin Mounting Screw Allen Key
ASTB-1212-L84-H 12 12 4 95 16 84 M8X1X5 M4x0.7 2704-M8X1X5 | 2503-M4x12-C AAL-03-3
ASTB-1616-L90-H 16 16 1 9.5 16 90 M8X1X5 M4x0.7 2704-M8X1X5 = 2503-M4x12-C AAL-03-3

90/91




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

HF

|

llustrations shown may vary from actual product.

OAL
$O
Dimensions in Metric /

. Insert
Ordering Code HF WF RE LF 0AL Inch/Metric Screw Torx Key
SCLCR-12X43.3-06-H 118 8 02 27.3 433 CC.. 215.. 4008-M2.5%6 82-T08
: : : : : CC.. 0602. :
ce.. 215.
SCLCR-16X43.3-06-H 15.8 8 02 273 433 4008-M2.546 82-T08
CC.. 0602..
SCLCR-12X43.3-09-H 118 8 02 | 273 | 433 0C.. 325.. 4015-M3 548 80-T15
' : : : : CC.. 09T3. :
SCLCR-16X43.3-00-H 15.8 8 02 27.3 433 CG.. 325.. 4015-M3.5x8 80-T15
: : : : : CC.. 09T3. :
SCLCL-12X43.3-06-H 118 8 0.2 273 | 433 eC.. 219. 4008-M2.5%6 82-T08
: : : : : CC.. 0602.. :
SCLCL-16X43.3-06-H 15.8 8 02 27.3 433 b 215 4008-M2.5x6 82-T08
: : : : : CC.. 0602. :
SCLCL-12X43.3-09-H 118 8 02 27.3 433 CC.. 325. 4015-M3.5x8 80-T15
: : : : : CC.. 09T3. :
SCLCL-16X43.3-09-H 15.8 8 02 | 273 433 CC.. 325. 4015-M3 548 80-T15
: : : : : CC.. 09T3. :

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM EXTERNAL TURNING TOOLHOLDERS <

S
-
HF

= =
. Q/ﬁ
& er |
OAL
lllustrations shown may vary from actual product.
S
A £
Dimensions in Metric - & 4
i Insert
Ordering Code HF WF RE LF OAL Inch/Metric Screw Torx Key
SDJCR-12X43.3-07 118 8 02 27.3 433 DC.. 215. 4008-M2.5x6 82-T08
' : : : : DC.. 0702... :
SDJCR-12X43.3-07-H 118 8 02 27.3 433 2. . 4008-M2.5%6 82-T08
' : : : : DC.. 0702... :
SDJCR-16X43.3-07 15.8 8 02 273 433 DG.. 215., 4008-M2.5x6 82-T08
: : : : : DC.. 0702... :
SDJCR-16X43.3-07-H 15.8 8 02 273 433 U 2l 4008-M2.5x6 82-708
' : : : : DC.. 0702... :
DC.. 325
SDJCR-12X43.3-11 118 8 02 273 433 4015-M3.5%9 80-T15
DC.. 11T3.
DC.. 325
SDJCR-12X43.3-11-H 118 8 02 273 433 oo 4015-M3.5x9 80-T15
DC.. 325
SDJCR-16X43.3-11 15.8 8 02 273 433 4015-M3.5x9 80-T15
DC.. 11T3.
DC.. 325
SDJCR-16X43.3-11-H 15.8 8 02 273 433 oo 4015-M3.5%9 80-T15
SDJCL-12X43.3-07 118 8 02 273 433 DC.. 215. 4008-M2.546 82-T08
' : : : : DC.. 0702... :
SDJCL-12X43.3-07-H 118 8 02 273 433 o 2. 4008-M2.546 82-T08
' : : : : DC.. 0702... :
SDJCL-16X43.3-07 15.8 8 02 273 433 DC.. 215.. 4008-M2.546 82-T08
' : : : : DC.. 0702... :
DC.. 215.
SDJCL-16X43.3-07-H 15.8 8 02 27.3 433 4008-M2.546 82-T08
DC.. 0702...
DC.. 325
SDJCL-12X43.3-11 1138 8 02 27.3 433 4015-M3.5%9 80-T15
DC.. 11T3.
DC.. 325
SDJCL-12X43.3-11-H 118 8 02 273 433 oo 4015-M3.5x9 80-T15
DC.. 325
SDJCL-16X43.3-11 15.8 8 02 27.3 433 4015-M3.5x9 80-T15
DC.. 11T3.
DC.. 325
SDJCL-16X43.3-11-H 15.8 8 02 273 133 I 4015-M3.5%9 80-T15

92/93




> S-SYSTEM EXTERNAL TURNING TOOLHOLDERS

KAPR=9: .

£
&/ KPR P
0AL
lllustrations shown may vary from actual product.
£
Dimensions in Metric o & /
. Insert
Ordering Code HF WF RE LF 0AL Inch/Metric Screw Torx Key
\VC.. 22..
SVJCR-12X43.3-11 11.8 8 0.2 27.3 43.3 VC.. 1103 4008-M2.5x6 82-T08
SVJCR-12X43.3-11-H 118 8 02 273 433 o 4008-M2.5x6 82708
\VC.. 22..
SVJCR-16X43.3-11 15.8 8 0.2 27.3 43.3 4008-M2.5x6 82-T08
VC.. 1103..
SVJCR-16X43.3-11-H 15.8 8 02 273 433 o 4008-M2.5x6 82708
VC.. 22..
SVJCL-12X43.3-11 11.8 8 0.2 27.3 433 4008-M2.5x6 82-T08
VC.. 1103..
\VC.. 22..
SVJCL-12X43.3-11-H 11.8 8 0.2 27.3 43.3 VC.. 1103 4008-M2.5x6 82-T08
SVJCL-16X43.3-11 158 8 02 273 433 ez 4008-M2.5x6 82708
\V(C.. 22..
SVJCL-16X43.3-11-H 15.8 8 0.2 27.3 43.3 VC.. 1103 4008-M2.5x6 82-T08
£
LF
0AL
lllustrations shown may vary from actual product. "
" e © A
Dimensions in Metric 2.\ & \:W-/ &\&\& o /
. Right Left . Shim Screw
Ordering Code HF WF LF O0AL Insert Screw Shim Shim Shim Screw Ring Torx Key
SER-12x43.3-11 11.8 8 273 433 11 ER 4008-M2.5x6 - - - - 82-T08
SER-16x43.3-11 15.8 8 273 433 11ER 4008-M2.5x6 - - - - 82-T08
TER-16x43.3-16 15.8 8 273 433 16 ER 1710-U5-40x12.2 = ATS-16E | ATS-161 = AAV-11-U5-40x4.5  ABPL-03 82-T10
SEL-12x43.3-11 11.8 8 273 433 11EL 4008-M2.5x6 - - - - 82-T08
SEL-16x43.3-11 15.8 8 27.3 | 433 11 EL 4008-M2.5x6 - - - - 82-108
TEL-16x43.3-16 15.8 8 27.3 433 16 EL 1710-U5-40x12.2 = ATS-16E = ATS-161 = AAV-11-U5-40x4.5 | ABPL-03 82-T10
O AKKO
=SS e——

USA INC.



O AKKO

1L 0.0 0 8 ¢
USAINC.

the spoken

D-SYSTEM

D SYSTEM BORING BARS




> BORING BARS DESIGNATION SYSTEM

[ 7ype of Boring Bar [2] Shank Diameter

0.1875 1.000
04 0.2500 20 1.250
05 0.3125 24 1.500
06 0.3700 28 1.750
08 0.5000 32 2.000
10 0.6250 36 2.250
12 0.7500 40 2.500

“A” Solid steel with coolant hole ()®
“E” Carbide bar with fixed steel head and coolant hole Q

“C” Carbide shank
“S” Steel shank

[3] Shank Length

E 3 R 8
/ G 35 s 10
/ / H 4 T 12
- = / / = - Jd 45 U 14
/ I L K 5 V 16
b L 5.5 w 18
LF M 6 Y 20
q N 6.5 P 6.75
Q 7 X Special
[4] method of Mounting of Insert
Top Clamping Without Hole Top and Hole Clamping Top and Hole Clamping Hole Clamping (Lever Lock) Serew on
C D M P S

O AKKO

2 S A0 0
USA INC.

www.akkousa.us




BORING BARS DESIGNATION SYSTEM <

w | = | O

C D E \'/ R
/\
S w K T

@ Tool Holder Shape Bar Geometry

B 7 S
— — 930 o
op
' . E Q P 8
%f'l 7?\ 107.5° \\1?3, ) Q

letsl |l

e ol || D AV

||

98/99




) D-SYSTEM BORING BARS

KAPR=90° e

(&

lllustrations shown may vary from actual product.

Dimensions in Inch ; ﬁ @ @ )

i Insert Wedge . . -
Ordering Code DCON H LF WF  DMIN CNT Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
AMGTDCFNR4 | 1.000 0.921 12000 0.640 1.300  1/4-18 NPT Cl\(l;N'1.24034208 ATK-02 | AKV-30-M6x22 | AACN-3-0001 = AAV-13-M5x8 | AS-01 | ABPL-01 | AAL-03-3
A24UDCFNR4 1500 1.378 14.000 0.890 1760 1/4-18 NPT CI\(I:N.1.24034208 ATK-02 | AKV-30-M6x22  AACN-3-0001  AAV-02-M5x12  AS-01  ABPLOT | AAL-03-3
KAPR=75° TCKNR
=KAPR 2
H ‘

lllustrations shown may vary from actual product.

Dimensions in Inch ; ﬁ g @ )

Insert Wedge

Ordering Code  DCON H LF  WF DMIN  CNT Inch/Metric  Clamp

Clamp Screw Shim Shim Screw Ring Stamp  Allen Key

A32V DCKNL 4 2.000 | 1.882 | 16.000  1.281 | 2.400 | 1/4-18 NPT CI\?N-1.24034208 ATK-02 | AKV-30-M6x22 = AACN-3-0001 = AAV-02-M5x12 | AS-01 | ABPL-01 = AAL-03-3
A32V DCKNL 5 2.000 1.882 16.000 1.281 2.400 1/4-18 NPT Cl\(I;N.1.65046312 ATK-04 = AKV-19-M7x25 AACN-3-0002 AAV-05-M6x15 = AS-02  ABPL-02 = AAL-05-4

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




D-SYSTEM BORING BARS (

KAPR=95°

lllustrations shown may vary from actual product.

Dimensions in Inch ; ﬁ g @ )

Insert Wedge

Ordering Code  DCON H LF WF  DMIN CNT Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
A16TDCLNR3 | 1.000 0.921 12.000 0.640 1200  1/4-18 NPT Cﬁ'_“bg‘?fszog ATKOT | AKV-01-M5x22 | AACN -2-0001  AAV-09-M5x9 = - | ABPLOT | AAL-03-3
AT6TDCLNR4 1000 0.921 12000 0640 1200 1a-18NPT C:M92 1 ATicO2  AKV-30-M622 AACN-30001  AAV-I3MSXE  AS-01  ABPLOT AALO3-3
A20UDCLNR4 | 1250 1170 14000 0765 1470 1/a-18NeT CN-M32 1 ATOp | AKV:30-MB22 | AACN-3-0001 | AAV-02MSKI2| AS-01 | ABPLOT | AALO3-3
A24UDCLNR4 | 1500 1378 14000 0890 1760 1/a-18NPT CN: M2 1 ATkO2 | AKV-30-M62 AACN-30001 AAV-02-MSK12| AS-01 | ABPLOT AALO3-3
A24UDCLNR5 | 1500 1.378 14.000 0.890 1.760 | 1/4-18 NPT cn?'.qi'eso46312 ATK-04 | AKV-19-M7x25 | AACN-3-0002 | AAV-05-M6x15 AS-02 | ABPL02 | AAL-05-4
A28UDCLNR4 1750 1632 14000 1015 2010 1/a-18NPT SN M92 ATz | AKV-30-M622 AACN-30001 AAV-02MSKI2| AS-01 | ABPLOT AALO3-3
A32UDCLNR4 | 2000 1882 16000 1281 2400 1/a-18NPT CN-132 1 ATop | AKV:30-MB22 | AACN-3-0001 | AAV-02MSKI2| AS-01 | ABPLOT | AALO3-3
A32UDCLNRS 2000 1882 16000 1281 2400 1/4-18NPT -2 ATKO4 | AKVAGM7C2S  AACN-30002 AAV-OS-MEKIS AS-02 | ABPLO2  AALO5-4
A4OVDCLNR4 | 2500 2.374 16.000 1531 3.030  1/4-18 NPT Cl\(l:.'.\l{24034208 ATK-02 | AKV-30-M6x22 | AACN-3-0001  AAV-02-M5x12  AS-01 | ABPLOT | AAL-03-3
AT6TDCLNL4 1000 0.921 12000 0640 1200 1a-18NPT oS- M2 1 ATicO2  AKV-30-M62 AACN-30001  AAG-I3MSXE AS-01  ABPLOT AALO3-3
A20UDCLNL4 | 1250 1170 14000 0765 1470 1/a-18NeT CN:t32 1 ATcon | AKV:30-MB22 | AACN-3-0001 | AAV-02MSKI2| AS-01 | ABPLOT | AALO33
A24UDCLNL4 1500 1378 14000 0890 1760 1/a-18NPT o CN:M92 1 ATz AKV-30-MB2 AACN-30001 AAV-02MSKI2| AS-01  ABPLOT AAL03-3
A28UDCLNL4 | 1750 1632 14000 1015 2010 1/a-18NeT CN-t2 1 ATcop | AKV-30-MB22 | AACN-3-0001 | AAV-02MSKI2| AS-01 | ABPLOT | AALO33
A32UDCLNLA 2000 1882 16000 1281 2400 14-18NPT .92 ' ATkcO2 | AKV-30-M62 AACN-30001 AAV-02-MSK12| AS-01  ABPLOT AALO3-3
A4OVDCLNL 4 | 2500 2.374 16.000 1531 3.030  1/4-18 NPT cn?'.qi'24034208 ATK-02 | AKV-30-M6x22 | AACN-3-0001  AAV-02-M5x12  AS-01 | ABPLOT | AAL-03-3

CNT

KAPR=90° _ /0’ %S
) P E M-

DCON

EC

lllustrations shown may vary from | product. = ﬁ . \& @
Dimensions in Inch ‘ -— \\\\\\ \K/

: Insert Wedge . . .
Ordering Code DCON H LF WF  DMIN CNT Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
AT6TDTFNR3  1.000 0921 12000 0640 1200 1/4-18npT | [ M-392 1 Aot  aKvot-MSx2 | ANTN-2.0002 | AAVO3MSX2 - | ABPLOT  AAL033

100/101




) D-SYSTEM BORING BARS

KAPR=93°

lonT

DCON

lllustrations shown may vary from actual product.

Dimensions in Inch ; ﬁ & @ @ )

Insert Wedge

Ordering Code DCON H LF WF  DMIN CNT Inch/Metric Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key

A16TDDUNR3 | 1.000 0921 12.000 0.750 1.300  1/4-18 NPT DI\[I)N'1-13034208 ATK-01 | AKV-01-M5x22 | AADN-2-0001 | AAV-09-M5x = - | ABPL-01 | AAL-03-3

A20UDDUNR3 1250 1170 14.000 1.000 1.705 1/4-18 NPT D,\?N{13034208 ATK-01 | AKV-01-M5x22 | AADN-2-0001 AAV-09-M5x9 - ABPL-OT  AAL-03-3

A20UDDUNR4 | 1.250 1170 14.000 1.000 1705 1/4-18 NPT DN-432 ' amioo | akveso-Mexe2 | AADN-2-0003 | AAV02 1 asor | ABPLOT | AAL-03-3
250 1. 000 | 1.000 1. DN.. 150408 M5x12

A24UDDUNR4 1500 1378 14.000 1125 2.000 1/4-18 NPT ~DN-432 ' prioo  akveso-Mexe2 | AADN-2-0003  ARV0Z s oi ABPLOT | AAL-03-3
A LU el DN.. 150408 M5x12

A32VDDUNR4 | 2000 1.882 16.000 1375 2500 1/4-18npT DN-432 ' smeoo | akv-3o-mexe2 | AADN-2-0003  AAV-02- 1 s o1 | ABPL-O1 | AAL-03-3
000 1. 000 | 1.375 | 2. DN.. 150408 M5x12

A16TDDUNL3  1.000 0921 12.000 0750 1.300 1/4-18 NPT DI\[IJN'1.13034208 ATKO1 | AKV-01-M5x22  AADN-2-0001  AAV-09-M5x9 - ABPLO1  AAL-03-3

A20UDDUNL3  1.250 1.170 14.000 1.000 1705 1/4-18 NPT DB?N{13034208 ATK-OT | AKV-01-M5x22 | AADN-2-0001 | AAV-09-M5x9 = - | ABPLO1  AAL-03-3

A20UDDUNL4 1250 1170 14.000 1.000 1705 1/4-18 NPT DN-432 © pmoo  akveso-Mexe2 | AADN-2-0003  ARV-02 1 as o1 ABPLOT | AAL-03-3
A1 AL D DN.. 150408 M5x12

A24UDDUNL4 | 1500 1.378 14.000 1125 2.000 1/4-18 NPT - ON-432 ' prioo | akveso-Mexe2 | AADN-2-0003 | ARV0Z 1 asor | ABPLOT | AAL-03-3
500 (1. 00011125 | 2. DN.. 150408 M5x12

A32VDDUNL4 2000 1.882 16.000 1375 2500 1/4-18npT DN-432 © smoo  akvso-mexe2 | AADN-2-0003  AAV-02- s o1 | ABPL-OT | AAL-03-3
. A et & DN.. 150408 M5x12

KAPR=93°

é

&
l"?
)

-
7

lllustrations shown may vary from actual product.

Dimensions in Inch ; ﬁ g @ @ )

Insert Wedge

Z

Ordering Code  DCON  H LF WF  DMIN CNT Inch/Metric  Clamp Clamp Screw Shim Shim Screw Ring Stamp  Allen Key
A20UDVUNR3 1250 1170 14000 1000 1705 va-ineT o392 1 aTcor | AKVOIMSx2 | AAWN-2-0002 | AMV03MSKI2| - | ABPLOT  AAL033
A24UDVUNR3 1500 1378 14000 1125 2000 1/a-18NPT o392 1 ATiO1 | AKVOIMSX2 AAWN-20002 AAV-03MSKI2 - | ABPLOT AALO3-3
A24UDVUNL3 | 1500 1378 14000 1125 2000 1/a-1NeT o392 1 aTor | AKVOIMSX22 | AAWN-20002 | AAV-03MSKI2| - | ABPLOT | AALO3-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




O AKKO

1. 0.0 0.8 ¢
USAINC.

the spoken quality... | M -S YS TE M

M-SYSTEM BORING BARS

100/103




) M-SYSTEM BORING BARS

KAPR=95°

2
=D
>
%
*
CNT

&

LF

lllustrations shown may vary from actual product.

- Q)
Dimensions in Inch P ﬁ ) E@I/ )

i Insert Wedge Clamp . .

Ordering Code DCON H LF WF  DMIN CNT Inch/Metric Clamp Screw Allen Key Shim Lock Pin  Allen Key
ON.. 322 AAL-16-

A16T MCLNR 3 1000 | 0921 12000 0640 1200 14-18NPT M- 322 CK-6 STC-5 gyl . KL-33 | AAL-18-5/64

A16T MCLNR 4 1000 0921 12000 0640 1.200 1/4-18 NPT CI\?N.1.24034208 CK-20 STC-11 | AAL14-1/8 - Kl-44  AAL-16-3/32

A20U MCLNR 4 1250 1170 14000 0765 1470 | 1/4-18 NPT CI\?N'1.24034208 CK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL-46  AAL-16-3/32
CN.. 543 AAL-17-

A24UMCLNRS 1500 1378 14000 0890 2000 t4-tgneT (NS ko STC-4 Sy | [CSNE3 | KLSB | AAL141B

A24UMCLNR4 1500 1378 14000 0890 1760  4-1gneT (NN oo STC-20 | AAL14-1/8 | ICSN-433 | KL-46  AAL-16-3/32

A2BUMCLNR4 1750 1632 14000 1015 2010 14-1gner (NN oo STC-20 | AAL-14-1/8  ICSN-433  KL-46  AAL-16-3/32
ON.. 543 AAL-17-

A32V MCLNR 5 2000 1882 16000 1281 2400 14-18NeT V58 1 gk STC-4 Sy | [CSNE33 | KLSB | AAL1A-1

AS2UMCLNR4 2000 1882 16000 1281 2400 14-1gneT MM oo STC-20 | AAL-14-1/8  ICSN-433  KL-46  AAL-16-3/32
ON.. 643 AAL-17-

A32V MCLNR 6 2000 1882 16000 1281 2400 14-18NeT O8I 1 gkq STC-4 Sy | IOSN-G33 | KL6S | AAL19-9/64

AJOVMCLNR4 2500 2374 16.000 1531 3.030 1/4-18 NPT cn?Ni'24034208 CK-20 STC-20 | AAL14-1/8  ICSN-433  KL-46 | AAL-16-3/32
ON.. 543 PAL-17-

A40V MCLNR 5 2500 2374 16000 1531 3030 14-18NeT V53 1 giq STC-4 Sy | [CSNE3 | KLSB | AAL1A-1S

A40V MCLNR 6 2500 | 2374 16000 1531 3030 1/4-1gnpr  CN-643 CK-12 stc-4 | MU 0oN633 | KL68 | AAL19-9/64

CN.. 190612 5/32

ON.. 322 AAL-16-

A16T MCLNL 3 1000 | 0921 12000 0640 1200 a-tgner | N 52Z CK-6 STC-5 gy - KL-33  AAL-18-5/64

A16T MCLNL 4 1000 0921 12000 0640 1200  1/4-18 NPT cn?Ni'24034208 CK-20 STC-11 | AAL14-1/8 . K44 AAL16-3/32

A20U MCLNL 4 1250 | 1170 14000 0765 1470 | 1/4-18 NPT cn?Ni'24034208 CK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL46  AAL-16-3/32
CN.. 543 AAL-17-

A24U MCLNL 5 1500 1378 14000 0890 2000 14-18NT M8 gk STC-4 Sy | ICSNEI | KLSB | AAL1A-1B

A24U MCLNL 4 1500 | 1.378 14000 0.890  1.760 | 1/4-18 NPT cn?Ni'24034208 CK-20 STC-20 | AAL-14-1/8 | ICSN-433 | KL46  AAL-16-3/32

A28U MCLNL 4 1750 | 1.632 14000 1.015 2010  1/4-18 NPT CA?N{24034208 CK-20 STC-20  AAL-14-1/8  ICSN-433  KL46  AAL-16-3/32
ON.. 543 AAL-17-

A32V MCLNL 5 2000 1882 16000 1281 2400 118N M58 gk STC-4 Nop | ICSNE33 | KLSB | AAL14-1

A32V MCLNL 4 2000 1882 16.000 1.281 2.400  1/4-18 NPT cﬁNi'24034208 CK-20 STC-20 | AAL-14-1/8  ICSN-433  KL46  AAL-16-3/32
ON.. 643 PAL-17-

A32V MCLNL 6 2000 1882 16000 1281 2400 14-18NeT MO8 gk STC-4 Lo ICSN633 | KL6B | AAL19-9/64

A40V MCLNL 4 2500 2374 16.000 1531 3.030  1/4-18 NPT cn?Ni'24034208 CK-20 STC-20  AAL-14-1/8  ICSN-433  KL46  AAL-16-3/32
ON.. 543 AAL-17-

A40V MCLNL 5 2500 2374 16000 1531 3030 1a-18NeT M58 gk STC-4 Nop | ICSNEI3 | KLSB | AALTA-1

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



M-SYSTEM BORING BARS (

o : '--I?N
KAPR=62.5 o
=
) o
W) o
j 2
L LF
lllustrations shown may vary from actual product.
- <D = D
Dimensions in Inch < ﬁ ’\\\\ @\’\\3\‘\
i Insert Wedge Clamp . .
Ordering Code DCON H LF WF  DMIN CNT Inch/Metric Clamp Screw Allen Key Shim Lock Pin  Allen Key
A20UMDPNR4 | 1250 1170 14000 1.000 1.705  1/4-18 NPT D,E’Ni'54034208 CK-22 STC-20 | AAL-14-1/8 | IDSN-443 | KL-46L | AAL-16-3/32
A24UMDPNR4 1500 1378 14.000 1.125 2.000  1/4-18 NPT DI\[I)N.1'54034208 CK-22 STC-20  AAL-14-1/8  IDSN-443  KL46L  AAL-16-3/32
A20U MDPNL4 | 1250 | 1170 14.000 1.000 1705  1/4-18 NPT DI\IIJN.1I54034208 CK-22 STC-20 | AAL-14-1/8 | IDSN-443  KL-46L | AAL-16-3/32
A24U MDPNL 4 1500 | 1.378 14000 1.125 2000  1/4-18 NPT DNDN'1'54034208 CK-22 STC-20 | AAL-14-1/8  IDSN-443  KL46L  AAL-16-3/32
. ’:{ il o
KAPR=03° >
O . 7"{ &
o )
X
e ) &
[N
N
H
lllustrations shown may vary from actual product.
(=)
. D —=> D
Dimensions in Inch ~— ‘ﬂ @\\\\‘ @\'\\3\‘\
i Insert Wedge Clamp . .
Ordering Code DCON H LF WF  DMIN CNT Inch/Metric Clamp Screw Allen Key Shim Lock Pin  Allen Key
A16T MDUNR 3 1000 | 0921 12000 0750 1300 | 1/4-18 NPT Dl\?Ni'13034208 Ck-7 STC-5 | AAL-16-3/32 . KL-33L | AAL-18-5/64
A20U MDUNR4 1250 1170 14.000 1.000 1705 1/4-18 NPT Dl\[I]N'1'54034208 CK-12 STC-4  AAL-17-5/32 IDSN-443 = KL-46L  AAL-16-3/32
A24UMDUNR4 1500 1378 14000 1.125 2000  1/4-18 NPT D,\[]’Ni-54034208 CK-12 STC-4  AAL-17-5/32  IDSN-443 | KL-46L | AAL-16-3/32
A28U MDUNR4 1750 1632 14.000 1.250 2.250  1/4-18 NPT D,\?Ni'54034208 CK-12 STC-4  AAL-A7-5/32 IDSN-443  KL-46L  AAL-16-3/32
A32VMDUNR4 | 2000 | 1.882 16.000 1.375  2.500 | 1/4-18 NPT D,\?Ni-54034208 CK-12 STC-4  AAL-17-5/32  IDSN-443 | KL46L | AAL-16-3/32
A16T MDUNL 3 1000 | 0921 12000 0750 1300 & 1/4-18 NPT DI\IIJN.1.13034208 CK-7 STC-5 | AAL-16-3/32 - KL-33L | AAL-18-5/64
A20UMDUNL4 1250 1470 14000 1.000 1705  1/4-18 NPT Dl\[I)N-1.54034208 CK-12 STC-4 | AALA7-5/32  IDSN-443 | KL-46L | AAL-16-3/32
A24U MDUNL 4 1500  1.378 14000 1.125 2000  1/4-18 NPT D,\?Ni-54034208 CK-12 STC-4  AAL-17-5/32  IDSN-443 = KL46L  AAL-16-3/32
A28UMDUNL4 1750 1632 14000 1250 2.250  1/4-18 NPT DI\IIJN.1.54034208 CK-12 STC-4 | AAL7-5/32  IDSN-443 | KL-46L | AAL-16-3/32
A32VMDUNL4 2000 1882 16.000 1375 2500 1/4-18 NPT Dl\?Ni'54034208 CK-12 STC-4 | AAL-A7-5/32 IDSN-443 = KL-46L  AAL-16-3/32
104/105




) M-SYSTEM BORING BARS

KAPR=75°

[ lan
DCON

lllustrations shown may vary from actual product.

Dimensions in Inch & @ :@\\\\‘\\\\ ) ‘® @‘\\N\ )

Insert Wedge Clamp
Inch/Metric Clamp Screw

Ordering Code DCON H LF WF  DMIN CNT Allen Key Shim Lock Pin Allen Key

A20UMSKNR4 | 1250 | 1170 14000 0765 1470 14-18NPT SV M2 1 gk STC-4 | AAL-17-5/32 . K44 | AAL-16-3/32
A40V MSKNR 6 2500 2374 16.000 1531 3.030  1/4-18 NPT sﬁNi'g%‘eiz CK-12  STC-4 | AAL-I7-5/32  ISSN-633 | KL68 | AAL-19-0/64

KAPR=107.5° >

L an
DCON

©
-

lllustrations shown may vary from actual product.

= S 9
Dimensions in Inch V& A @\\® ) Q‘%\\‘\\\\ )

Ordering Code DCON H LF WF DMIN  CNT Inc'h"/ﬁ;'mc ‘gl‘;':'?: g':r';‘v'; AllenKey  Shim  LockPin  Allen Key
A20UMDONR4 | 1250 1170 14000 1.000 1705 14-18NPT | OV G2 | STC4 | AAL17532 | IDSN-A43 | KLdGL | AAL16-3/32
A24UMDONR4 1500 1378 14000 1125 2000 14-18NPT OV92 oo STC-4 | AAL7-5/32  IDSN-443  KL-46L | AAL-16-3/32
A20UMDONLA 1250 | 1170 14000 1000 1705 14-18NPT | OV-2 G2 | STC4  AAL17532 | IDSNA43 | KLdGL | AAL16-3/32
A24UMDONL4 1500 1378 14000 1125 2000 14-18NPT OV k12 | STC4  AALIZ532 IDSN-443 | KL4GL | AAL16-3/32

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




M-SYSTEM BORING BARS (

KAPR=90° P

&

CNT
DCON

lllustrations shown may vary from actual product.

Dimensions in Inch U ﬁ @\\\‘\\\\ ) A @‘\\\\ )

Insert Wedge Clamp

Ordering Code DCON H LF WF  DMIN CNT Inch/Metric ~ Clamp Screw

Allen Key Shim Lock Pin Allen Key

TN.. 332

A16T MTFNR 3 1000 | 0921 12000 0640 1220 1a-1gner M3 g STC-O | AAL16-3/32  ITSN-333 | KL33L | AAL-18-5/64
A20UMTFNR3 1250 1170 14000 0765 1470 ta-tgner N-392 0 gy STC-9  AAL16-3/32  ITSN-333 | KL-33L | AAL-18-5/64
A24UMTFNR3 1500 1378 14000 0890 1760  a-tgner | 32 gy STC-9 | AAL16-3/32 | ITSN-323 | KL-34L | AAL-18-5/64
A24UMTFNR4 1500 1378 14000 0890 1760 ta-tgnet N2 o STC-4 | AAL17-532  TSN-433 | KL46 | AAL-16-3/32
A2BUMTFNR3 | 1750 | 1632 14000 1015 2010  ta8ner 382 0 gy STC-9 | AAL16-3/32  [TSN-323 | KL-34L | AAL18-5/64
A2BUMTFNR4 1750 1632 14000 1015 2010 1atgner K2 g STC-4 | AAL17-5/32  [TSN-433 | KL46  AAL16-3/32
A32V MTENR 4 2000 1882 16000 1281 2400 ti-t8ner | [ MBZ T g STC-4 | AAL17-532 | ITSN-433 |  KL46 | AAL-16-3/32
A16T MTFNL 3 1000 0921 12000 0640 1220 1agner M3 gy STC-9 | AAL-16-3/32 - KL33L | AAL-18-5/64
106/107




) M-SYSTEM BORING BARS

KAPR=93°
_
<” =
o
& I I S
© s{} e s oot Q —————— v O
e 2w =S
H LF
lllustrations shown may vary from actual product. )
- <) = D
Dimensions in Inch ﬁ ) = @\’\\3\‘\
i Insert Wedge Clamp . .
Ordering Code DCON H LF  WF DMN  ONT || N Cams  Soew | Allnkey  Shm  LockPin  Allen Key
A20UMVUNR3 | 1250 1170 14000 1.000 1.705  1/4-18 NPT V,\“’N;63034208 CK-43 STC-4 | AAL7-5/32 | IVSN-322 | KL-34L | AAL-18-5/64
A24UMVUNR3 1500 1378 14000 1125 2.000 1/4-18 NPT Vl\\l/N'1.63034208 CK-43 STC-4 | AAL-17-5/532 | IVSN-322 | KL-34L | AAL-18-5/64
A32V MVUNR 4 2000  1.882 16.000 1375 2500  1/4-18 NPT Vl\\l/NéZ4034208 CK-43 STC-4 | AAL7-5/32 | IVSN-433 | KL-46 | AAL-16-3/32
AJOVMVUNRA 2500 2374 16.000 1750 3.250  1/4-18 NPT vr\\I/N524034208 CK-43 STC-4 | AAL-17-5532  IVSN-433 | KL46 | AAL-16-3/32
A20U MVUNL 3 1250 1470 14000 1.000  1.705  1/4-18 NPT Vl\\l/N.1.63034208 CK-43 STC-4 | AAL7-5/32 | IVSN-322 | KL-34L | AAL-18-5/64
A24UMVUNL3 1500 1378 14000 1125 2.000 1/4-18 NPT Vl\\l/N'1.63034208 CK-43 STC-4 | AAL-17-5532 | IVSN-322 | KL-34L | AAL-18-5/64
A32V MVUNL 4 2000  1.882 16.000 1375 2500  1/4-18 NPT vv\\1/N524034208 CK-43 STC-4 | AAL7-5/32 | IVSN-433 | KL-46 | AAL-16-3/32
AJOVMVUNL4 2500 2374 16.000 1750 3.250 1/4-18 NPT Vl\\l/Né;034208 CK-43 STC-4 | AAL-17-5532 | IVSN-433 | KL46 | AAL-16-3/32
i
KAPR=95° s
'I‘d E‘
¢ lla p u ) ] -
¥
£ —e— e f:::::::@jé
= 2 (| L 18
KAPR
LF
lllustrations shown may vary from actual product.
AR \\\ﬁ‘ ‘@ D
Dimensions in Inch & @ D = &
. Insert Wedge Clamp . .
Ordering Code DCON H LF WF  DMIN CNT Inch/Metric Clamp Screw Allen Key Shim Lock Pin  Allen Key
AMGTMWLNR3 | 1.000 0921 12000 0.640 1.200  1/4-18 NPT w\rluVNbeso%lzos CK-6 STC-5 | AAL-16-3/32  IWSN-322  KL34L | AAL-18-5/64
AGTMWLNR4 1000 0921 12000 0.640 1.220  1/4-18 NPT w\r,uVN634o34203 CK20 | STC-20 | AAL-14-1/8  IWSN-433  KL-46  AAL16-3/32
A24UMWLNR3 | 1500 1378 14.000 0.890 1760 | 1/4-18 NPT w\rluVNbeso%lzos CK-6 STC-5 | AAL-16-3/32  IWSN-322  KL34L | AAL-18-5/64
A20U MWLNR4 1250 1170 14.000 0765 1.470  1/4-18 NPT w\r,uVN634o34203 CK20 | STC-20 | AAL-14-1/8  IWSN-433  KL-46  AAL16-3/32
A24UMWLNR4 | 1500 1378 14.000 0.890 1760 1/4-18 NPT w\rluVN634o%1203 CK20 | STC-20 | AAL-14-1/8 | IWSN-433 = KL-46 | AAL-16-3/32
AGTMWLNL4 1000 0921 12000 0.640 1.220  1/4-18 NPT w\r,uVN634o34203 CK20 | STC-20 | AAL-14-1/8  IWSN-433  KL-46  AAL16-3/32
A20U MWLNL4 | 1250 1470 14000 0765 1470  1/4-18 NPT w\rluVN634o%1203 CK20 | STC-20 | AAL-14-1/8 | IWSN-433 | KL-46 | AAL-16-3/32
A24UMWLNL4 1500 1378 14000 0.890 1.760  1/4-18 NPT W\I<IVN684034208 CK20 | STC-20 | AAL-14-1/8  IWSN-433  KL-46  AAL16-3/32

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



O AKKO

——— 2 0 8 8 80—
USAINC.

the spoken quality... S-S YS TE M

S-SYSTEM BORING BARS

106/109




> S-SYSTEM BORING BARS

KAPR=90°

oN
DCON
r// . \\.
|
. /)
N/
DMIN

lllustrations shown may vary from actual product.

P Q $O
Dimensions in Inch f = & & /
i Insert . .
Ordering Code DCON H LF WF DMIN OHN CNT Inch/Metric Screw Shim Shim Screw Torx Key
AOGM SCFCR2 0370 0339 6.000 0.250 0.480  1.000 - CC.. 2151 1 1508 M2 5x6 - . 82-T08
3701 0. : 250 | 0.480 | 1. CC... 060204 :

CC.. 2151

AOBRSCFCR2 0500 0461 8000 0312 0600 1.000 1/16-27 NPT 4008-M2.5%6 : . 82-708
CC.. 060204

AMOSSCFCR2 0625 0563 10.000 0.406 0770 1500 1/8-27 NPT | CC- 2151 4008 Mo 5k - . 82-T08
CC.. 060204
CC.. 3252

A2SSCFCR3 0750 0.683 10.000 0.500 0.930 1500 1/8-27 NPT 4015-M3.5%9 : . 80-T15
CC.. 097308

AG6TSCFCR3 1000 0.921 12.000 0.640 1.300 2000 1/4-18 NPT c%c"og'zrggs 4015-M35x12  AACN-2-0001 | AAV-08-M35x8 = 80-T15

AMOSSCFCL2 0625 0563 10.000 0.406 0.770 1500 1/8-27 NPT 030'65(13%4 4008-M2.5%6 - . 82-T08
CC.. 3252

A12SSCFCL3 0750 0683 10000 0.500 0930 1500 1/8-27NPT (20522 1 4015.M3.509 i . 80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM BORING BARS (

KAPR=95°

é

lllustrations shown may vary from actual product.

A & S Q 5O
Dimensions in Inch _ ! \&&\ /
. Insert . .
Ordering Code DCON H LF WF DMIN OHN CNT Inch/Metric Screw Shim Shim Screw  Torx Key
AOGMSCLCR2 0370 0.339 6.000 0250 0.480 1.000 - CC.. 2151 4508 M2.5x6 - . 82-T08
370 | 0. : 250 | 0.480 | 1. CC.. 060204 :
AOBR SCLCR 2 0500 0461 8000 0312 0600 1000 146-27NPT = CC=2151 400 Mo 5x6 . . 82-T08
AL : A2 WL CC.. 060204 :
AMOSSCLCR2  0.625 0563 10.000 0406 0770 1.000 1/8-27NPT | 2C~2151 " 4508 Mo 5x6 - . 82-T08
CC.. 060204
CC.. 3252
AMOSSCLCR3  0.625 0563 10.000 0.406 0.770 1.000 1/8-27 NPT 4015-M3.5%9 . . 80-T15
CC.. 097308
CC.. 3252
A2SSCLCR3 0750 0.683 10.000 0500 0.930 1500 1/8-27 NPT 4015-M3.5%9 . . 80-T15
CC.. 097308
A16T SCLCR 3 1.000 0921 12000 0640 1.200 2000 1/4-18NPT = CC-3252 ' 4045 M3 6xg . . 80-T15
ALY ALY et Ll 2 CC.. 097308 :
AOBMSCLCL2 0370 0.339 6.000 0250 0.480 1.000 - CC.. 2151 ' 108 M2 546 . . 82-T08
370 | 0. : 250 | 0.480 | 1. CC.. 060204 '
AOBRSCLCL2 0500 0461 8000 0312 0600 1000 1/16-27NPT ~ CC+2191 " 4g0g pio 5 . . 82-708
CC.. 060204
A10SSCLCL2  0.625 0.563 10.000 0406 0770 1500 1/8-27NPT | CC2151 1 unog o 5 : . 82708
CC.. 060204
CC.. 3252
A10S SCLCL 3 0625 0563 10.000 0406 0770 1.500 1/8-27 NPT 4015-M3.5%9 . : 80-T15
CC.. 097308
CC.. 3252
A12S SCLCL 3 0750 0.683 10.000 0500 0.930 1.500 1/8-27 NPT 4015-M3.5x9 . - 80-T15
CC.. 097308
AMGTSCLCL3  1.000 0921 12000 0.640 1200 2.000 1/4-18NPT GO+ 322 ' 4nq5.p1a 5eg - . 80-T15
ALY e L e CC.. 097308 :
110/111




> S-SYSTEM BORING BARS

KAPR=95° ﬁjg ]
SOBTY pnmn i I
H W=y
AN I m—— ?[ z
£ TR 18, 8
H | O F ’
lllustrations shown may vary from actual product. o
Dimensions in Metric : \&&\\\@ /@/
Ordering Code DCON BD H LW=0HN LF WF DMIN In cw/slﬁglri . Screw Shim Shim Screw Torx Key
S0508H SCLCR 03 8 5 73 18 100 3 =6 SodZl 1 4006-M1.6:32 - - 82706
S0608H SCLCR 06 8 6 73 25 100 45 =8 2% 4008-M25045 - - 82708
S08H SCLCR 06 8 8 73 20 100 6 =11 2% 4008M25045 - - 82708
S08K SCLCR 06 8 75 73 20 15 6 =11 2% 4008M256 - - 82708
S08M SCLCR 06 8 75 73 20 150 6 =11 2 4008-M256 - - 82708
$10K SCLCR 06 0 10 9 25 125 7 =13 ES 4008-M256 - - 82708
$12K SCLCR 06 2 12 1 25 125 9 =16 FE% 4008M256 - - 82708
$1216P SCLCR 06 16 115 148 37 170 9 =16 FE% 4008-M256 - - 82708
$16P SCLCR 06 16 16 148 35 170 11 =20 SES 4008-M25%6 . . 82-708
$12K SCLCR 09 2 12 11 30 125 9 =16 FIE 4015M358 - - 80T15
$12M SCLCR 09 12 15 11 30 150 9 =16 S 4015M350 - - 80-T15
$1416P SCLCR 09 16 14 148 45 170 95 =17 T3 4015.M350 - : 80-T15
$16P SCLCR 09 16 16 148 35 170 11 =20 SS-3B 0 401535012 | AACN-2-0001 | AAV-0-M35XE | 80TI5
$1620R SCLCR 09 20 16 183 50 200 11 =20 [SS-32 4o15M35x12  AACN-2-0001  AAV-0B-M3SXE  80TI5
$16R SCLCR 09 16 155 148 35 200 11 =220 O35 4015M350 | AACN-2-0001 AAVOBM35E | 80TI5
$20R SCLCR 09 20 20 183 40 200 13 =25 (O3 4015M350  AACN-2-0003 AAV-10-M45E  80TI5
$20S SCLCR 09 20 195 183 40 250 13 =25 (O3 4015M350 | AACN-2-0003  AAV-10-M45XE | 80TI5
$255 SCLCR 09 25 25 23 50 250 17 =32 (3% 4015M350 | AACN-2-0003 AAV-IO-MASE | 8OTI5
$32T SCLCR 09 32 32 30 60 300 22 =40 F3 4015M350 - - 80715
$255 SCLCR 12 25 25 28 50 250 17 =3 40 4020-M45x12 - - 8020
$32T SCLCR 12 2 % 30 60 300 22 =40 il 4020-M45x12 . . 80-T20
$40U SCLCR 12 40 40 375 70 30 27 =50 Ui 1020-M45x16 - - 8020
A08H SCLCR 06 8 8 73 20 100 6 =11 S&2% 4008M2545  AACN-2-0001 - 82708
A10H SCLCR 06 0 10 9 25 100 7 =13 CE5 4008-M256 | AACN-2-0001 - 82708
A12H SCLCR 06 22 12 11 25 100 9 =16 [ES 4008-M25%6 | AACN-2-0003 - 82708
A16M SCLCR 09 16 16 148 35 150 11 =20 O3 4015M350 | AACN-2.0001 AAV0BM35E 8015
A20P SCLCR 09 20 20 183 40 170 13 =25 3% 4015M350 | AACN-2-0001  AAV-0B-M3SE | BOTI5
A25R SCLCR 09 25 25 23 50 200 17 =3 [F3% 4015M3502  AACN-2-0001 AAV-0B-M3SE | BOTI5
A32S SCLCR 09 3232 30 60 | 250 22 =40 3% 40i5M35012 | AACN-2-0001  AAV0B-M3SE | 8OTI5
A25R SCLCR 12 25 25 23 50 200 17 =232 LCuad | 4000M45x12 | AACN-2-0003  AAVIO-MASE  80-T20
O AKKO
===k aa ==

USA INC.



S-SYSTEM BORING BARS (

KAPR=95° ===
N sl v L= =18 3
/ = 7
H LF
e s [
Y &) =
1S5y B
OHN B :
lllustrations shown may vary from actual product. @ @ é
(a ) 59
Dimensions in Metric = &\&\ — &&\&\ /
; _ Insert . .
Ordering Code DCON BD H LW=0HN LF WF DMIN Inch/Metric Screw Shim Shim Screw Torx Key
$0508H SCLCL 03 8 5 73 18 100 3 =6 &L 40061632 - - 82106
S0608H SCLCL 06 8 6 73 25 10 45 =8 (o2 4008M2505 - - 82708
S08H SCLCL 06 8 8 73 20 100 6 =11 &% 008mM2545 - - 82708
S08K SCLCL 06 8 75 73 20 15 6 =1 2 408M256 - - 82108
S08M SCLCL 06 8 75 73 20 150 6 =11 &5 4008M256 - - 82108
CC. 215.
$10K SCLCL 06 0 10 9 25 15 7 =13 [SS28 s08m256 - - 82708
$12K SCLCL 06 12 12 1 25 125 9 =16 (A5 4008M256 - - 82-T08
$1216P SCLCL 06 16 115 148 37 10 9 =16 SS2%  4008-M256 - . 82708
$16P SCLCL 06 16 16 148 35 170 11 =20 [SS2% 4008-m256 - - 82108
CC.. 325.
$12K SCLCL 09 2 12 1 30 125 9 =16 S5 4015M358 - . 80715
CC.. 325..
$12M SCLCL 09 22115 11 30 150 9 =16 o3 4015m350 - - 80715
$1416P SCLCL 09 16 14 148 45 170 95 =17 o520 sn15m350 - - 80715
$16P SCLCL 09 16 16 148 35 170 11 =20 ($o3%e 4015M3502 | AACN-2-0001 AAV0BM35E | 80TI5
$1620R SCLCL 09 20 16 183 50 200 11 =20 O3 goi5m3sa2 | AACN-2-0001  AAVOB-M3SE | 8OTI5
$16R SCLCL 09 16 155 148 35 200 11 =20 (S-S 4015.M350 | AACN-2-0001  AAV0BM35E | 80TI5
$20R SCLCL 09 20 20 183 40 200 13 =25 (O3 4015M350 | AACN-2-0003 AAVIO-MASE | BOTI5
$20S SCLCL 09 20 195 183 40 250 13 =25 (SC-32 0 4015.M350 | AACN-2-0003  AAVIO-MASE | BOTI5
$255 SCLCL 09 25 25 23 50 250 17 =3 (S8 4o5M350  AACN-20003  AAVIO-MASE  80TI5
$32T SCLCL 09 32 32 30 60 300 22 =40 OS2 4015m350 - - 80715
$258 SCLCL 12 25 25 28 50 250 17 =3 SC4d 4020-M45x12 - - 80120
$32T SCLCL 12 3232 30 60 300 22 =40 Uyadi | 4020-M45x12 . - 80720
$40U SCLCL 12 40 40 375 70 350 27 =50 Suad 1020-M45x16 - : 80120
A08H SCLCL 06 8§ 8 73 20 100 6 =11 So-2% 1 4008M25:45  AACN-2-0001 - 82708
A10H SCLCL 06 0 10 9 25 100 7 =13 o280 4008M256 | AACN-2-0001 : 82708
A12H SCLCL 06 2 12 11 25 100 9 =16 So2% 1 4008-M256 | AACN-2-0003 - 82-708
A16M SCLCL 09 16 16 148 35 150 11 =20 (o3%e 4015M350 | AACN-2-0001 AAVOBM35E  80TI5
A20P SCLCL 09 20 20 183 40 170 13 =25 O3 4015M350 | AACN-2-0001  AAV0B-M3SE | 8OTI5
A25R SCLCL 09 25 25 23 50 20 17 =3 (S35 soisw3sd2  AACN-20001  AAVOBM35E  80TI5
A32S SCLCL 09 3232 30 60 | 250 22 =40 O3 4oi5m35a2 | AACN-2-0001  AAV0B-M3SE | 8OTI5
A25R SCLCL 12 25 25 28 50 200 17 =32 SC4ad 4020-M45c12 | AACN-2-0003 AAVIO-MASE | 80T20
112/113




> S-SYSTEM BORING BARS

KAPR=95°

é

DCON
DMIN

lllustrations shown may vary from actual product.

QD
A © 5O
Dimensions in Inch == & &&&\\ /
. Insert . .
Ordering Code DCON H LF WF DMIN  OHN CNT Inch/Metric Screw Shim Shim Screw  Torx Key
cC.. 2151
EO6M SCLCR 2 0370 0355 6000 0250 0480 - - B2, 4008-M2.5%6 - - 82-T08
cC.. 2151
EO8R SCLCR 2 0500 0461 8000 0312 0600 - - A1t 4008-M2.5¢6 - - 82708
cC.. 2151
E10R SCLCR 2 0.625 0563 8000 0406 0770 @ - - B2, 4008-M2.5%6 - - 82108
E12S SCLCR 3 0750 0711 10.000 0500 0930 - ; CC.. 8252 ' 4015.M3 5x9 - - 80-T15
: : : : : CC.. 097308 :
cC.. 2151
EO6M SCLCL 2 0370 0355 6000 0250 0480 @ - - b2, 4008-M2.5%6 - - 82108
E12S SCLCL 3 0750 0711 10.000 0500 0930 - ; CC.. 3252 ' 4015.M3 5x9 - - 80-T15
: : : : : CC.. 097308 :
KAPR=93°
SDUCR

llustrations shown may vary from actual product.

g
DS
%
N\,
O

Dimensions in Inch

Insert

Ordering Code DCON H LF WF DMIN OHN CNT Inch/Metric Screw Shim Shim Screw  Torx Key
AOBM SDUCR2  0.370 0.339  6.000 0.375 0.600 1.000 . oRC-o 2150, | 4008-M2.5¢6 : . 82708
AOBRSDUCR2  0.500 0461 8.000 0.437 0730 1.000 1/16-27 NPT RC-2180  4008-M2.5¢6 - - 82-T08
AOSSDUCR2  0.625 0563 10.000 0500 0850 1.500 1/8-27NPT =~ RC.2181 ' 4008-m2.5¢6 - - 82708
A12SSDUCR3  0.750 0683 10.000 0.562 0980 1.500 1/8-27 NPT B%Cﬁigég 4015-M3.5x9 - - 80-T15

A6TSDUCR3  1.000 0921 12.000 0.750 1.300 2.000 1/4-18NPT 203233, 4015.M35x12 AADN-2-0001  AAV-08-M35x8 ~ 80-T15

AOBM SDUCL2  0.370 0.339 6000 0.375 0.600 1.000 . pRC-o2 150, 4008-M2.546 . - 82708
AOBRSDUCL2  0.500 0461 8000 0.437 0730 1.000 1/16-27 NPT RC-2180 ' 4008-m2.5¢6 - - 82708
A0SSDUCL2  0.625 0563 10.000 0.500 0850 1.500 1/8-27NPT —RC-2180 " 4008-M2.5¢6 - - 82-708
A12SSDUCL3  0.750 0.683 10.000 0.562 0.980 1500 1/8-27 NPT = 009232, ' 4015-M3.5¢9 - - 80-T15

A6TSDUCL3  1.000 0921 12.000 0.750 1.300 2.000 1/4-18NPT 203232, 4015.M35x12 AADN-2-0001 AAV-08-M35x8  80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM BORING BARS (

KAPR=93°

lllustrations shown may vary from actual product.

Dimensions in Metric 2 /@/
Ordering Code DCON BD H LW=0HN LF WF DMIN Incll:l/sl\:latr:tric Screw Shim Shim Screw Torx Key
$0810K SDUCR 07 08 9 3 125 & =13 P2 08-M256 . . 82708
$0810M SDUCR 07 10 95 9 3 150 8 =13 P28 4008-M256 - - 82108
$10K SDUCR 07 1010 9 25 125 8§ =13 P25 4o08-M256 - - 82708
$12K SDUCR 07 12 12 11 25 125 9 =16 [P¢28 1 4008-M256 - - 82708
$1216P SDUCR 07 1 115 148 37 170 9 =16 [C2 4008-M256 - - 82708
$1416P SDUCR 07 16 14 148 45 170 95 =17 DC-21% 1 4008-M256 - - 82708
$16P SDUCR 07 16 16 148 3 170 11 =20 P25 4008-M256 - - 82708
$20R SDUCR 07 20 20 183 40 200 13 =25 D28 4008-M2506 - - 82708
$1416P SDUCR 11 % 14 148 45 170 11 =18 O3B 4015-M350 - - 80-T15
$16P SDUCR 11 % 16 148 3 170 1 =20 L0328 4015-M350 s . 80-T15
$1620R SDUCR 11 20 16 183 50 200 11 =20 43 4015M35x11 . . 80-T15
$20R SDUCR 11 20 20 183 40 200 13 =25 203 4o15M35x12 - - 80-T15
$258 SDUCR 11 25 25 | 23 | 50 250 17 =32 3 4015-M35014 - AAV-08-M35x8 | 80-T15
$25T SDUCR 11 25 25 23 50 300 17 =32 204 4015M35¢14  AADN-2-0001 AAV-06-M3Sx11 80T15
$32T SDUCR 11 2 032 30 | 60 30 22 =40 22 4015M3514 | AADN-2-0001 | AAV-06-M3SxI1 80TI5
$40U SDUCR 11 40 40 375 70 30 27 =50 O3B 4015.M35x14  AADN-2-0001 AAV-06-M3S5x11 80T15
$50V SDUCR 11 50 50 47 80 | 400 35 =63  oU+322 | 4015-M35x14 | AADN-2-0001 AAV-06-M35xI1 | 80T15
A0810H SDUCR 07 0 8 9 3 10 8 =13 [PC2%  4008M256 | AADN-2-0001 AAV-0B-M3SI1  82T08
A10H SDUCR 07 010 9 25 10 8 =13 [PC21% 1 4008-M256 - - 82108
A12H SDUCR 07 12 12 1 25 100 9 =16 A5 4008M256 - - 82708
A16M SDUCR 07 16 16 148 35 150 11 =20 [S-21% 4008256 - - 82708
A20P SDUCR 07 20 20 183 40 170 13 =25 DC-21% 1 4008-M25:6 : . 82708
A16M SDUCR 11 1% 16 148 3 150 1 =20 2038 4015-M350 - - 80-T15
A20P SDUCR 11 20 20 183 40 170 13 =25 203 4015m3501 - AAV-08-M35x8 | 80T15
A25R SDUCR 11 25 25 23 50 200 17 =232 203 4015.M35x12 | AADN-2-0001 AAV-08-M35@ | 80T15
A25T SDUCR 11 25 25 23 50 300 17 =32 254 4015M35¢14  AADN-2-0001 AAV-06-M3S5x11 80TI5
A32S SDUCR 11 2 032 30 | 60 250 22 =40 254 4015M3514 | AADN-2-0001 | AAV-06-M3SxI1 | 80T15
A50U SDUCR 11 5 50 47 80 350 35 =63 03B 4015M35x14  AADN-2-0001 AAV-06-M3S5x11 80T15
114/115




> S-SYSTEM BORING BARS

KAPR=93° - = SDUCR
e RN = EE
W = /) )

e =

P | 7
| LF

DCON
DMIN

LF
/
.’

|

1

/

lllustrations shown may vary from actual product.

Dimensions in Metric 2 /@/
Ordering Code DCON BD H LW=0HN LF WF DMIN Incll:l/?\::tric Screw Shim Shim Screw Torx Key
$0810K SDUCL 07 0 8 9 30 125 8§ =13 OS2 4008M256 - - 82708
$0810M SDUCL 07 0 95 9 30 150 8 =13 S5 4008M256 - - 82708
$10K SDUCL 07 0 10 9 5 125 8 =213 25 4008-M256 . . 82708
$12K SDUCL 07 2 12 1 25 125 9 =16 P28 4008-M256 - - 82-T08
$1216P SDUCL 07 16 115 148 37 170 9 =16 o2 4008-M256 - - 82708
$1416P SDUCL 07 16 14 148 45 170 95 =17 [S-21% 4008-M256 - - 82708
$16P SDUCL 07 % 16 148 35 170 11 =20 [PC2% 0 4008-M256 - - 82708
$20R SDUCL 07 20 20 183 40 200 13 =25 D28 4008-M25:6 - - 82708
$1416P SDUCL 11 1% 14 148 45 170 1 =18 O3B 4015-M350 - - 80-T15
$16P SDUCL 11 % 16 148 3 170 1 =20 2038 4015M350 - - 80T15
$1620R SDUCL 11 20 16 183 50 | 200 11 =20 203 4015.M35x11 - - 80T15
$20R SDUCL 11 20 20 183 40 200 13 =225 2032 4015.M35x12 - - 80T15
$255 SDUCL 11 25 25 23 50 | 250 17 =232 2032 4015.M35x14 - AAV-08-M35@ | 80T15
$25T SDUCL 11 25 25 23 50 300 17 =32 43 4015M35¢14 | AADN-2-0001 AAV-06-M3SxI1 80T15
$32T SDUCL 11 2032 30 60 30 22 =40 42 4015M3514 | AADN-2-0001 | AAV-06-M3SxI1 80TI5
$40U SDUCL 11 40 40 35 70 350 27 =50 X548 4015M35¢14 | AADN-2-0001 AAV-06-M3Sx11 80T15
$50V SDUCL 11 50 50 47 80 | 400 35 =63 o032 | 4015-M35x14 | AADN-2-0001 AAV-06-M35xI1 | 80T15
A0810H SDUCL 07 0 8 9 30 100 8 =13 [S2% 0 4008M256 @ AADN-2-0001 AAV-06-M35x11 | 82708
A10H SDUCL 07 0 10 9 25 100 8 =13 [S21% 1 4008 M256 - - 82708
A12H SDUCL 07 2 12 11 25 100 9 =16 P28 4008-M256 - . 82708
A16M SDUCL 07 1% 16 148 35 150 11 =20 PC21% 0 4008-M256 - - 82708
A20P SDUCL 07 20 20 183 40 170 13 =25 D28 4008-M25:6 - - 82708
A16M SDUCL 11 16 16 148 35 150 11 =20 2032 4015M350 . . 80-T15
A20P SDUCL 11 20 20 183 40 170 13 =25 X438 4015M35x11 - AAV-08-M35x8 | 80-T15
A25R SDUCL 11 25 25 23 50 200 17 =232 20382 4015.M35x12 | AADN-2-0001 AAV-08-M35@ | 80T15
A25T SDUCL 11 25 25 23 50 300 17 =32 0% 4015M35¢14 | AADN-2-0001 AAV-06-M3SxI1 80T15
A32S SDUCL 11 2 032 30 | 60 250 22 =40 43 4015M35¢14 | AADN-2-0001 | AAV-06-M3S5xI1 80T15
A50U SDUCL 11 50 50 47 | 80 350 35 =263 2543 4015M35¢14 | AADN-2-0001 AAV-06-M3S5x11 8015
O AKKO
=k kA =——

USA INC.



S-SYSTEM BORING BARS (

KAPR=93°
KAPR
A . — Z T 2
=] 5|0
m Iy
‘H‘ LU LF
T T 1
lllustrations shown may vary from actual product.
> -y Q <,
Dimensions in Metric & & _/ &&\&\ ya
i Insert . .
Ordering Code DCON BD H LU LF DMIN WF Inch/Metric Screw Shim Shim Screw Torx Key
WBGT 310.5-R
$0610H SWUBR 06 10 5 73 18 100 =6 3 eeleleTe | 3006-M2G.3 ; ; 82-T06
WBGT 310.5-R
S08H SWUBR 06-5.5 8 5 73 18 100 257 275 \oer o Ct 3006-M2G.3 - - 82106
WBGT 310.5-R
S08H SWUBR 06-7 8 |65 73 18 100 =7 35 \oerociTh 3006-M2d ; ; 82-T06
WBGT 310.5-L
$0610H SWUBL 06 10 5 73 18 100 26 3 eer Slon | 3006-M2G3 - - 82-T06
WBGT 310.5-L
S08H SWUBL 06-5.5 8 5 73 18 100 =57 275 oericiet 3006-M2G3.3 - ; 82-T06
WBGT 310.5-L
S08H SWUBL 06-7 8 65 73 18 100 =7 35 eelSleh 3006-M2d - - 82106
KAPR=93°
6 /\\ = | | g =z
aamt Q2
7,KAPR;> —
APMX
LPR
lllustrations shown may vary from actual product.
- F & P
Dimensions in Inch v & g & /
OrderingCode DCON H LF LPR APMX WF DMIN OHN  CNT I Screw Shim  Shim Screw  Torx Key
Inch/Metric
11627 | DC.. 2151
ADBRSDXCR2 | 0500 0461 8000 8500 0187 0437 0730 1500 V\oEr AU EOL 4008256 - - 82-708
A12S SDXCR3 0750 0683 10.000 10.630 0187 0562 0980 2.000 1/8-27 NPT D?;C'iﬁggs 4015-M35x9 . - 80115
A16TSDXCR3 | 1.000 0921 12000 12630 0250 0750 1.300 2500  1/4-18 NPT D%C'iﬁggs 4015-M35x14 | AADN-2-0001 | AAV-08-M35:@  80-T15
11627 | DC.. 2151
ADBR SDXCL2 | 0500 0461 8000 8500 0167 0437 0730 1500 V\BEl  BeoS 4008-M256 ; ; 82-708
A16TSDXCL3 | 1.000 0921 12000 12630 0250 0750 1.300 2500  1/4-18 NPT D%C'iﬁggs 4015-M35x14 | AADN-2-0001 | AAV-08-M35@  80-T15

116/117




> S-SYSTEM BORING BARS

KAPR=90°

| ]z \‘.z
I s 113 (e 2
;{53 ,//
e :
lllustrations shown may vary from actual product.
A Q $O
Dimensions in Inch —_ & & /
i Insert ' .
Ordering Code DCON H LF WF DMIN OHN CNT Inch/Metric Screw Shim Shim Screw Torx Key
TC.. 2151
AOGMSTFCR2  0.370 0339 6.000  0.250 0.480  1.000 . 4008-M2.546 . . 82-T08
TC.. 110204
AOBRSTFCR2 0500 0461 8000 0312 0600 1.000 1/16-27 NPT TECH%SJM 4008-M2.5x6 - . 82-T08
AMOSSTFCR2 | 0.625 0563 10.000 0406 0770 1500 1/8-27 NPT TECH%Z?M 4008-M2.5%6 - . 82-T08
1C.. 3252
A12SSTFCR3 0750 0683 10.000 0.500 0930 1500 1/8-27NPT 1°:%%2 ' 40153511 - . 80-T15
AG6TSTFCR3  1.000 0921 12.000 0640 1200 2000 1/4-18 NBT T(T;C'ig%s 4015-M35x14 ~ AATN-2-0001  AAV-08-M35x8  80-T15
AOBRSTFCL2 0500 0461 8000 0312 0.600 1.000 1/16-27 NPT T(TJC"1$2)22)4 4008-M2.5%6 - - 82-T08
1C.. 3252
A2SSTFCL3 0750 0683 10.000 0500 0.930 1.500 1/8-27 NPT 4015-M3 5x11 - . 80-T15
TC.. 16T308
A6TSTFCL3  1.000 0921 12.000 0640 1200 2000 1/4-18 NBT Tgc'ig$g§8 A015-M3.5x14  AATN-2-0001 AAV-08-M35x8  80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




S-SYSTEM BORING BARS (

KAPR=95°

é

5

I

|

I
DCON

lllustrations shown may vary from actual product.

Dimensions in Inch é & &&&\\ /
i Insert i .

Ordering Code DCON H LF WF DMIN OHN CNT Inch/Metric Screw Shim Shim Screw Torx Key
TC.. 2151

AOGMSTLCR2 0370 0339 6000 0250 0.480 1.000 : 4008-M2.5%6 : . 82-07
1C.. 110204

AOBRSTLCR2 0500 0461 8000 0312 0.600 1.000 1/16-27 NPT TI)C"1:123122)4 4008-M2.5x6 - - 82-T07

AMOSSTLCR2 0625 0563 10.000 0406 0770 1500 1/8-27 NPT TEC&%ZJM 4008-M2.5%6 - - 82-T07
TC.. 3252

M2SSTLCR3 0750 0683 10000 0.500 0930 1500 1/8-27NPT (%352 ' 4o15.M35¢11 80-T15

AMGTSTLCR3  1.000 0921 12.000 0640 1200 2.000 1/4-18 NBT TEC'a§$§§8 4015-M35x11 | AATN-2-0001 | AAV-08-M35x8 | 80-T15
TC.. 2151

AOBMSTLCL2 0370 0339 6.000 0250 0480 1.000 : 4008-M2.5%6 . : 82707
TC.. 110204

AOBRSTLCL2 0500 0461 8000 0312 0600 1.000 1/16-27 NPT TECH%%“ 4008-M2.5x6 ; - 82-T07

AMOSSTLCL2 0625 0563 10.000 0406 0770 1500 1/8-27 NPT Tlc'ﬁég& 4008-M2.5%6 . - 82-107
TC.. 3252

A2SSTLCL3 | 0750 0.683 10.000 0500 0.930 1.575 1/8-27 NPT 4015-M3.5x11 80-T15
TC.. 16T308

AGTSTLCL3 1000 0.921 12.000 0640 1200 2.000 1/4-18 NBT Téc'ig;% 4015-M35x11 | AATN-2-0001 AAV-08-M35x8  80-T15

118/119




> S-SYSTEM BORING BARS

KAPR=95°

) & 2
§ [}
L LF
lllustrations shown may vary from actual product. "
Dimensions in Inch -=- & &\\&\\@ /©

Ordering Code DCON H LF WF DMIN OHN CNT Inclhn/slﬁtra‘tric Screw Shim Shim Screw Torx Key
AOGMSTLPR2  0.370 0339  6.000 0.250 0.480 1.000 . TP.2151 | 4008-M2.546 . . 82708
AOBRSTLPR2  0.500 0.461 8000 0312 0.600 1.000 1/16-27NPT = TP.2151  4008-M2.5x6 : : 82708
AMOSSTLPR2  0.625 0.563 10.000 0.406 0770 1500 1/8-27NPT | TP.2151 | 4008-M2.5%6 : : 82708
AM2SSTLPR3 0750 0.683 10.000 0.500 0930 1.500 1/8-27 NPT = TP.3252  4015-M3.5x11 : : 80-T15
A6TSTLPR3  1.000 0.921 12.000 0.640 1220 2000 1/4-18NBT = TP.3252 | 4015-M35x11 AATN-2-0001 AAV-08-M35x8  80-T15
AOGMSTLPL2  0.370 0.339 6.000 0.250 0.480 1.000 - TP 2151 | 4008-M2.5¢6 - : 82708
AOSRSTLPL2  0.500 0.461 8000 0.312 0.600 1.000 1/16-27 NPT = TP.2151 | 4008-M2.54 - : 82108
MOSSTLPL2  0.625 0563 10.000 0406 0770 1500 1/827NPT = TP.2151  4008-M2.54 - . 82708
M2SSTLPL3 0750 0.683  10.000 0.500 0.930 1500 1/8-27NPT = TP.3252 | 4015-M3.5x11 80-T15
KAPR=107.5° | 0

¢ 0"

o F ]

‘ H
lllustrations shown may vary from actual product. ,

Dimensions in Inch ﬁ"‘.‘# & /@/

OrderingCode  DCON H  LF  WF DMIN OHN CNT IML"/SN‘;;'MG Screw Shim Shim Screw  Torx Key
AIOSSVQBR2 | 0.625 0563 10.000 0500 0850 1500 1/8-27NPT |\ B- 220 400842506 : : 82708
A12SSVQBR2 0750 0683 10000 0562 0930 1500 1/8-27NPT P22 40082506 : . 82708
A16TSVOBR3  1.000 0921 12000 0750 1300 2000 1/4-18NBT = J°/ 3% = 4015.M3511 AAVN-2.0002 AAV-0B-MBSXE  82Ti5
AIOSSVGBL2 0625 0563 10.000 0500 0850 1500 1/827NPT 8- 220 40082506 : : 82708
A12SSVQBL2 | 0750 0683 10.000 0562 0930 1500 1/8-27NPT |\ O- 22 40082506 : : 82708
A6TSVOBL3  1.000 0921 12.000 0.750 1.300 2.000 1/4-18 NBT VB\’"B'1'63034208 4015-M35x11 | AAVN-2-0002  AAV-08-M35x8  82-T15
O AKKO
==k k k=

USA INC.




S-SYSTEM BORING BARS (

KAPR=93°
e 5 o =
. / ) =
LF
lllustrations shown may vary from actual product. & @ é
sy AN
Dimensions in Inch — & &\&& /
. Insert . .
Ordering Code DCON H LF WF DMIN OHN CNT Inch/Metric Screw Shim Shim Screw Torx Key
A12SSVUBR2 0750 0.683 10.000 0.562 0.980 1500 18-27NPT . %: 220 1 4008w : . 82108
A16T SVUBR 3 1.000 0.921 12.000 0.750 1.300 2.000 1/4-18 NPT VEYB'1.63034208 4015-M3.5x14 | AAVN-2-0002 = AAV-06-M3.5x11 = 82-T15
A2SSVUBL2 0750 0.683 10.000 0.562 0.980 1.500 1/8-27 NPT VQ’B{12023104 4008-M2.5x6 - . 82708
A16T SVUBL 3 1.000 0.921 12.000 0.750 1.300 2.000 1/4-18 NPT VI?\>/Bl1.63034208 4015-M3.5x14 | AAVN-2-0002 = AAV-06-M3.5x11 = 82-T15
KAPR=95°
6 SCLCR
™ A =1 2l =/
L £ gl | |
H ) LF

Q
lllustrations shown may vary from actual product. (=] '@/
Dimensions in Inch === /

. Insert
Ordering Code Dcon H LF WF DMIN Inch/Metric Screw Torx Key
CC.. 2151
EO4H SCLCR 2 0.250 0.230 4.000 0117 0.334 oCsltsl  4008-M2.5%4.5 82-T08
CC.. 2151
EO5K SCLCR 2 0.312 0.280 5.000 0117 0.354 oGSt 4008-M2.5X45 82-T08
CC.. 2151
EO6M SCLCR 2 0.370 0.355 6.000 0.250 0.480 oG, 4008-M2.5%6 82708
CC.. 2151
EO8R SCLCR 2 0.500 0.461 8.000 0.312 0.600 o 4008-M2.5%6 82708
CC.. 3252
EOSR SCLCR 3 0.500 0.461 8.000 0.312 0.625 ol 4015-M3.5x9 8215
CC. 305
E10R SCLCR 3 0.625 0.588 8.000 0.406 0.750 osCidze 4015-M3.5x9 82715
E12S SCLCR 3 0.750 0.771 10.000 0.500 0.930 CC. 3252 4015-M3.5x9 82715
: : : : - CC.. 09T308.. :
CC.. 2151
E04H SCLCL 2 0.250 0.230 4.000 0.117 0.334 o Csdtt,  4008-M2.5X4.5 82708
CC.. 2151
E05K SCLCL 2 0.312 0.280 5.000 0.117 0.354 oCsasl, | 4008-M2.5X4.5 82-T08
CC.. 2151
EO6M SCLCL 2 0.370 0.355 6.000 0.250 0.480 o, 4008-M2.5%6 82708
CC.. 2151
EOS8R SCLCL 2 0.500 0.461 8.000 0.312 0.600 oCslts 4008-M2.5x6 82-T08
CC. 3052
EOSR SCLCL 3 0.500 0.461 8.000 0.312 0.625 oy 4015-M3.5x9 82715
E10R SCLCL 3 0.625 0.588 8.000 0.406 0.750 CC. 3252 4015-M3.5x9 8215
: : : : : CC.. 09T308. :
E12S SCLCL 3 0.750 0.771 10.000 0.500 0.930 CC. 3252 4015-M3.5x9 82715
: : : : - CC.. 09T308.. :
120/121




> S-SYSTEM BORING BARS

KAPR=95°

)
WF
o
%
\
!
DCON

LF

lllustrations shown may vary from actual product.

A 5
Dimensions in Inch v & /

) Insert

Ordering Code Dcon H LF WF DMIN Inch/Metric Screw Torx Key

E06M SDUCR 2 0370 0.355 6.000 0.250 0.500 DC.. 2151 ' 4008-M2.5x6 82708
: : : : : DC.. 070204 :

E08R SDUCR 2 0.500 0.461 8.000 0.313 0625 DG.. 2151 4008-M2.5x6 82-T08
: : : : : DC.. 070204 :

E10R SDUCR 2 0.625 0.605 8.000 0.406 0625 DC.. 2151 4008-M2.5x6 82-T08
: : : : : DC.. 070204 :

EO6M SDUCL 2 0.370 0.355 6.000 0.250 0.500 L. 25 4008-M2.5x6 82-T08
: : : : : DC.. 070204 :

E08R SDUCL 2 0.500 0.461 8.000 0.313 0.625 DC.. 2151 4008-M2.5x6 82-T08
: : : : : DC.. 070204 :

E10R SDUCL 2 0.625 0.605 8.000 0.406 0625 L. 215 4008-M2.5%6 82708
: : : : : DC.. 070204 :

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




O AKKO

1.0 0.0 5
USAINC.

the spoken
quality...

ANTI VIBRATION TOOLS

120/123




> ANTIVIBRATION TOOL DESIGNATION SYSTEM

[2] Too! Type (3] Body (4] Connection Diameter (5] Overall length : (6] Overhang maximum (2] With Coolant Hole

Anti Vibration Tool

Type of Boring Bar

DCONws
=

Carbide reinforced

[2]Tool Type [3]Cartridge Code [4] With Coolant Hole [5] Connection Diameter

Anti Vibration Tool Cartridge Cartridge With Coolant Hole @16 - @20 - @25
032 - 340

(6] Cartridge Type

LU
DOON
]

SDUCR/L. SCLCR/L. SVUCR/L. TCLNR/L. TDUNR/L

(2] Tool Type (3] Cartridge (4] Usable diameter range for body

Anti Vibration Tool Cartridge Centering Cartridge Code ATTB-D16/D20/D25
ATTB-D32/D40/D50/D60

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




ANTI VIBRATION TOOLS SHANK <

‘ OHX
]‘ | DCONws DCONws
o] =y
= 4 - gl =
L 1Vs 8
] L
OHN R 50 & 60 mm shanks
0AL
&y
Dimensions in Inch §
. . Mounting
Ordering Code DCONMS DCONWS OAL OHN OHX CNT DMIN DCON Shim Screw Screw Key
ATTB-D16-10-7D-H 1.000 0.984 10.039 3.346 6.220 G1/4 1.2598 0.9842 2525-M3X10 AAL-02-2.5
ATTB-D20-12-7D-H 1.250 1.260 12.598 3.937 7.480 G3/8 1.5748 1.2598 2503-M3.5x10 AAL-02-2.5
ATTB-D32-21-7D-H 2,000 1575 20.74 6.811 12.756 G1/2 1.9685 1.5748 2504-M5x12 AAL-05-4
OHX
| | DCONws
[
2 -é R @
g S - \\e 2
o pl---------------—---—- ST e T )
(=] % 1 o
] L
OHN _‘ 50 & 60 mm shanks
0AL
Dimensions in Metric/Inch )
. DCONMS DCONWS 0AL OHN OHX CNT DMIN / DCON . Mounting
L) METRICANCH  METRICANCH  METRICANCH  METRICANCH METRICANCH  METRICANCH |  INCH/METRIC Shim SCrew g rew Key
ATTB-D16-156-7D-H 20/0.787 20/0.787 200/7.874 70/ 2.756 120/4.724 G1/4 25/0.984 20/0.787 2525-M3X10 AAL-02-2.5
ATTB-D20-200-7D-H 25/0.984 25/0.984 255/10.039 88/3.465 158/ 6.220 G1/4 32/1.260 25/0.984 2503-M3.5x10 AAL-02-2.5
ATTB-D25-255-7D-H 32/1.260 32/1.260 320/12.598 100/3.937 192 /7.559 G3/8 40/1.575 32/1.260 2503-M4X12 AAL-03-3
ATTB-D32-320-7D-H 32/1.260 32/1.260 416/16.378  192/7.559 = 288/11.339 G3/8 40/1575 32/1.260 2504-M5x12 AAL-05-4
ATTB-D40-408-7D-H 40/1.575 40/1.575 408 /16.063 128/5.039 248/9.764 G1/2 50/1.969 40/1.575 2505-M6X16 AAL-07-5
ATTB-D50-519-7D-H 50/1.969 50/1.969 519/20.433 168 /6.614 318/12.520 G1/2 63/2.480 50/1.969 2505-M6X16 AAL-07-5
ATTB-D60-628-7D-H 60/2.362 60/ 2.362 628 /24.724 208/8.189 388/15.276 G3/4 80/3.150 60/2.362 2505-M6X16 AAL-07-5
124/125




> ANTI VIBRATION TOOLS CARTRIDGES

KAPR=93°
QS Bl =
f - w =y - %
- - =
o KAPR
. ' LF
lllustrations shown may vary from actual product.
& & @ s
Dimensions in Metric/Inch 7 _@/ &\\&“ /
i DCON LF WF DMIN Insert . . Connection
A METRIC/NCH METRIC/NCH METRIC/NCH METRIC/ANCH | Inch/Metric A il AR Pt 1orxKey
ATTC-A16 SDUCR/LO7  16/0625 | 20/0787  11/0433 | 20/0.787 D([;).[.:B%})ﬁz.. 4008-M2.5%6 . ; ACP-02 | 82-T08
ATTC-A20 SDUCR/L11  20/0787 | 20/0787  13/0512 250984 Dgc.ﬁzT.r; 4015-M3.5x11 . ; ACP-02 82708
ATTC-A25 SDUCR/L11 | 25/098¢ | 23/0905  17/0669 = 32/1.260 Dgc.ia;zTr; 4015-M35x12  AADN-2-0001 AAV-08-M35x8 = ACP-01 | 80-T15
ATTC-A32 SDUCR/L11  32/1260  32/1260  22/0866 = 40/1575 Dgc.i::szs 4015-M3.5x11  AADN-2-0001 AAV-06-M35x11  ACP-01  80-T15
ATTC-AS0 SDUCR/L11  40/1575 | 32/1260  27/1.063 50/1.969 Dg_‘_"fﬁg" 4015-M35x14  AADN-2-0001 AAV-06-M35x11  ACP-01  80-Ti5
KAPR=95°

lllustrations shown may vary from actual product.

DCON
DMIN

Dimensions in Metric/Inch 2 & Hj
BB ME'II')R(I:S::ICH METHII.I.I‘.:/INGH Mnxgmcn MET[:::I(I:IANNcH mc'r:'/suﬁ?mc i ) SN cons:rctﬁon LG
ATTC-AGSCLCR/LOS  16/0625  20/0787  11/0438  20/0787 (U210 | 4008-M25%6 ACP-02 | 82-T08
ATTC-A20SCLCR/LOS  20/0787  20/0787  13/0512  25/0984 (U320 4n15-masn - ACP-02 82708
ATTC-A25 SCLCR/LOS  25/0984 | 23/0805  17/0660  32/1260 | oU2) | 401SM35¢12 AACN-2-0001 AAV-0BM35B = ACPOT | 80T15
ATTC-A32SCLCRIL09  32/1260  32/1260  22/0866  40/1575 U320 4pts.Masci2  AAGN-2.0001 AAV-OB-M3S8  ACP-O1  B80T15
ATTC-AAOSCLCR/LOS  40/1575 | 32/1260  27/1063  50/1969 | oU;S20 | 401SM35c12 AACN-2:0003 AAV-0BM35B = ACPO1 | 80720

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



ANTI VIBRATION TOOLS CARTRIDGES <

KAPR=93°
\ 21% =
= -
s,

lllustrations shown may vary from actual product.

S %)
Dimensions in Metric/Inch """-.—-"" & Hj / @

DCON LF WF DMIN Insert Connection

AT B METRIC/INCH METRIC/ANCH METRICINGH  METRICANGH | Inch/Metric  So'e% HiG LGS Part 10
ATTC-A20 SVUCRIL11 | 20/0787 | 20/0787 | 15/05%0  20/1083 | \gU;22c | 4008-M25%6 - . ACP-02 | 82708
ATTC-A25 SVUCR/L11 |~ 25/0984 | 23/0905  17/0860  32/1260 4G22 4008-m2506 - - ACP-02 82708
ATTC-A32SVUCRIL16 | 32/1260  32/1260 = 22/0866  40/1575  \0C:3%.  ap15.masxia mAVN-2-0002 ACPO1 | 82T08
ATTC-AAOSVUCRIL16 ~ 40/1575  32/1260  27/1063  50/1960 | 4C-3.  4015.M35x14 AAVN-20002 AAV-OG-M3Sci1  ACPOT 62708

KAPR=90°

DCON

w:—%“ =
lllustrations shown may vary from actual product.
-~
Dimensions in Metric/Inch —
. DCON LF WF DMIN Insert . . Connection
Ordering Code METRIC/NCH  METRIC/ANCH METRIC/NCH METRIC/ANCH | Inch/Metric Sorow Al el Part [T
ATTC-A20 STFCRAL11 = 20/0787 | 20/0787 = 13/0512 | 25/0.984 TTé’"1211052" 4008-M25X6  TC..1102.. . ACP-02 82-108
ATTC-AAOSTFCRIL11 40 /1575  32/1260  21/1063  s50/1969 [ -2 ao0sm2sxe 7. 1102. . ACP-01 82-708

126/127




> ANTI VIBRATION TOOLS CARTRIDGES

KAPR=93°

DMIN

lllustrations shown may vary from actual product.

AR ¢ = & 00 A

Dimensions in Metric/Inch
Connection

. DCON LF WF DMIN Insert  Wedge . . .
Ordering Code ot Metric Inch/Metric Inch/Metric. Inch/Metric | Inch/Metric Clamp ~ C/amP Srew  Shim Shim Srew  Ring  Stamp "o, ™ Torx Key

ATTC-A32 DDUNR/L11 32/1.260 @ 32/1.260 22/0.866 = 40/1.575 D:N1::%4 ATK-01 ' AKV-01-M5x22 AADN -2-0001 AAV-04-M5x12 AS-01 | ABPL-01| ACP-01  AAL-03-3

ATTC-A40 DDUNR/L15 40/1.575 & 32/1.260 27/1.063  50/1.969 DRN:')%S ATK-02 AKV-30-M6x22 | AADN -3-0001 AAV-02-M5x12 AS-01 ABPL-01 ACP-01  AAL-03-3

KAPR=90°

. =
=
" [}

= -

KAPR
LF :
lllustrations shown may vary from actual product.
Dimensions in Metric/inch L ﬁ y & Mj )
; DCON LF WF DMIN Insert ~ Wedge . . Connection
by 1552 Inch/Metric  Inch/Metric Inch/Metric Inch/Metric | Inch/Metric  Clamp Clamp Srew Shim Shim Srew  Stamp Part ANen Key

TN.. 33..

ATTC-A40 DTFNR/L16 | 40/1.575 = 40/1.575 | 27/1.063 | 50/1.969 N.. 1604 ATK-01 ' AKV-01-M5X22 | AATN-2-0002 | AAV-03-M5X12  ABPL-01 | ACP-01  AAL-03-3

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




ANTI VIBRATION TOOLS CARTRIDGES <

KAPR=95°

DMIN

L

£

-
o,
o WMREEL

-"‘"'-______..--‘

lllustrations shown may vary from actual product.
2 e O [0

Dimensions in Metric/Inch
; DCON LF WF DMIN Insert  Wedge ; . . Connection
Ordering Cods Inch/Metric Inch/Metric Inch/Metric Inch/Metric | Inch/Metric Clamp Clamp Srew il Shim Srew  Ring  Stamp Part Ailen Key

22/0.866 = 40/1.575 C(l:IN1;g4 ATK-02 ' AKV-30-M6x22 AACN -3-0001 AAV-02-M5x12 | AS-01  ABPL-01

ACP-01 | AAL-03-3

ATTC-A32 DCLNR/L12  32/1.260 = 32/1.260
5L ATK-02 AKV-30-M6x22 AACN -3-0001 | AAV-02-M5x12 AS-01 ABPL-01 ACP-01 = AAL-03-3

ATTC-A40 DCLNR/L12  40/1575 32/1.260 = 27/.1063  50/1.969 CN.. 1204..

ES 2
= =
[e] (]
O O
o o
LF
llustrations shown may vary from actual product.
Dimensions in Metric/Inch Boring Bars
/L
; DCONWS DCONMS LF H o (I
Ordering Code Inch/Metric Inch/Metric Inch/Metric Inch/Metric | )—— B
17
ATTC-16-25 28/1.102 25/0.984 15/0.590 22/0.866 ATTB-D16/D20/D25
ATTC-32-60 53/2.087 40/1.575 20/0.787 35/1.780 ATTB-D32/D40/D50/D60

128/129




> TECHNICAL INFORMATION FOR ANTI VIBRATION TOOLS

Assembly and Adjusting

part of the toolholder should be cleaned. Check A and B in the image below.

The surface of the cartridge and the shank to be mounted. as well as the inner

[2] Assembly for the Shank

Clamping Length>4XD

D} VR PR P

o : Internal Cooling

|
= L
|

4XD !

Span between two screws

Type C Clamping method
) N

The clamping length should not be less than 4 L/D raito. Suggest using the clamping cover with opening method and other holding clamping
methods. (Type C). Do not use screw clamping method. Use inner cooling please when working a long time.

[3] Adjusting the Height of Centre Assembly

When mounting the body for the first time. a special calibration tool should be
used for the center height. First mount the shank on the holder. then calibrate
it within 0.01 tolerance on the X axis direction. Please make the adjustment
with the dial indicator device.

Center Calibration Tool

.
<

House

[4] Assembly the Right Cartridge

See the figure on the side:

Left Hand

Right Hand

OAKKO

* ok h ok k
USAINC.

www.akkousa.us




TECHNICAL INFORMATION FOR ANTI VIBRATION TOOLS <

Choosing the Correct Insert

Choosing the correct insert can have a big influence on the overall success of vibration damping. The main way the insert can improve the
machining stability is by minimizing the cutting forces. Following the guidelines below should be your first step to eliminate vibrations: If
possible. use it always short drilling tools. Otherwise. reduce your speeds to minimize vibration.

n Choose an entry angle that is as close as possible to S0° to reduce the radial forces to a minimum.

/90"/’1 /75" K—E ?5"/\§ %

N S S S R E—
[E——————— et~ ¢ >

E Choose the smallest insert head angle possible. This will reduce overall cutting forces and increase the clearance.

Choose a small nose radius to reduce the cutting forces and to enable machining in a lower depth of cut.

0.2 0.4 1.2
— (0.008) — (0.016) (0.047)

m Machining depth (ap) should be larger than the nose radius. E For-dampened-straight-adaptor:

* ]
2 ¥ %

H Use an insert with an overall positive geometry to reduce the cutting forces: Gl

Short Design Long Design

@ 47xg mm) 7-10x8 (mm)

16 100 155
20 125 200
25 155 255
32 190 320

40 240 410
r ; ﬁ/\f 50 305 520
60 380 630

/,
!
j
.
—

130/131




1 8. 0. 8.6 ¢
USA INC.




O AKKO

1.0 0.0 5
USAINC.

the spoken quality... THREADING
TOOLHOLDERS

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 130/133




> EXTERNAL THREADING TOOLHOLDERS DESIGNATION SYSTEM

TsER2525M16C

(1] Method of Mounting of Insert [2] Application (3] Cutting Direction

S: Screw Clamping E: External
T: Screw Clamping with Helix Angle I: Internal
R: Sag Yan L: Sol Yan
Right-Hand  Left-Hand
- R: Rechts L: Links
[4] Type of Boring
A’ Solid steel with coolant hole m
“E” Carbide bar with fixed steel head and coolant hole
“C” Carbide shank
'S” Steel shank SEL
-+
External Shank Size [5] Shank Diameter

Shank : hxb
2525 - 25 x 25 mm

[6] Shank Length

Wedge Clamp

A
&\
| :
= I(mm) d
(m) oo )
7 06 5/32
A-32 H-100 Q-180 , D " 3;16”
B-40 J-110 R-200 INSL i ;
C-50 K-125 S-250 \ 7 11 1/4~
D-60 L-140 T-300 x-special == 6 38
ic 2 e
E-70 M-150 U-350 ! |
F-80 N-160 V-400 a7 58 %
G-90 P-170 W-450

S | RS25R16C

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




EXTERNAL THREADING TOOLHOLDERS <

lllustrations shown may vary from actual product.

Dimensions in Metric -?-; & @ & /\@;

Wedge Clamp

Ordering Code HF=H B LF  WF Insert Screw Shim Shim Screw Clamp Screw Torx Key
SER 0808 E11 8 8 70 11 11 ER/EL 4008-M2.546 - - - - 82108
SER 1010 E11 10 10 70 11 11 ER/EL 4008-M2.546 - - - - 82708
SER 1212 F11 12 12 8 12 11 ER/EL 4008-M2.5+6 - - - - 82108
SER 1616 H11 16 16 100 16 11 ER/EL 4008-M2.5+6 - - - - 82708
SER 2020 H11 20 20 100 20 11 ER/EL 4008-M2.5+6 - - - - 82108
SER 1616 H16C 6 16 100 16 TOERELO3S=3) soiswmasiis AATN-20020 AAVOBMBS(IT  ACKOS | 4015Mdxi1  8OTIS
SER 2020 K16C 20 20 125 20 TOERELOS=3) Tpi5masnia | AATN-2.0020 | AAV-0BMBSKI1  ACKOS | 4015MéxIT | 80TI5
SER 2525 M16C 25 25 150 o5 TOERELO3S=3) spi5apscis | AATN-20020 AAVOBMBSIT  ACKOS | 4015Mdxi1  8OTIS
SER 3232 P16C 22 32 170 32 TOERELO3S-3) io15m35x14 AATN-20020  AAVOBMSXIT | ACKOS | 4015Mdxi1 | 80TI5
SER 2525 M22C 25 25 150 o5 Z2ERELGS-45) 1000.M45016 AATN-20004 AAVOT-MASA3  ACKOS | 4015MdxI1 80T
SER 3232 P22C 22 32 A0 32 Z2ERELGS A5 1020.M45x16 AATN-2:0004 | AAVO7-MASKI3 | ACKOS | 4015Mdxi1 | 8020
SER 4040 $22C w0 40 250 40 ZERELESA9) 1020.M45016 ANTN-20004 AAVOT-MASA3  ACKOS  4015MdxI1  80T20
SER 2525 M16C-T %5 | 25 150 25  16ERL(153TR) ' 4015-M35x14 - - ACK-05 | 4015Mdx11 | 80-T15
SER 2525 M22C-T 25 25 150 25  22ERL(4-6TR)  1020-M45x16 - - ACK-05 | 4015Mdx11  80-T20
SER 2020 K16C- 20 | 20 125 25  SNDVK166ERL16  4015-M3.5x14  AATN-2-0020 | AAV-06-M35x11 = ACK05 | 4015Mdxi1 | 80-T15

SER 2525 M16C-S 25 25 150 = 31 = SNDVK166 ER/L16 = 4015-M3.5x14 | AATN-2-0020 = AAV-06-M3.5x11 = ACK-05 | 4015M4x11  80-T15

SER 3232 P16C-S 32 32 | 170 385 | SNDVK166 ER/L16 | 4015-M3.5x14 = AATN-2-0020 = AAV-06-M3.5x11 | ACK-05 | 4015 M4x11 80-T15

134/135




> EXTERNAL THREADING TOOLHOLDERS

LF J

lllustrations shown may vary from actual product.

Dimensions in Metric &4 & @ & / @;

Wedge Clamp

Ordering Code HF=H B LF  WF Insert Screw Shim Shim Screw Clamp g Torx Key
SEL 0808 E11 8 8 70 1 11 ER/EL 4008-M2.5+6 - - - - 82108
SEL 1010 E11 10 10 70 11 11 ER/EL 4008-M2.5x6 - - - - 82108
SEL 1212 F11 12 12 8 12 11 ER/EL 4008-M2.5x6 - - - - 82108
SEL 1616 H11 16 16 100 16 11 ER/EL 4008-M2.5x6 - - - - 82708
SEL 2020 H11 20 20 100 20 11 EREL 4008-M2.546 - - - - 82108
SEL 1616 H16C 6 16 100 16 OERELO3%3) s015Masi4 AATN-20020 AAVOBMBSXIT | ACKOS | 4015M4xi1  80TIS
SEL 2020 K16C 20 20 125 o0 TOERELO30=3)ipi5aasx14 | AATN-20020 | AAVOBMBSAIT  ACKOS | 4015Méxi1 | 80TIS5
SEL 2525 M16C 25 25 150 o5 TOERELOSS=3) upi5azscis AATN-2.0020 AAVOBMBSA1  ACKOS | 4015Méxit 8015
SEL 3232 P16C 22 32 70 32 TOERELO30-3) ipisaasxia | AATN-20020 | AAVOBM35AI1 ACKOS | 4015Méxi1 | 80T15
SEL 2525 M22C 25 25 150 o5 Z2ERELS 45 1090.m4506 ANTN-20004 AAVOT-MASA3  ACKOS | 4015Mdxt1  80T20
SEL 3232 P22C 22 32 70 32 | Z2ERELGS45) 1000045016 | ANTN-20004  AAVOT-MASA3 | ACKOS | 4015MdxIT | 80-T20
SEL 4040 S22C 0 40 250 40 Z2ERELES A5 1020.m45016 ANTN-20004 AAVO7-MASA3  ACKOS  4015Mdxi1 80T
SEL 2525 M16C-T 25 25 150 25  16ERL(153TR) ' 4015-M35x14 - - ACK-05 | 4015Mdx11 | 80-T15
SEL 2525 M22C-T 25 25 150 25  22ERL(4-6TR)  1020-M4.5x16 - - ACK-05 | 4015Mdx11  80-T20
SEL 2020 K16C-S 20 20 125 25  SNDVK16GERL16  4015-M3.5x14  AATN-2-0020 | AAV-06-M35x11 = ACK05  4015Mdx11 | 80-T15
SEL 2525 M16C-S 25 25 150 31  SNDVK16GERL16 4015-M3.5x14 AATN-2-0020 AAV-06-M35x11 ~ACK05  4015Mdx11  80-T15
SEL 3232 P16C-S 32 | 32 170 385 SNDVK16G6ERL16  4015-M3.5x14  AATN-2-0020 | AAV-06-M35x11 = ACK05  4015Mdx11 | 80-T15

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




EXTERNAL THREADING TOOLHOLDERS <

E
| LF .

llustrations shown may vary from actual product.

Dimensions in Metric \_a;_,. &

Ordering Code HF=H B LF  WF Insert Screw Right Shim Left Shim Shim Screw Shil;iﬁgrew Torx Key
TER 1616 H16 16 16 100 16 GEREL VDS ASAGE | ATSAGl | AAVTIUS40GS | ABPLO3 | 82710
TER 2020 K16 2 20 125 2 IGEREL U AISI6E | ATSAGl  AAVITUS40MS5  ABPLO3  B2TIO
TER 2525 M16 25 25 150 25 IGEREL U ATSI6E | ATSAGL | AAVITUS40MS | ABPLO3 | B2TIO
TER 3232 P16 2 % 0 3% MGEREL 00> AISI6E | A6 AWATUS40MS  ABPLO3 | 82TI0
TER 2525 M22 25 | 25 | 150 25 @ O2EREL | 1720U8-3215  ATS-22F | ATS-22l | AAVA2-US-3255 ABPLO4 | 8020
TER 3232 P22 3 32 170 32  2EREL  1720U8-3215  ATS22E | ATS-22l  AAVA2-US-3255 ABPLO4 | 80.T20
TER 4040 522 40 | 40 250 40 22FREL  1720U8-32x15  ATS22E | ATS22l | AAV-12-UB-3265  ABPLO4 | 80-T20
TER 2525 M27 o5 | 25 150 25 @ O7EREL | 1620-M5x22 | ATS27E | ATS-27l | AAV-ISMSG7 | ABPLOS | 80-T20
TER 3232 P27 3 32 170 32 | 27EREL | 1620-M5x22 | ATS27E | ATS-27 | AAV-S-MSG7 | ABPLOS | 80-T20
TER 4040 S27 40 40 250 40 27EREL | 1620-M52 | ATS27E | ATS27l | AAVAS-MSG7 | ABPLOS 80120
TEL 1616 H16 6 16 100 16 GEREL 005 ATSAGE | ATS16 | AATIUS4OGS  ABPLO3 82710
TEL 2020 K16 20 20 125 2 16EREL U AISI6E | ATSAGl  AAITUS40MS  ABPLO3  B2TIO
TEL 2525 M16 25 | 25 150 25 IGEREL US| ATSAGE | ATSAGl | AAGTIUS40GS | ABPLO3 | 82710
TEL 3232 P16 2 % 0 % GEREL U AISI6E | ATSAGl  AAVITUS40MS5  ABPLO3  82TIO
TEL 2525 M22 o5 | 25 | 150 25 @ 22EREL | 1720U8-3215  ATS22F | ATS-22l | AAVA2-US-3255 ABPLO4 | 80.T20
TEL 3232 P22 2 32 170 32 2EREL  1720U8-3215  ATS22E | ATS22  AAVA2-US-3255  ABPLO4 | 80.T20
TEL 4040 522 40 | 40 250 40 22FREL | 1720U832x15  ATS22E | ATS22l | AAV-12UB-3265  ABPLO4 | 80720
TEL 2525 M27 25 | 25 150 25 @ 27EREL | 1620-M5x22 | ATS27E | ATS27l | AAV-ISMSG7 | ABPLOS | 80.T20
TEL 3232 P27 32 32 170 32 | 27EREL | 1620-M5x22 | ATS27E | ATS-27 | AAV-ISMSG7 | ABPLOS | 80-T20
TEL 4040 527 40 40 250 40 27EREL | 1620MSx22 | ATS27E | ATS27l | AAVAS-MSXS7 | ABPLOS | 80120

136/137




) EXTERNAL THREADING TOOLHOLDERS FOR SWISS TYPE SLIDING AUTOMATIC LATHES

S

Tl E
B -

<>

LF \

llustrations shown may vary from actual product.

Dimensions in Metric A & @ & /@;

Wedge Clamp

Ordering Code HF=H B LF WF Insert Screw Shim Shim Screw Clamp Screw Torx Key
SER 1010 K11-S 10 10 125 10 11 ER/EL 4008-M2.5x6 - - - - 82-108
SER 1212 K11-S 12 12 125 12 11 ER/EL 4008-M2.5x6 - - - - 82-108
SER 1212 K16-S 12 12 125 12 16 ER3.5(0.35-3) 4015-M3.5X14 | AATN-2-0020 = AAV-08-M3.5X8 - - 80-T15
SEL 1010 K11-S 10 10 125 10 11 ER/EL 4008-M2.5x6 - - - - 82-T08
SEL 1212 K11-S 12 12 125 12 11 ER/EL 4008-M2.5x6 - - - - 82-108
SEL 1212 K16-S 12 12 125 12 |16 ER 3.5 (0.35-3) 4015-M3.5X14 | AATN-2-0020 AAV-08-M3.5X8 - - 80-T15

OAKKO

*k kK Kk

USA INC.




INTERNAL THREADING TOOLHOLDERS <

N o=
@) =
H

OHN

LF

lllustrations shown may vary from actual product.

Dimensions in Metric -?ﬂ & @ & ﬁ

Wedge Clamp

Ordering Code DCON BD LF LU=OHN WF DMIN Insert Screw Shim Shim Screw Clamp Screw Torx Key

SIR $12X05H 06 12 5 100 15 43 6.4 06 IR/L 3006-M2X3.6 - - - - 82-T06

SIR S$16X05H 06 16 5 100 15 43 6.4 06 IR/L 3006-M2X3.6 - - - - 82-T06

SIR $16X07M 08 16 7 | 150 18 53 78 08 IR/L 3007-M2.2x4.6 - - - - 82-107

SIR $10H 11 10 10 100 - 74 12 11 IRL 4008-M2.5%6 - - - - 82-T08

SIRA10H 11 10 10 | 100 - 74 12 11IRL 4008-M2.5%6 - - - - 82-T08

SIR $12K 11 12 12 125 - 8.4 15 11IRL 4008-M2.5x6 - - - - 82-T08

SIRA12K 11 12 12 | 125 - 8.4 15 11IRL 4008-M2.5x6 - - - - 82-108

SIR $16X10M 11 16 10 | 150 25 74 12 11IRL 4008-M2.5%6 - - - - 82-108

SIR S16X13M 11 16 13 | 150 32 8.9 15 11IRL 4008-M2.5%6 - - - - 82-T08

SIR S16M 11 16 16 150 - 1.7 19 11IRL 4008-M2.5x6 - - - - 82-T08
16IR/L (0.35- 3)

SIR A16X13M 16 16 12.8 1 150 32 10.2 16 IS0 METRIC 4015-M3.5x9 - - - - 80-T15
16 IR/L (0.35 - 3)

SIR $16X13M 16 16 13 150 32 10.2 16 IS0 METRIC 4015-M3.5x9 - - - - 80-T15
16 IR/L (0.35- 3)

SIR $16M 16 16 16 | 150 - 1.7 19 IS0 METRIC 4015-M3.5x11 - - - - 80-T15
16 IR/L (0.35 - 3)

SIR S20X16P 16 20 16 | 170 40 17 | 19 1S0 METRIC 4015-M3.5x11 - - - - 80-T15
16 IR/IL (0.35 - 3)

SIR A20X16P 16 20 16 | 170 40 17 | 19 1S0 METRIC 4015-M3.5x14 = AATN-2-0020 = AAV-08-M35x8 | ACK-05 |4015-Mdx11  80-T15
16 IR/L (0.35 - 3)

SIR S20P 16 20 20 170 - 137 | 24 IS0 METRIC 4015-M3.5x14 | AATN-2-0020 = AAV-06-M3.5x11 = ACK-05 | 4015-Mdx11 | 80-T15
16 IR/L (0.35 - 3)

SIR $25R 16C 25 25 | 200 - 162 | 29 IS0 METRIC 4015-M3.5x14 | AATN-2-0020 = AAV-06-M3.5x11 | ACK-05 | 4015-Mdx11 | 80-T15
16 IR/L (0.35 - 3)

SIR $328 16C 32 32 250 - 19.7 36 1SO METR(C 4015-M3.5x14 = AATN-2-0020 = AAV-06-M3.5x11 = ACK-05  4015-Mdx11  80-T15
16IR/L (0.35- 3)

SIR S40T 16C 40 40 | 300 - 237 | 44 1S0 METRIC 4015-M3.5x14 = AATN-2-0020 = AAV-06-M3.5x11 = ACK-05 | 4015-Mdx11  80-T15

i 16 IR/L (0.35 - 3) Y R B R - i

SIR 850U 16C 50 50 | 350 287 54 1S0 METRIC 4020-M4.5x12 80-T15

SIR S20P 22 20 20 170 - 157 | 24 2 Ilg(/)Ll\jl%'?R_lé )| 1020-M45x16 | AATN-2-0004 | AAVO-MASXE | ACK05 | 4015-Mdxi1 -
22IR/L (3.5 -4.5)

SIR $25R 22C 25 25 200 - 18.1 30 1S0 METR(C 1020-M4.5x16 = AATN-2-0004 = AAV-10-M4.5x8 = ACK-05 | 4015-M4x11  80-T20
22IR/L (3.5-4.5)

SIR $328 22C 32 32 | 250 - 216 38 1S0 METRIC 1020-M4.5x16 | AATN-2-0004 | AAV-07-M4.5x13 | ACK-05 | 4015-M4x11 | 80-T20
22 IR/L (35 - 4.5)

SIR $40T 22C 40 40 300 - 256 46 IS0 METRIC 1020-M4.5x16 | AATN-2-0004 | AAV-07-M4.5x13 | ACK-05  4015-M4x11 | 80-T15
22IR/L (3.5-4.5)

SIR 850U 22C 50 50 | 350 - 306 = 58 IS0 METRIC 1020-M4.5x16 |~ AATN-2-0004 | AAV-07-M4.5x13 | ACK-05 | 4015-M4x11  80-T15

SIR $25R 16C-T 25 25 200 - 16.2 29 16 IR/L (1.5-3TR) = 4015-M3.5x14 - - ACK-05 | 4015-M4x11  80-T15

SIR 8328 16C-T 32 32 250 - 19.7 36 16 IR/L (1.5-3TR) | 4015-M3.5x14 - - - - 80-T15

SIR S25R 22C-T 25 25 | 200 - 18.1 30 22IR/L (4-6TR) | 4015-M4x11 - - - - 80-T20

SIR §328 22C-T 32 32 | 250 - 216 = 38 22IR/L (4-6TR) | 4015-M4x11 - - - - 80-T20

138/139




> INTERNAL THREADING TOOLHOLDERS

1 =
£ & j | O
‘__j §£ } =

H | | OHN

lllustrations shown may vary from actual product.

LF
Dimensions in Metric .2; & \&\&\\@ @ &

Wedge Clamp

Ordering Code DCON BD LF LU=0HN WF DMIN Insert Screw Shim Shim Screw Clamp Screw Torx Key

SILSI2X05H06 12 5 100 15 | 43 | 64 06 IRL 3006-M2X3.6 . . . : 82106

SILSIGXOSHO06 16 5 100 15 43 64 06 IRL 3006-M2X3.6 : : : : 82106

SILSIGXO7MO8 16 7 |15 18 | 53 | 78 BRL  3007-M2246 - . . : 82707

SIL S10H 11 0 10 10 - | 74 12 111RL 4008-M2.5/6 - : : : 82708

SIL AT0H 11 0 10 10 - 74 12 111RL 4008-M2.556 . . . . 82108

SIL S12K 11 2 12 125 - 84 15 111RL 4008-M2.5:6 : : : : 82108

SIL A12K 11 22 12 125 - | 84 15 111RL 4008-M2.5:6 . . . . 8208

SLSIBXIOM11 16 10 150 25 74 12 111RL 4008-M2.5/6 - : : : 82708

SLSIGX13M11 | 16 13 150 32 | 89 15 111RL 4008-M2566 . . . . 82108

SIL $16M 11 6 16 150 - 17 19 111RL 4008-M2.556 : : : : 82108
16IRIL (0.35 - 3)

SILA6XI3M16 16 128 150 32 102 16 OHLOEI T 4pi5ma50 . . : . 80715
16IRIL (0.35 - 3)

SILSI6X13M16 | 16 13 150 s 102 16 ONLOSLpismase . . . : 80715
16IRIL (0.35 - 3)

SIL $16M 16 6 16 150 - 17 19 ORI g5 s . . . : 80715
16IRIL (0.35 - 3)

SILS20x16P16 20 16 170 40 117 19 OHLO9 053501 . . . . 80715
16IR/L (0.35-3)

SILA20X16P16 20 16 170 40 117 | 19 OGLONOaisuasda 20020  ANBMBSE | ACKDS | 4015Maxit | 80TIS
16IR/L (0.35-3)

SIL $20P 16 0 w0 - 137 2 OFLORI apismasds 2000 AMOBMISAT  ACKOS | 4015MaXiT | 80TIS
16IRIL (0.35 - 3)

SIL $25R 16C % 25 20 - 62 29 OFLOB I aoismasa mTN2000 ANOBMBSKT | ACKOS | A015MéxiT | 80TIS
16IRIL (0.35 - )

SIL $325 16C 2 @ 0 - 197 36 ONLO39upisuasaa ) aaN20020 AAOGMBSKT  ACKDS | 401SM4xit | 80TIS
16IRIL (0.35 - 3)

SIL $40T 16C 0 w0 30 - 7w ORLORI apismasas ami2000 AOBMBSAT  ACKOS | 4015MaxiT | 80TIS

) 16IR/L (0.35-3) | ) ) ) ) .

SIL $50U 16¢ 50 50 350 287 54 | OGLO09 4005012 8015

SIL $20P 22 2 0 10 - 157 24 ZECOSAO) T i000uasie ATN20004 | ANCIOMASE | ACKOS | A01SMAIT | -
2IRL (35-45)

SIL $25R 22¢ %5 25 20 - 181 a0 IO 400056 ANN200M4  ANOMASE  ACKOS | A015MéXIT | 80720
2R (35-45)

SIL $325 22¢ 2 @ 0 - 216 3 | ZEO219 i00uasd6 | ANN20004 | AMGOTMASK3  ACKDS | 401SMAxiT | 8020
2IRL (35-45)

SIL $40T 22C 0 w0 30 - 256 a6 P09 q0p0uma5d6 ANN20004 ARVOTMMSS  ACKOS | A01SMAXIT  BOTIS
2IRL (35-45)

SIL $50U 22¢ 0 50 30 - 206 58 2009 4000ama5d6 | ANN2.0004 ARVOTMMSN3 | ACKOS | A01SMéxiT | BOTIS

SILS25R16CT 25 25 200 - 162 29  16RL(153TR) 4015M354 - . ACKD5 | 4015-Maxt1 | 8015

SILS32S16CT 32 3 250 - 197 | 36 | 16RL(I53TR)  4015M354 - : . : 80715

SILS2BR22CT 25 25 200 - 181 30  22RL(6TR) | 4015-Méit . . . : 80120

SILS32822CT | 32 3 250 - | 216 38 2RLEETR) | 401541 : : . : 8020

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



INTERNAL THREADING TOOLHOLDERS <

=
H 8,
o B
' s} @ S
H OHN
LF

lllustrations shown may vary from actual product.

Dimensions in Metric —2. & & @ &

OrderingCode  DCON H LF OHN WF DMIN | Insert Screw  LeftShim RightShim  Shim Screw s“i“};iﬁgre‘” Torx Key
TIR S25R 16 25 23 | 200 - 16.2 29 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-16l AAV-11-U5-40x4.5 ABPL-03 82-T10
TIR S32S 16 32 30 250 - 19.7 36 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIR S40T 16 40 375 ' 300 - 23.7 44 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIR S50U 16 50 47 30 - 287 54  16RL | 1710U5-40022  ATST6E | ATS-16 | AA-I1-US4045  ABPLO3 | 82TI0
TIR $25R 22 %5 | 23 200 - 181 20 | 22RL | 170083215 | ATS22E | ATS2 | AM-12UB-3265  ABPLO4 | 80120
TIR S32S 22 32 30 250 - 216 38 22 IR/L 1720-U8-32x15 ATS-22E ATS-22 AAV-12-U8-32x5.5 ABPL-04 80-T20
TIR S40T 22 40 375 ' 300 - 25.6 46 22 IR/L 1720-U8-32x15 ATS-22E ATS-22| AAV-12-U8-32x5.5 ABPL-04 80-T120
TIR S50U 22 50 47 350 - 30.6 58 22 IRL 1720-U8-32x15 ATS-22E ATS-22| AAV-12-U8-32x5.5 ABPL-04 80-120
TIR $325 27 2 30 250 - | 26 40 | 27RL | 1620M5q8 | AISZE | AIS27 | AAVISMSGT | ABPLOS | 8020
TIR S40T 27 40 37.5 | 300 - 26.6 48 27 IR/L 1620-M5x22 ATS-27E ATS-271 AAV-15-M5x5.7 ABPL-05 80-T20
TIR S50U 27 50 47 | 350 - 31.6 58 27 IR/L 1620-M5x22 ATS-27E ATS-271 AAV-15-M5x5.7 ABPL-05 80-T20
TIR A20P 16 20 18 170 40 13.7 24 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIR A25R 16 25 23 | 200 50 16.2 29 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIRA32S 16 2 30 250 60 197 36 16RL | 1710U5-400122  ATST6E | ATS-16 | AA-I1US4045  ABPLO3 | 82TH0
TIR A40T 16 40 37.5 | 300 65 239 44 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-16l AAV-11-U5-40x4.5 ABPL-03 82-T10
TIL S25R 16 25 23 200 - 16.2 29 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIL S32S 16 32 30 | 250 - 19.7 36 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIL S40T 16 0 35 30 - 287 4 16RL | 1710U540022  ATST6E | ATS16 | AA-I1US40A5  ABPLOS | 82TH0
TIL S50U 16 50 47 | 350 - 28.7 54 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-16l AAV-11-U5-40x4.5 ABPL-03 82-T10
TIL S25R 22 25 23 200 - 181 29 22 IRL 1720-U8-32x15 ATS-22E ATS-221 AAV-12-U8-32x5.5 ABPL-04 80-T20
TIL $32S 22 32 30 | 250 - 21.6 38 22 IRL 1720-U8-32x15 ATS-22E ATS-221 AAV-12-U8-32x5.5 ABPL-04 80-120
TIL S40T 22 0 35 30 - 256 46 2RL | 17200835 | AIS2E | AIS22 | AA-12UB3265  ABPLOS | 8020
TIL S50U 22 50 47 | 350 - 30.6 58 22 IR/L 1720-U8-32x15 ATS-22E ATS-22 AAV-12-U8-32x5.5 ABPL-04 80-T20
TIL S32S 27 32 30 250 - 22.6 40 27 IRL 1620-M5x18 ATS-27E ATS-271 AAV-15-M5x5.7 ABPL-05 80-T20
TIL S40T 27 40 375 ' 300 - 26.6 48 27 IRL 1620-M5x22 ATS-27E ATS-271 AAV-15-M5x5.7 ABPL-05 80-T20
TIL S50U 27 50 47 | 350 - 31.6 58 27 IRL 1620-M5x22 ATS-27E ATS-271 AAV-15-M5x5.7 ABPL-05 80-T20
TIL A20P 16 20 18 | 170 40 13.7 24 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-16l AAV-11-U5-40x4.5 ABPL-03 82-T10
TIL A25R 16 25 23 200 50 16.2 29 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIL A32S 16 32 30 | 250 60 19.7 36 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
TIL A40T 16 40 375 300 65 239 44 16 IR/L 1710-U5-40x12.2 ATS-16E ATS-161 AAV-11-U5-40x4.5 ABPL-03 82-T10
140/141




> THREADING TOOLHOLDERS TECHNICAL INFORMATION

Thread Helix Angle
Pitch
™A 4 3 2 ™
5 5
Tanp =
nxD

3 8 Simplified formula
2.5 10 f=20PD
2 12 Example

D = 25 mm (0.98")
1.5 16 P =1.5mm (16 TPI)
1 24

—20x15 _ 45

0.5 48 B == 5 =12

mm 10 20 30 40 50 60 75 Pumocter
inch 3/8 3/4 125 15 2 25 3

Standard and Slanted Shim

Akko Toolholders Pockets have a built in 1.5° helix angle. This angle may be adjusted to Toolholder
better match the thread helix angle by simply changing the shim.

Negative helix is usually used when threading RH thread with LH Holder or LH thread
with RH Holder.

Negatlve B
Helix w

Toolholder

Pocket’s Angle (a)

-
EX-RHor IN-LH  ATS-16E+4.5 ATS-16E+3.5 ATS-16E+2.5 ATS-16E  ATS-16E+0.5 ATS-16E-0.5 | ATS-16E-1.5

16 3/8 EX-LHorIN-RH  ATS-161+4.5 ATS-161+3.5 | ATS-1614+-2.5  ATS-161 | ATS-1614+0.5 = ATS-161-0.5 & ATS-16l-1.5
22 1/2 EX-RHor IN-LH  ATS-22E+4.5 ATS-22E+3.5 ATS-22E+2.5 ATS-22E  ATS-22E+0.5 ' ATS-22E-0.5 | ATS-22E-1.5
22 1/2 EX-LHor IN-RH | ATS-221+4.5  ATS-221+3.5 ATS-221+2.5 ATS-22I  ATS-2214+0.5 = ATS-221-05 | ATS-221-1.5
27 5/8 EX-RHor IN-LH  ATS-27E+4.5 ATS-27E+3.5 ATS-27E+2.5 ATS-27E  ATS-27E+0.5 | ATS-27E-0.5 | ATS-27E-1.5
27 5/8 EX-LHor IN-RH | ATS-271+4.5 ATS-271+3.5 ATS-271+25  ATS-271  ATS-271+0.5 @ ATS-271-05 | ATS-271-1.5

O AKKO
==k A==
USA INC.




THREADING TOOLHOLDERS TECHNICAL INFORMATION <

Shim Change Recommendation

As can be seen from the chart, some Pitch to Diameter combinations require a shim change. If change is required,use ATS-E shim for
EX-RH and IN-LH toolholders and ATS-I shims for IN-RH and EX-LH toolholders.

Pitch
TPl _mm
25| 10
ACME

9 STUB ACME

3l 8 TRAPEZ (DIN 103)
ROUND (DIN 405)
35| 7
4 6
Standard shim
(supplied with toolholder)

5 5
6 4

3.5
8| 3 — |
1 Toolholder
0| 25 ) o
12 P //l Change to shim ATS-E or ATS-/ +0.5 [:
16| 15 [ [ [ [ [

I >

mm: 510 20 30 40 50 60 70 80 90 100 110 120 130 140
Inch: 025 050 075 1 125 150 2 250 3 4 5 Diameter

As can be seen from the chart. most applications do not require a shim change. If change is required.
use ATS-E shims for EX-RH and IN-LH toolholders and ATS-I shims for IN-RH and EX-LH toolholders.

Pitch A

TPl mm
25] 10 o
B A PARTIAL PROFILES 60
> G o
9 bl L9 AV PARTIAL PROFILES 55°
3 8 ’Specrabholdeuequrred /5- é’-’ @,\" ISO
wlf SAY X,
35| 7 g éu ‘oé UN
: NE B WHIT.
4|6 X NPT
Standard shim BSPT
5 5 (supplied with toolholder)
6| 4 |
3.5
8 3
10| 2.5
12 2
161 1.5
>
mm: 5 10 20 30 40 50 60 70 80 90 100 110 120 130 140 Di ;
Inch: 025 050 075 1 1.25 150 2 250 3 4 5 lameter
Pitch As can be seen from the chart. most applications require a shim change. In most cases a negative shim is
TPl mm | required. use ATS-E shims for EX-RH and IN-LH toolholders. ATS-I shims for IN-RH and EX-LH toolholders.
25| 10
9 (5" Standard shim
’Spemafhafderreqwed‘ < (supplied with toolholder)
3| 8 5’
S AMERICAN
35| 7 y / 04)4/ BUTTRESS
& SAGENGEWINDE
41 6 (DIN 513)
5| 5 o .
For negative shim, use ATS-E or ATS-I -1.5
6 4
3.5 |
8| 3 — Replacing the standard
10| 2.5 shim with a shim has
12 2 negative angle. will
161 1.5 > Negative shim elimimate side rubbing
mm: 510 20 30 40 50 60 70 80 90 100 110 120 130 140 After Shim Change
Inch: 025 050 075 1 125 1.50 2 2.50 3 4 5 Diameter

142/143




Indexable Tools, Tool Holder Systems and Cutting Inserts
www.akkousa.us

) AKKO USA INC.



O AKKO

ARk
USA INC.

the spoken quality... G Ro OVI N G
TOOLHOLDERS

e

y AR aTE n uﬁ--‘l
O a -MW;"— _.I :!_ i ' i
@B 'ﬁjﬁ!lgszs M6 ] sevamiis T2 =

142/145




> GROOVING TOOLHOLDERS DESIGNATION SYSTEM

| I [ |
2 3 4 5]

[2] cutter Style [3] insert ypev

DKT: External Grooving Toolholders KRLY / MGM. TGTC/TD.
IKT: Internal Grooving Toolholders HRN/S312, S229, 5224, 5223
AKT: Face Grooving Toolholders ISCR/DGN, GI, GTN
LKT: L Type Face Grooving Toolholders SNDVK/ 123, 151, 154.91
ZCC
KM/ A4.
ARN/LOMR.

B
<>

R L

DCON

Please be informed that for AAKT products
cutting direction is vice versa what is shown.

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




GROOVING TOOLHOLDERS DESIGNATION SYSTEM <

(6] Cutting Diametter Cutting Width Edge

\ ORE.G: 2=0.0787 inch
/ DX (06 3=0.1181 inch
4=0.1574inch
|——J*M (04) 5=0.1968 inch
6=0.2362 inch

—— 8= 0.3149

Shank Length

~N o o]

8
10
12

Special

[9] Cutting Depth

AO
()
y <

146/147




O AKKO

——— 2 8 0 8 O &

SPECIAL PRODUCT ORDER FORM <

USA INC.

Company Name:

Type of Grooving Toolholders
(] amype [leme [ ctime

D D Type

D E Type

Date:

Coolant Hole

[l

Coolant Info

@

Without Coolant Hole

[l

Ll

Cutting Direction

L

Ll

Can you send the original body/insert ? If Needed! ﬁ ‘ |j

Insert Code

Insert Brand

Cutting Width Edge

A Type - External Grooving Toolholders

B Type - Internal Grooving Toolholders

OHN (K j
1 - _
LF i \) -
=| /M
DCON (t | = ‘

T
WF
|
DCON
//
\\
Q
=

DMIN LF

CDX

O AKKO

2 S A0 0
USA INC.

www.akkousa.us




O AKKO

1L 0.8 0 8 ¢
USAINC.

C Type - L Type Face Grooving

WF

CDX
LF

DAXX
DAXIN

SPECIAL PRODUCT ORDER FORM <

_HF

o
LF

DAXX

DAXIN
.y

D Type - Face Grooving Toolholders

WF
CDX

DAXX
DAXIN

LF

E Type - Blade Grooving Toolholders

I%I
WB (S

WB2 =

CUTDIA

WF

N

150°

2

148/149




> GROOVING TOOLHOLDERS

LF

\

lllustrations shown may vary from actual product.

Dimensions in Inch ‘ _ § )

Ordering Code HF=H B LF WF CDX ‘ Insert Screw Allen Key
ADKT-GPR-R-10-2C-R063 0.625 0.625 5.000 0.633 0.630 GP.-2 AKV-02-M6x22 AAL-03-3
ADKT-GPR-R-12-2C-R094 0.750 0.750 5.000 0.758 0.940 GP.-2 AKV-02-M6x22 AAL-03-3
ADKT-GPR-R-16-2E-R094 1.000 1.000 7.000 10.080 0.940 GP.-2 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-10-3C-R063 0.625 0.625 5.000 0.637 0.630 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-12-3C-R079 0.750 0.750 5.000 0.762 0.790 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-12-3C-R094 0.750 0.750 5.000 0.762 0.940 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-16-3D-R079 1.000 1.000 6.000 10.120 0.790 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-16-3E-R126 1.000 1.000 7.000 10.120 1.260 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-16-4E-R126 1.000 1.000 7.000 10.157 1.260 GP.-4 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-16-5E-R126 1.000 1.000 7.000 10.196 1.260 GP.-5 2004-M8x1x20 AAL-05-4
ADKT-GPR-R-16-6E-R126 1.000 1.000 7.000 10.196 1.260 GP.-6 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-10-2C-R063 0.625 0.625 5.000 0.633 0.630 GP.-2 AKV-02-M6x22 AAL-03-3
ADKT-GPR-L-12-2C-R094 0.750 0.750 5.000 0.758 0.940 GP.-2 AKV-02-M6x22 AAL-03-3
ADKT-GPR-L-16-2E-R094 1.000 1.000 7.000 10.080 0.940 GP.-2 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-10-3C-R063 0.625 0.625 5.000 0.637 0.630 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-12-3C-R079 0.750 0.750 5.000 0.762 0.790 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-12-3C-R094 0.750 0.750 5.000 0.762 0.940 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-16-3D-R079 1.000 1.000 6.000 10.120 0.790 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-16-3E-R126 1.000 1.000 7.000 10.120 1.260 GP.-3 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-16-4E-R126 1.000 1.000 7.000 10.157 1.260 GP.-4 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-16-5E-R126 1.000 1.000 7.000 10.196 1.260 GP.-5 2004-M8x1x20 AAL-05-4
ADKT-GPR-L-16-6E-R126 1.000 1.000 7.000 10.196 1.260 GP.-6 2004-M8x1x20 AAL-05-4

Compatible with PLBT Insert.

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




O AKKO

1.0 0.0 5
USAINC.

U-DRILL

DRILLING AND HOLEMAKING TOOLS

the spoken quality...

.. 148/ 151




> U-DRILL DESIGNATION SYSTEM

A TUM 750 x D3

S PG T 060204

|Z| Cutter Style E Tool Diameter E Drilling Depth

TUM: U-Drill

80° § L\
e e PRy qe

w s C P
O AKKO -
—paarr=—

USA INC.



Tolerance Classes

U-DRILL DESIGNATION SYSTEM <

IC

IC :Inscribed Circle

M : Refer to Figure
S : Thickness

Fo RN
S

IC M S
A +0.00098 +0.00019 +0.00098
C +0.00098 +0.00051 +0.00098
E +0.00098 +0.00098 +0.00098
F +0.00051 +0.00019 +0.00098
G +0.00098 +0.00098 +0.00051
H +0.00051 +0.00051 +0.00098
J | =0.00196-0.0059 +0.00019 +0.00098
K | =0.00196-0.0059 +0.00051 +0.00098
L | +0.00196-0.0059 +0.00098 +0.00098
M | +0.00196-0.0059 | +0.00196-0.00787 | =+0.00051
N | =0.00196-0.0059 | +0.00196-0.00787 | =+0.00098
U | +0.00314-0.00984 | =0.00512-0.01496 | =0.00051

Insert Type

ALTL]
(Ew

H ﬁ J
7

B = 70-90°

B [T7]

1/

B = 70-90°

=

B =70-90°

R I T
— =

B = 40-60°

c =3

B =70-90°

M [T
(I

TR =0x

B = 40-60°

F I 3

N [ ]
7

w
D=

B = 40-60°

G 1T

Q =1

B = 40-60°

X Ozel
Special
Sonder

<—|—>

HENE
= A
A
(A

1/16 | 04 | 3/16

9/128 | 05 | 7/32

5/64 | 06 | 1/4

3/32 | 07 | 5/16

7/64 | 09 | 3/8

18 | 11| 7/16

532 |12 | 1/2

[9] Cutting Edge Length Thickness [11] Corner Radius

\r

r
01 0.004
02 0.008
04 1/64
08 1/32
12 3/64
16 1/16
24 3/32
28 7/64
32 1/8

152/153




®
A K KO SPECIAL PRODUCT ORDER FORM <

— 1 8 4 8 8 & .

USA INC.

Company Name: Date:

Coolant type Types of Shank

[ ] oil Hole On the [ ] “0il hole On the
Plunge Part Shank”

[] + - Il Flat Type

72

f S J
(] - -{i— Weldon Type
o
ﬁ

[l + ———-1 wWhistle Notch Type

Hole Type

[ ] Blind Hole [ | Thru Hole

Location of Side Lock

Currently Using Tool ‘

[ ] Parallel to Peripheral Insert (Standard)

Current Cutting Condition \

7 i
— RPM or ve(m/min) \

vf(mm/min) or fn(mm/rev) vf ‘

[©

D 90°angle to peripheral insert

Depth of Cut(mm) ‘

|

|

|

|

- :ﬂ] |
B T Standard of Measuring Tool Life‘ ‘
|

|

|

|

Currently Using Machine|

[ ] 150°angle to peripheral insert Machining Center |

/) — 330“ General Lathe ‘
B—— |
CNC Lathe \

[ ] 180° angle to peripheral insert

AN————
BlC—— = H -

Y N
Can you send the original body/insert ? If Needed! |f| ‘ |j InserlCode InsertBrand

Rectangular Shank Tool Size

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




®
A K KO SPECIAL PRODUCT ORDER FORM <

L0086 6 .
USA INC.

[ avype

| @d | @d1

oDi| @D T o I ad | @d1
COlCH] E fiF==iF======= OO

D C Type D D Type

AKKO HELICAL CHANNEL TECHNOLOGY COMPETITORS

D2/D3/D4/D5

% Twisted Coolant Hole

154/155




> DRILLING AND HOLEMAKING TOOLS

=
'8
DCSFMS

lllustrations shown may vary from actual product.

- & S
Dimensions in Inch el /

Ordering Code DC DCON DCSFMS  OAL LU LPR LS Xmax  DCmax Incll:l/s;;;ltric Screw Torx Key
wg'\'nv' 31733%23 WCM. 18152 (750 | 4000 | 1330 | 5321 | 2250 3116 | 2205 0047 | 0.844 ot 181%2 | 3008256 | 82708
QI(l:jl\lnw 3%%33 Lol i 0812 | 1000 1339 5507 = 2435 3302 2205 0591 1993 M gn0gwpse 82108
GI(I:JI\'IIVI 3%%33 WEM. 2152 0875 | 1000 | 1339 | 5696 2625 3491 2205 0039 0954 | OMZIZ Tgnogupse | saTos
Qfé’.v.'“ gggg’é? WCM.2522 (435 1000 1330 5885 2814 3680 2205 0039 1017 ol 2522 00836 | 82108
Wc”&" :]ggg’ég:’ WCM. 2522 1000 | 1000 | 1339 | 6071 | 3000 & 3866 & 2205 0057 1414 RO so0pmae | 82708
x-(ltjl\lnw :]gggﬁga i, 2 1062 1000 133 | 6257 3186 4052 2205 0057 | 1476 WO 22 apopugg  gaT0
QT:‘;’MM :]153%23 WCM. 2522 1125 | 1000 | 133 | 6446 | 3375 4201 | 2205 o063 | 1251 | OV aoppygg  gaT0
QI(l:jl\lnw :)gi%gs LAl A 1250 | 1250 | 173 | 7475 | 3750 4813 | 2362 | 0087 | 1423 AOM OB apromzse  s2Tio
m’l\'"v' :lgggg” WCM. 3252 1375 | 1250 | 173 | 755 | 4125 5188 | 2362 | o075 | 155 | WOV S2apiomgse | g2Ti0
m 1122%33 WGCHM, 3252 1500 1250 173 | 7925 4500 556 | 2362 0059 1618 OO apromzse  s2Tio
Wc”&" :]3%33 WCM. 3252 175 | 1250 | 178 | 8675 | 5250 | 6313 | 2362 0000 1750 OV 1 aotomase | 82710
GI(I:JI\IIIVI 5232)1(23 Lol e i 2000 | 1500 2126 10016 6000 = 7.260 = 2756 = 0.079 | 2.157 w\évm)'84034312 4015-Max11 | 80-T15
QTéJMM ggg%gs WCM. 18152 (750 | 4000 | 1330 6821 | 3750 4616 | 2205 0047 | 0.844 o 181%2 | 3008256 | 82708
wg'\'nw 3%%35 Ll 0812 | 1000 | 1339 7431 | 4060 4926 2205 0059 0930 | OM-ZISZ gnogapse  gaTos
GI(I:JI\'IIVI g%%? WEM. 2152 0875 | 1000 = 1339 | 7446 | 4375 = 5241 2205 0039 | 0954 W"XCMMO%%B 3008-M25%6 82708
m"\'nv' 323%35 WCM, 2522 093 | 1000 1339 776 4690  55% 2205 0039 1017 | OMZBE - gn03mze  s2Tos
Wcun?." ngg’é? WCM. 2522 1000 | 1000 | 1339 | 8071 | 5000 & 5866 2205 0057 1414 | ROMZ 1 ao0pmae | 82708
QI(I:JI\IIIVI :123%25 R 1062 1000 133 | 8381 5310 6176 2205 0057 1476 WO 22 aoopugg  gaT0
a{é"\'nw :]1512]3’;25 WCM. 2522 1125 | 1000 | 1339 | 8696 5625 6491 | 2205 0068 | 1251 | OV B aoopugg | gaT0
GI(I:JI\I/IVI ;gi%? Ll 1250 | 1250 | 1732 | 9675 = 6250 7.313 | 2362 0087 | 1423 WVXCMMO%SS 3010-M359 82710
QI(I:JI\'IIVI :1212525 WCM. 3252 1375 | 1250 | 1732 | 10300 @ 6.875 | 7938 = 2362 | 0.075 = 1525 WVXCMMOgigSS 3010-M3.59 | 82TH0
wg'\'nw ;ggg’égs WC. 3252 1500 1250 173 | 10925 7500 8563 2362 0059 1618 OV OB apromzse  s2Tio
QI(I:JI\'IIVI :13%35 WCM. 3252 1750 | 1250 | 173 | 12175 8750 9813 | 2362 | 0000 | 1750 | WOM- S22 apiongsg | gaTio

Compatible with I1SO Insert.

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



DRILLING AND HOLEMAKING TOOLS <

=
. O
(&5
(=]
DCSFMS
llustrations shown may vary from actual product.
- $O
Dimensions in Inch prm— /
. Insert
Ordering Code DC DCON DCSFMS  OAL LU LPR LS Xmax  DCmax Inch/Metric Screw Torx Key
ATUM 2000XD5 WCM. 433 WCM. 433
WCM. 080412 2.000 1.500 2.126 14.016 | 10.000 & 11.260 2.756 0.079 2.157 WGCM. 080412 4015-M4x11 80-T15
ATUM 2125XD5 WCM. 433 WCM. 433
WCM. 080412 2.125 1.500 2126 | 14509 | 10.625 @ 11.884 = 2.756 0.039 2.204 WCM. 080412 4015-M4x11 80-T15
ATUM 2225XD5 WCM. 433 WCM. 433
WCM. 080412 2.225 1.500 2.519 15.009 = 11125 @ 12.384 2.756 0.020 2.264 WCM. 080412 4015-M4x11 80-T15
Compatible with I1SO Insert.
e, —I=<- —
o 8 ,,,,,,,,,, B TR | _ 8
=L bt
. L |
;“"‘7 LPR LS
= 0AL
lllustrations shown may vary from actual product.
_ Q
S
Dimensions in Inch /
. Insert
Ordering Code DC DCON DCSFMS  OAL LU LPR LS Xmax  DCmax Inch/Metric Screw Torx Key
ATUM 0656XD3 SP. 2151 SP. 2151
SP. 060204 0.656 1.000 1.339 4.961 2.086 2.756 2.205 0.031 0.719 SP. 060204 3007-M2.2x5 80-107
ATUM 1000XD5 SP. 25252 SP. 25252
SP. 077308 1.000 1.250 1.732 8.438 5.000 6.063 2.375 0.010 1.020 SP. 077308 3008-M2.5x6 80-T08
ATUM 1125XD5 SP. 332 SP. 332
SP. 090408 1.125 1.250 1.732 9.062 5.434 6.687 2.375 0.039 1.204 SP. 090408 4015-M3.5x9 80-T15
ATUM 1250XD5 SP. 332 SP. 332
SP. 090408 1.250 1.500 2126 10134 = 6.053 7.509 2.625 0.010 1.270 SP. 090408 4015-M3.5x9 80-T15
ATUM 1500XD5 SP. 3532 SP. 3532
SP. 110408 1.500 1.500 2.126 11.385 7.303 8.760 2.625 0.010 1.520 SP. 110408 4015-M4x11 80-T15
ATUM 1625XD5 SP. 3532 SP. 3532
SP. 110408 1.625 1.500 2.126 12.010 7.928 9.385 2.625 0.000 1.625 SP. 110408 4015-M4x11 80-T15
ATUM 1750XD5 SP. 3532 SP. 3532
SP. 110408 1.750 1.500 2126 | 12.634 = 8553 | 10.009 @ 2.625 0.031 1.813 SP. 110408 1020-M5x11 80-T20
ATUM 1875XD5 SP. 3532 SP. 3532
SP. 110408 1.875 1.500 2.126 13.259 9.178 10.634 2.625 0.008 1.891 SP. 110408 1020-M5x11 80-120
Compatible with TGTC Insert.
156/157




> DRILLING AND HOLEMAKING TOOLS

L =
(@] o
[mn] Il (]
= [ o
LU L]
LPR LS
OAL
lllustrations shown may vary from actual product.
¥ ¥ - Q
o - N $O
Dimensions in Inch —— ‘vm— /
. Inner Insert  Outer Insert Inner
Ordering Code DC DCON DCSFMS OAL LU LPR LS Xmax DCmax Inch/Metric  Inch/Metric D Torx Key

XP.1815.. | SC..1815..

ATUM 0594XD3 SC.. 0502-XP.. 0502 0.594 = 1.000 | 1.339 |5.012 1.783 2.768 2.244 0.020 | 0.633 XP.0502. | SC.0502.

3007-M2.2x5 80-107

XP.1815..  SC..1815..

ATUM 0625XD3 SC.. 0502-XP.. 0502 0.625 1.000 1.339 | 5.109 1.875 2.865 2.244 0.035 0.696 XP.0502.. | SC.0502..

3007-M2.2x5 80-T07

XP.1815.. | SC..1815..

ATUM 0656XD3 SC.. 0502-XP.. 0502 0.656 = 1.000 | 1.339 |5.197 1.969 2953 2.244 0.031 | 0.719 XP.0502. | SC..0502.

3007-M2.2x5 80-107

XP.215.. | SC..1815..

XP.0602. | SC.0502. | S007-M22G | 80-T07

ATUM 0687XD3 SC.. 0502-XP.. 0602 0.687 1.000  1.339 | 5285 2.061 3.041 2244 0.030 0.746

ATUM 0709XD3 SC.. 0502-XP.. 0602 0.709 ' 1.000 | 1.339 | 5354 2127 3.110 2.244 0.020 0.748 ))((50261052 85%358325 3007-M2.2x5 80-107

XP.215.. | SC..1815..

ATUM 0750XD3 SC.. 0502-XP.. 0602 0.75 1.000 1339 5476 2250 3.232 2244 0.012 | 0.774 XP.0602. | SC.0502.

3007-M2.2x5 80-107

XP. 215.. SC.. 215..

ATUM 0766XD3 SC.. 0602-XP.. 0602 0.766 | 1.000 1.339 5528 2298 3.284 2244 0.012 | 0.790 XP.0602.. | SC..0602..

3007-M2.2x5 80-T08

XP. 215.. SC.. 215..

ATUM 0787XD3 SC.. 0602-XP.. 0602 0.787  1.000 = 1.339 | 5.591 2.361 3.347 2.244 0.000 0.787 XP.0602. | SC..0602.

3007-M2.2x5 80-T08

XP. 215.. SC.. 215..

ATUM 0812XD3 SC.. 0602-XP.. 0602 0.812 / 1.000 | 1.339 |5.665 2.436 3.421 2.244 0.000 | 0.812 XP.0602. | SC.0602.

3007-M2.2x5 80-T08

XP. 215.. SC.. 215..
ATUM 0827XD3 SC.. 0602-XP.. 0602 0.827  1.000 1339 5709 2481 3.465 2.244 0.000 0.827 XP.0602.. | SC..0602.. 3007-M2.2x5 80-T08

XP. 252.. SC.. 215..

ATUM 0875XD3 SC.. 0602-XP.. 0703 0.875  1.000 | 1.339 |5.854 2.625 3.610 2.244 0.039 | 0.954 XP.0703. | SC..0602.

3008-M2.5x6 80-T08

XP. 252.. SC.. 252..

ATUM 0906XD3 SC.. 0703-XP. 0703 0.906 1.000 1.339 | 5.954 2718 3.710 2244 0.030  0.965 XP.0703. | SC..0703.

3008-M2.5x6 80-T08

ATUM 0922XD3 SC.. 0703-XP.. 0703 0.922 1 1.000 | 1.339 | 5996 2.766 3.752 2.244 0.030 0.981 ))((5027%% 385027%23 3008-M2.5x6 80-T08

XP. 252.. SC.. 252..

ATUM 0937XD3 SC.. 0703-XP. 0703 0.937 1.000 1.339 | 6.039 2.811 3.795 2244 0.024 | 0.984 XP.0703. | SC.0703.

3008-M2.5x6 80-T08

XP. 252.. SC.. 252..
ATUM 0984XD3 SC.. 0703-XP.. 0703 0.984 1250 | 1.732 | 6.299 2952 3.937 2.362 0.010 1.004 XP.0703.. | SGC.0703. 3008-M2.5x6 80-T08

XP. 252.. SC.. 252..

ATUM 1000XD3 SC.. 0703-XP.. 0703 1.000 | 1.250  1.732  6.346 2.992 3.984 | 2.362 0.010 1.020 XP.0703. | SC..0703.

3008-M2.5x6 80-T08

XP. 32.. SC.. 252..

XP.0903. | SC.0703. | S008-M3x7 80-T08

ATUM 1032XD3 SC.. 0703-XP. 0903 1.032 | 1.250 1732  6.441 3.096 4.079 | 2.362 0.000 1.032

XP. 32.. SC.. 252..

ATUM 1062XD3 SC.. 0703-XP.. 0903 1062 1250 1732 6531 3.186 4169 2362 0000 1.062 y5oo0a | oc 0703,

3008-M3x7 80-T08

XP. 32.. SC.. 325..

ATUM 1109XD3 SC.. 09T3-XP.. 0903 1.109 | 1.250 1732  6.673  3.327 4.311 | 2.362 0.039 1.188 XP 0903 | SC.09T3.

3008-M3x7 80-T15

XP. 32.. SC.. 325..
ATUM 1125XD3 SC.. 09T3-XP.. 0903 1125 1250 1732  6.720 3.375 4.358 2.362 0.039 1.204 XP.0903. | SGC..09T3.. 3008-M3x7 80-T15

XP. 32.. SC.. 325..
ATUM 1172XD3 SC.. 09T3-XP.. 0903 1172 1 1250 = 1732  6.862 3.516 4.500 2.362 0.030 1.231 XP.0903. | SGC..09T3.. 3008-M3x7 80-T15

XP. 32.. SC.. 325..

ATUM 1187XD3 SC.. 09T3-XP.. 0903 1187 1250 1732  6.906 3.561 4.544 2362 0.020 1.226 XP.0903. | SGC..09T3..

3008-M3x7 80-T15

Compatible with PRMT Insert.

OAKKO

* ok h ok k
USA INC.

www.akkousa.us



DRILLING AND HOLEMAKING TOOLS <

DC
|
DCON

LPR LS

OAL
lllustrations shown may vary from actual product.

C 5
Dimensions in Inch — — /

Inner Insert  Outer Insert
Inch/Metric  Inch/Metric

Ordering Code DC DCON DCSFMS OAL LU LPR LS Xmax DCmax Screw Torx Key

XP.3525.. | SC..325..

ATUM 1250XD3 SC.. 09T3-XP.. 11T3 1.250 1 1.500 | 2126 | 7.370 | 3.750 | 4.732  2.638 | 0.010 = 1.270 XP1173.. | SC..09T3..

4015-M3.5x9 80-T15

XP.3525..  SC..325..

ATUM 1312XD3 SC.. 09T3-XP. 11T3 1312 1500 2126  7.559 | 3936 4.921 2.638 0.000 1.312 XPA1T3.. | SC.09T3.

4015-M3.5x9 80-T15

XP.3525.. | SC..325..

ATUM 1344XD3 SC.. 09T3-XP.. 11T3 1344 1500 = 2126 | 7.654 | 4032 5.016 2.638 0.039 1423 XP11T3. | SC..09T3.

4015-M3.5x9 80-T15

XP. 3525.. SC.. 43..

ATUM 1375XD3 SC.. 1204-XP. 11T3 1375 1500 2126  7.748 | 4125 5110 2.638 0.030 1.434 XP11T3.. | SC.1204.

4015-M3.5x9 80-T20

ATUM 1437XD3 SC.. 1204-XP. 11T3 1437 | 1500 = 2126 7933 4311 5295 2.638 | 0.024 | 1.484 ))((21315.?35 sgci'zﬁ" 4015-M3.5x9 80-120

XP. 3525.. SC.. 43..

ATUM 1500XD3 SC.. 1204-XP.. 11T3 1500 1.500 2126  8.112 4500 | 5.474 2.638 0.010 1.520 XPA1T3.. | SC.1204.

4015-M3.5x9 80-T20

XP. 53.. SC.. 43..

ATUM 1750XD3 SC.. 1204-XP. 1504 1.750 | 1.500 | 2.126 | 8.843 | 5250 | 6.205 2.638 | 0.031  1.813 XP.1504. | SC..1204.

4015-M4x11 80-T20

XP. 53.. SC.. 535..

ATUM 2000XD3 SC.. 1505-XP.. 1504 2.000 1500 2126  9.626 6.000 6.988 | 2.638 0.000 2.000 XP.1504. | SC.1505..

4015-M4x11 80-T20

XP.1815.. | SC..1815..

ATUM 0625XD4 SC.. 0502-XP.. 0502 0.625| 1.000 1.339 | 5728 2500 3.484 | 2.244 0.020 0.665 XP.0502. | SC.0502.

3007-M2.2x5 80-107

ATUM 0687XD4 SC.. 0502-XP. 0602 0687 1000 1330 5976 2748 3732 2244 0.030 0.746 )’(‘F',’O%}Jg %%35325 3007-M2.2%5 80107

XP.215.. | SC..1815..

ATUM 0709XD4 SC.. 0502-XP.. 0602 0.709 | 1.000 1.339 | 6.063 2.836 3.819 | 2.244 0.020 0.748 XP.0602. | SC.0502.

3007-M2.2x5 80-107

XP.215.. = SC..1815..

ATUM 0750XD4 SC.. 0502-XP.. 0602 0.750 | 1.000 1.339 6228 3.000 3.984 | 2.244 0.012 0.774 XP.0602. | SC.0502..

3007-M2.2x5 80-T07

XP. 215.. SC.. 215..
ATUM 0812XD4 SC.. 0602-XP.. 0602 0812 ' 1.000 1.339 6476 3.248 4.232 2244 0.000 0.812 XP.0602. | SC.0602. 3007-M2.2x5 80-T08

XP. 252.. SC.. 215..

ATUM 0875XD4 SC.. 0602-XP. 0703 0.875 | 1.000 1339 6728 3.500 4.484 | 2.244 0.039 0.954 XP.0703. | SC.0602.

3008-M2.5x6 80-T08

XP. 252.. SC.. 252..
ATUM 0906XD4 SC.. 0703-XP.. 0703 0.906 = 1.000 1.339 | 6.850 3.624 4.606 2.244 0.030 0.965 XP.0703.. | SC..0703. 3008-M2.5x6 80-T08

XP. 252.. SC.. 252..

ATUM 0922XD4 SC.. 0703-XP.. 0703 0922 | 1.000 1.339 6917 3.688 4.673 2244 0.030 0.981 XP.0703. | SC.0703.

3008-M2.5x6 80-T08

XP. 252.. SC.. 252..

XP.0703. | SC.0703. A 008-M256 | 80-T08

ATUM 1000XD4 SC.. 0703-XP. 0703 1.000  1.250  1.732 | 7.346 | 4000 4.984 2.362 0.010 1.020

XP. 32.. SC.. 252..

ATUM 1062XD4 SC.. 0703-XP.. 0903 1.062  1.250 1.732 | 7.594 | 4.248 | 5.232 2.362 0.000 1.062 XP.0903. | SGC..0703.

3008-M3x7 80-T08

XP. 32.. SC.. 325..

ATUM 1125XD4 SC.. 09T3-XP.. 0903 1125 1 1.250 | 1.732 | 7.846 | 4500 | 5.484 2.362 | 0.039 = 1.204 XP0903. | SC. 0973,

3008-M3x7 80-T15

XP. 32.. SC.. 325..
ATUM 1187XD4 SC.. 09T3-XP.. 0903 1187  1.250  1.732  8.094 = 4.748 | 5.732 2.362 0.020 1.226 XP.0903. | SGC.09T3. 3008-M3x7 80-T15

Compatible with PRMT Insert.

158/159




the spoken
quality...

O AKKO

L. 0.0 0 6
USA INC.

- www.akkousa.us

. gle. - g




O AKKO

1.0 0.0 5
USA INC.

the spoken quality... S-SYSTEM END MILLS

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 158/161




@nu

[2] Cutter Style [3] Lead Angle

- 90° - 75° - 60° - 45°
FM: Face Milling Tools 20°-15°-11°-5°-0°

EM: End Face Milling Tools

CM: Chamfering End Milling Tools
HM: Helix End Milling Tools [4] Lead Angle

TSM: T Slot Milling Tools L: Left
HFM: High Feed Milling Tools C: Clamp
PMR: Ball Nose End Milling Tools S: Shim
SDM: Slot Disc Milling CL: Left Way with Clamp
CBM:Countersink Milling Tool for Cylindrical Allen Head Screws CS: Clamp with Shim
CSL: Left Way Clamp with Shim

[5] Type of Insert

OOIDQ A
%%°>/xw/hw 0 . @

) W A B

O AKKO

2 S A0 0
USA INC.




MILLING TOOLS DESIGNATION SYSTEM (

=

*il7°

T “5

A B c JUEN B FTI
15} 20°J§ 25"& @ S

o | F @
30° g “0° *L\ﬁ 1 o

G N P -~

Tool Diameter

[9] Asembly Form and Diameter

Cylindrical Shank
W: Weldon

Asembly Form and Diameter

Tool Length

[11] Number of Effective Tooth
[12] With Coolant Hole

162/163




®
A K KO SPECIAL PRODUCT ORDER FORM

———2 8 8 8 88—

USA INC.

Company Name: Date:

Milling Body Types

AType B Type C Type DType  EType FType  Special Type

L O 0O oo o o

| il

Coolant Hole Without Coolant Hole

[ [

Can you send the original body/insert ? If Needed! ﬁ ‘ ﬁ

i

-

Weldon Type Cylindrical Type Moduler Type Mors Type HSK Type Polygional Type Arbor Type

L] L] L] 1 O L] L]

Highfeed Type Angle Type

L]

Milling Tool Size

DC DCSFMS
TDZ
DCON

LF

Z (number of
the flutes) —

DCX
KAPR

DCON

20
N0

. TILIEN

LF

Ccw
LH

DC

APMX

OAKKO

* ok h ok k
USA INC.




®
A K KO SPECIAL PRODUCT ORDER FORM (

1 6 6 & & ¢
USA INC.
AType e
g - I z I,
= 7 S :
LF
i D Type
>~ N CON
: =F RSN ,I!‘.‘.\\\“.\\‘.‘.‘l\\‘.‘.‘,\\!‘.‘.‘.‘}.\\‘}! |5
) : I VLB IO~ 2
5]
ﬂ APMX LF
LA LF T
E Type
LF
\
‘ a
G Type -

o CDX
DC

X Type (special)

—164/165




> s-sYSTEM END MILLS

KAPR=90°

é

i
\
\
\
\
\
\
\
DCON

LF
lllustrations shown may vary from actual product. "
Dimensions in Inch ﬁ &
Ordering Code DC  ZEFP  DCON  LF LH o APMX | c';/s“:;‘m . Screw Torx Key
AEM90-AP10PR-D0375-W0500-L0300-201-H 0.375 1 0.500 3.000 0.640 0.394 AP 1'003" 3008-M2.5x5 80-T08
AEM90-AP10PR-D0500-W0625-L0325-201-H 0.500 1 0.625 3.250 0.750 0.394 AP 1'003" 3008-M2.5x5 80-T08
AEM90-AP10PR-D0625-W0625-L0325-202-H 0.625 2 0.625 3.250 1.000 0.394 AP 1'003" 3008-M2.5x5 80-T08
AEM90-AP10PR-D0750-W0750-L0400-202-H 0.750 2 0.750 4.000 1.000 0.394 AP 1_003" 3008-M2.5x5 80-T08
AEM90-AP10PR-D0750-W0750-L0400-203-H 0.750 3 0.750 4.000 1.000 0.394 AP 1'003" 3008-M2.5x5 80-T08
AEM90-AP10PR-D0750-W0750-L0787-203-H 0.750 3 0.750 7.870 1.000 0.394 AP 1'003" 3008-M2.5x5 80-T08
AEM90-AP10PR-D1000-W1000-L0450-204-H 1.000 4 1.000 4.500 1.260 0.394 AP 1_003“ 3008-M2.5x5 80-T08
AEM90-AP10PR-D1250-W1000-L0500-Z05-H 1.250 5 1.000 5.000 1.000 0.394 AP 1'003" 3008-M2.5x5 80-T08

Compatible with PRMT insert

OAKKO

* ok ok kK
USAINC.

www.akkousa.us




S-SYSTEM END MILLS (

KAPR=90°
G R N E Z
8 - = %j R S
APMX
LH
LF
lllustrations shown may vary from actual product. ;
Dimensions in Inch /
. Insert
Ordering Code DC ZEFP DCON LF LH APMX Inch/Metric Screw Torx Key

AEM90-AP10-D0625-W0625-L0350-202-H 0.625 2 0.625 3.500 1.200 0.394 AP 1_003 3008-M2.5x6 80-108
AEM90-AP10-D0625-W0625-L1000-202-H 0.625 2 0.625 10.000 1.200 0.394 AP 1'003 3008-M2.5x6 80-T08
AEM90-AP10-D0750-W0750-L0350-203-H 0.750 3 0.750 3.500 1.200 0.394 AP 1'003 3008-M2.5x6 80-T08
AEM90-AP10-D0750-W0750-L0400-203-H 0.750 3 0.750 4.000 1.500 0.394 AP 1_003 3008-M2.5x6 80-T08
AEM90-AP10-D0750-W0750-L1000-Z03-H 0.750 3 0.750 10.000 1.200 0.394 AP 1'003 3008-M2.5x6 80-T08
AEM90-AP10-D1000-W0750-L0400-Z03-H 1.000 & 0.750 4.000 1.300 0.394 AP 1'003 3008-M2.5x6 80-T08
AEM90-AP10-D1000-W1000-L0400-Z03-H 1.000 3 1.000 4.000 1.500 0.394 AP 1'003 3008-M2.5x6 80-T08

Compatible with ISO insert

166/167




> s-sYSTEM END MILLS

KAPR=90°
6 o e I
o “y“w - /- T 1 o
(e
LF
lllustrations shown may vary from actual product. ,
W
Dimensions in Inch /
i Insert
Ordering Code DC ZEFP DCON LF LH APMX Inch/Metric Torx Key
AEM90-TNG16-D1000-W1000-L0400-202H 1000 2 1000 | 4000 & 1654 @ 0394 TL’E‘% 235 3015-Mdxt1 | 80-T15
AEM90-TNG16-D1000-W1000-L0600-202-H 1000 2 1000 6000 1654 = 0.394 TL'(“;% 236 3015-Mdxi1 | 80-T15
AEM90-TNG16-D1250-W1000-L0450-203-H | 1250 3 1000 | 4500 @ 1654 @ 0394 TIII\(IE% ggﬁ 3015-Mdxi1 | 80-T15
Compatible with PRMT insert
KAPR=90°
& |
=
[ T I | e e P - e )
al = I  — | | —
|
LF
lllustrations shown may vary from actual product. "
= %
Dimensions in Inch /
i Insert
Ordering Code DC ZEFP DCON LF LH APMX Inch/Metric Torx Key
AEM90-AD16PR-D1000-W1000-L0378-202-H  1.000 = 2 1000 | 3780 1280 0600 | o oo 4015MAQ | 8OTIS
AEM90-AD16PR-D1000-C1000-L0650-02-H 1000 2 1000 6500 1300 0600 o oo 401SMAQ  8OTIS
AEM90-AD16PR-D1500-W1250-L0435-204-H 1500 4 1250 | 4350 1500 0600 | o oo 40ISMAO | 80TIS

Compatible with PRMT insert

OAKKO

* ok ok kK
USAINC.

www.akkousa.us




S-SYSTEM END MILLS (

KAPR=90°
6 o N L =
=1 - T o
= a
APMX|
LH
LF
lllustrations shown may vary from actual product. 2
Ay £
Dimensions in Inch -—-—-—“”—' & /
. Insert
Ordering Code DC ZEFP DCON LF LH APMX Inch/Metric Screw Torx Key
AEM90-AD11-D0625-W0625-L0325-202-H 0.625 2 0.625 3.250 1.063 0.354 ADMX- 173 3008-M2.5x5 80-T08
AEM90-AD11-D0625-C0625-L0325-202-H 0.625 2 0.625 3.250 1.063 0.354 ADMX- 1173 3008-M2.5x5 80-T08
AEM90-AD11-D0625-C0625-L0531-202-H 0.625 2 0.625 5.315 1.969 0.354 ADMX- 173 3008-M2.5x5 80-T08
AEM90-AD11-D0750-W0750-L0400-202-H 0.750 2 0.750 4.000 1.260 0.354 ADMX- 1173 3008-M2.5x5 80-T08
AEM90-AD11-D0750-W0750-L0400-Z03-H 0.750 3 0.750 4.000 1.260 0.354 ADM)E 173 3008-M2.5x5 80-T08
AEM90-AD11-D0750-C0750-L0600-203-H 0.750 3 0.750 6.000 1.142 0.354 ADMX- 1173 3008-M2.5x5 80-T08
AEM90-AD11-D1000-W1000-L0450-203-H 1.000 3 1.000 4.500 1.280 0.354 ADMX- 1173 3008-M2.5x5 80-T08
AEM90-AD11-D1000-W1000-L0450-Z04-H 1.000 4 1.000 4.500 1.260 0.354 ADM)E 1173 3008-M2.5x5 80-T08
AEM90-AD11-D1000-C1000-L0670-203-H 1.000 3 1.000 6.700 3.150 0.354 ADM)E 173 3008-M2.5x5 80-T08
AEM90-AD11-D1000-C1000-L0670-204-H 1.000 4 1.000 6.700 1.339 0.354 ADM)E 1173 3008-M2.5x5 80-T08
Compatible with PRMT insert
KAPR=90° / |
= =
o (&) I § B . 1 O
= o
| — a
—>
LF
lllustrations shown may vary from actual product. )
- %
Dimensions in Inch /
. Insert
Ordering Code DC ZEFP DCON LF LH APMX Inch/Metric Torx Key
AEM90-AD1505-D1000-W1000-L0450-202-PR = 1.000 2 1.000 4.500 1.570 0.551 AD 1 505 4015-M3.5x9 80-T15
AEM90-AD1505-D1250-W1000-L0500-203-PR ~ 1.250 3 1.000 5.000 1.570 0.551 AD 1 505 4015-M3.5x9 80-T15
AEM90-AD1505-D1500-W1000-L0535-204-PR = 1.500 4 1.000 5.315 2.000 0.551 AD 1 505 4015-M3.5x9 80-T15

Compatible with PRMT insert

168/169




> s-sYSTEM END MILLS

KAPR=90° |
L =
(] | i O S DR 1 I P )
2 H |_3 3
APMX
LH
- g LF N
lllustrations shown may vary from actual product. ,
Ay S
Dimensions in Inch —_ /
. Insert
Ordering Code DC ZEFP DCON LF LH APMX Inch/Metric Torx Key
AEM90-AP16PR-D0250-W0100-L425-206 ‘ 2.500 ‘ 6 ‘ 1.000 ‘ 4.250 ‘ 2.000 ‘ 0.630 AP 1-60 4 ‘ 4015-M4x9 ‘ 80-T15
Compatible with PRMT
KAPR=90°
o =5 ——
8 =—F 1 - Hi—18
| APMX R
LF
llustrations shown may vary from actual product. . Q
Ay S
Dimensions in Inch —_ /
. Insert
Ordering Code DC ZEFP DCON LF LH APMX Inch/Metric Screw Torx Key
AEM90-R390.11-D0500-W0625-L0288-201-H 0.500 1 0.625 2.880 0.715 0.394 R390-1 113 3008-M2.5x5 82-108
AEM90-R390.11-D1000-W0750-L0350-203-H 1.000 3 0.750 3.500 1.468 0.394 R390-1 113 3008-M2.5x6 82-T08
AEM90-R390.11-D1000-W1000-L0375-203-H 1.000 3 1.000 3.750 1.250 0.394 R390-1 113 3008-M2.5x6 82-T08

Compatible with SNDVK insert

OAKKO

* ok ok kK
USAINC.

www.akkousa.us




O AKKO

L. 0.0 0.8 ¢
USAINC.

the spoken quality...

S-SYSTEM
HIGHFEED FACE MILLS

168/171




> S-SYSTEM HIGHFEED FACE MILLS

lllustrations shown may vary from actual product.

Dimensions in Inch

Ordering Code DC ZEFP DCON LF APMX Inc'h"/sn:;‘mc Screw Torx Key
AHFM-SN1104-D0200-A075-205-H 2,000 5 0750 | 1575 | 0080 | S 4715 maxd 80115
AHFM-SN1104-D0250-A075-206-H 2,500 6 0750 1575 0080 | o3 47i5maxd 80115
AHFM-SN1104-D0300-A100-207-H 3.000 7 1000 | 1969 0080 | SR 715wt 80-T15

Compatible with PRMT insert

OAKKO

* ok kK Kk
USA INC.

www.akkousa.us




O AKKO

1.0 0.0 5
USAINC.

the spoken quality... FACE AND COPY
1 MILLING TOOLS

170/173




> FACE AND COPY MILLING TOOLS

LF

o
s}
<

APMX

lllustrations shown may vary from actual product. P AS
. e CHNY
Dimensions in Inch S /

Insert

Ordering Code DC ZEFP  DCON LF APMX Inch/Metric Screw Clamp Clamp Screw Torx Key
AFMRC-RD1003-D0150-A050-204-H 1.500 4 0.500 & 1.500 | 0.196 RD. '1 003 4015-M3.5x11 | ACK-15 | 4015-M3.5x11 80-T15
AFMRC-RD1003-D0200-A075-Z05-H 2.000 5 0.750 = 1.750 = 0.196 RD. '1 003 4015-M3.5x11 = ACK-15  4015-M3.5x11 80-T15
AFMR-RD12T3-D0200-A075-Z05-H 2.000 5 0.750 = 1.570 = 0.236 RD..; T3 4015-M3.5x10 - - 80-T15
AFMRC-RD12T3-D0300-B100-207 3.000 7 1.000 1.750 @ 0.236 RD..; 273 4015-M3.5x11 = ACK-15  4015-M3.5x11 80-T15
AFMRC-RD12T3-D0400-B125-Z08 4.000 8 1.250 = 2.000 @ 0.236 RD..; 273 4015-M3.5x11 | ACK-15 | 4015-M3.5x11 80-T15

Compatible with ISO insert

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




O AKKO

1.0 0.0 5
USAINC.

the spoken quality...

FACE MILLING

o0 AP 'l(lRDaO

’CD
e
-
-t

e
| & -
N

’c.'..'zu.

Oy ¢

172/175




) FACE MILLING

KAPR=90° -

&
T2 o NPT o,
o <
o - =

- -
LS -
- =
~ :
- :
“KAPR | &
lllustrations shown may vary from actual product.
S
Dimensions in Inch /
. Insert
Ordering Code DC ZEFP DCON LF APMX Inch/Metric Screw Torx Key
AFM90-AP16PR-D0200-A075-204 2.000 4 1.730 1.575 0.630 AP 1-60 4 4015-M3.5x11 80-T15
AFM90-AP16PR-D0250-A075-Z05 2.500 5 1.980 1.575 0.630 AP 1-60 4 4015-M3.5x11 80-T15
AFM90-AP16PR-D0300-A100-Z06 3.000 6 2.000 1.970 0.630 AP 1-60 4 4015-M3.5x11 80-T15
AFM90-AP16PR-D0400-A150-Z07-H 4.000 7 3.000 1.970 0.630 AP 1-60 4 4015-M3.5x11 80-T15
Compatible with PRMT insert
KAPR=90° DCON
O i
> 2 7 \\ S5
C KAPR| =
<
DC
llustrations shown may vary from actual product.
S
Dimensions in Inch b & /
. Insert
Ordering Code DC ZEFP DCON LF APMX Inch/Metric Screw Torx Key
TNGX 34..
AFM90-TNG16-D0200-A075-205-H 2.000 5 1.700 1.575 0.394 3015-M4x11 80-T15
TNGX 1606..
TNGX 34..
AFM90-TNG16-D0250-A075-205-H 2.500 5 1.892 1.575 0.394 3015-M4x11 80-T15
TNGX 1606..
TNGX 34..
AFM90-TNG16-D0300-A100-205-H 3.000 5 2.283 1.970 0.394 3015-M4x11 80-T15
TNGX 1606..
TNGX 34..
AFM90-TNG16-D0300-A100-Z07-H 3.000 7 2.283 1.970 0.394 TNGX 1606 3015-M4x11 80-T15

Compatible with PRMT insert

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




FACE MILLING (

KAPR=90° B

6 W

lllustrations shown may vary from actual product.

Dimensions in Inch

Insert

Ordering Code DC ZEFP DCON LF APMX Inch/Metric Screw Torx Key
AFM90-AD16PR-D0200-A075-205-H 2.000 5 1.654 1.575 0.590 AD 1 606 4015-M4x10 80-T15
AFM90-AD16PR-D0300-A100-207-H 3.000 7 2.283 1.970 0.590 AD 1 606 4015-M4x10 80-T15
Compatible with PRMT insert

DCON

| 0T
Y
=<
z

i KAPR =

. x
lllustrations shown may vary from actual product.
Q £
Dimensions in Inch [— & & /
i Insert

Ordering Code DC ZEFP DCON LF APMX Inch/Metric Screw Clamp Screw Allen Key
AFM90C-TP16-D0200-A075-204 2.000 4 1.700 1.575 0.472 TLP'1' ggs ACK-10 AKV-22-M8x1x14 AAL-05-4
AFMOC-TP16-D0300-A100-207  3.000 7 2283 2000 0472 253 ACK-11 | AKV-14-M8xIx18  AAL-05-4

Compatible with IS0 insert

176/177




) FACE MILLING

KAPR=90°
= Q}‘“ I Doxe =
=

amd

]

Odyve “KAPR &
llustrations shown may vary from actual product. .
Dimensions in Inch /@/
Ordering Code DC ZEFP DCON LF APMX | c'ﬁ‘f,;; o Screw Torx Key
AFM90-AP10-D0200-A075-206-H 2.000 6 1.700 1.575 0.394 AP 1'003__ 3008-M2.5x6 80-T08
AFM90-AP10-D0300-A100-Z08-H 3.000 8 2.283 1.700 0.394 AP 1'003“ 3008-M2.5x6 80-T08
AFM90-AP16-D0300-A100-207-H 3.000 7 2.283 1.700 0.590 AP 1-60 4 4015-M4x11 80-T15

Compatible with 1S0 insert

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




O AKKO

L0 0 0 5
USAINC.

the spoken quality...

HOLDER

176/179




> HOLDERS DESIGNATION SYSTEM

3 4 5

SHANK TYPE DIAMETER HOLDER SIZE
POLYGONAL SHANK 3-4-5-6-8
EM : END MILL HOLDER FMC :  COMBISHELL MILL HOLDER
ER : COLLET CHUCKS (ER) ASHR:  TOOLHOLDER AXIAL
FM : SHELL MILL HOLDERS EX : EXTENSION
MM : MILLING CUTTER ARBORS FOR SCREW-ON TYPE MILLING CUTTERS BL41 :  BLANK HOLDERS

POLYGONAL SHANK 18

POLYGONAL SHANK 3-4-5-6-8 111
2e
LT
d‘4
secTioN F-F
SECTION E-E
Compared to the steep taper the POLYGON SHANK has the Material:
following advantages: — Special case-hardening steel for highly stressed parts
— Highly repeatable accuracy when clamping tools into spindle — Surface hardness: 58+ 2 HRC
— Fixed axial positioning with flat contact surface — Tensile strength in core min. 950 N/mm?2
— Suitable for high speed cutting

— No pull stud necessary

— Interface with a unique tapered polygon and flange face contact
— Exact positioning in the circumferential direction

— Highest runout accuracy, torque and rigidity

— Innovative modular tool system with highest precision

— Suitable for both turning and milling centres

— Incl. bore for data chip @ 10 mm

POLYGON

3 32 15 16.5 M12x1.5 28.3 22 0.7 25 19 15 6 25 13.5
4 40 18 20 M14x1.5 8518 28 0.9 25 24 20 9 30 17.5
5 50 21 24 M16x1.5 bbb 35 1.12 3 30 20 10 37 22
6 63 28 32 M20x2 55.8 4b 1.4 3 38 22 " 47 26
8 80 32 38 M20x2 A 55 2 3 48 30 20 48 34

O AKKO

===k aa ==

USA INC.



1S0 26623-1 / POLYGONAL SHANK COLLET CHUCKS ER <

777 THID CS|

DCONNWS
DCONXWS

lllustrations shown may vary from actual product. @ @ % @

Dimensions in Inch

DCONWS DCONXWS

Ordering Code DCONMS CSl Minimum Maximum BD LPR LB THID KG
diameter diameter
AC6-ER-16-3.0 2.480 ER16 0.039 0.394 1.102 3.000 2.134 M10 0.930
AC6-ER-32-3.0 2.480 ER32 0.079 0.787 1.969 3.000 2.134 - 1.100

O\ Clamping Nuts

/v Wrench ER Mini (M) @ Collet Chuck ER DIN6499/IS0 15488-B

180/181




> POLYGONAL SHANK BLANK HOLDERS

@,

wcu:mgwwmm

DCONMS

lustrations shown may vary from actual product.

Dimensions in Inch

Ordering Code DCONMS BD LPR LB CRKS KG
AC3-BL41-032-090 1.260 1.260 3.543 2.953 M12x1.5 0.600
AC3-BL41-032-125 1.260 1.260 4.921 4.331 M12x1.5 0.800
AC4-BL41-040-045 1.575 1.575 1.772 0.984 M14x1.5 0.500
AC4-BL41-040-165 1.575 1.575 6.496 5.709 M14x1.5 1.670
AC4-BL41-052-065 1.575 2.047 2.559 1.772 M14x1.5 0.990
AC4-BL41-070-100 1.575 2.756 3.937 3.150 M14x1.5 2.610
AC5-BL41-050-050 1.969 1.969 1.969 1.181 M16x1.5 0.900
AC5-BL41-050-175 1.969 1.969 6.890 6.102 M16x1.5 2.800
ACS5-BL41-075-070 1.575 2.953 2.756 1.969 M16x1.5 2.110
AC6-BL41-063-048 2.480 2.480 1.890 1.024 M20X2 1.380
AC6-BL41-063-100 2.480 2.480 3.937 3.07M M20X2 2.720
AC6-BL41-063-195 2.480 2.480 7.677 6.811 M20X2 4.960
AC6-BL41-063-310 2.480 2.480 12.205 11.339 M20X2 7.750
AC6-BL41-080-250 2.480 3.150 9.843 8.976 M20X2 9.660
AC8-BL41-080-055 3.150 3.150 2.165 0.945 M20X2 2.710

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




1.0 0.0 ¢
USAINC.

the spoken

A
O AKKO

INSERT

180/183




> BROACHING INSERTS and TOOLHOLDERS

0AL
LH
[ =
|3
S =
Positioning Surface
- e [jI—
LPR N
lllustrations shown may vary from actual product. o
. 5
Dimensions in Metric/Inch p - /
Ordering Code 0.1l L) DGON 1L L . Insert Screw Torx Key

METRIC/INCH ~ METRIC/INCH ~ METRIC/INCH ~ METRIC/INCH ~ METRIC/INCH  METRIC/INCH

ABT-B41.00.03-D22-Y25-L125-1070 = 22-0.870 70-2.760 25-0.980 | 125-4.920 80-3.150 @ 23-0.906 @ CB41.00 = 4015-M4x11 80-T15

ABT-B42.00.06-D30-Y32-L125-1075  30-1.180 @ 75-2.950  32-1.260  125-4.920 85-3.350 30-1.810 CB42.00  1020-M5x14 | 80-T20

ABT-B42.00.09-D38-Y32-L125-1075 = 38-1.500  75-2.950 & 32-1.260 125-4.920 | 85-3.350 @ 30-1.810 ' CB42.00 @ 1020-M5x14 = 80-T20

ABT-B42.00.12-D40-Y32-L125-1075  40-1.580 @ 75-2.950 @ 32-1.260 125-4.920 85-3.350 30-1.810 CB42.00  1020-M5x14  80-T20

ABT-B44.00.15-D40-Y32-L125-1075 = 40-1.580 @ 75-2.950 @ 32-1.260 | 125-4.920 85-3.350 = 30-1.810 | CB44.00  1020-M5x14 | 80-T20

CDX
&
e w
2 :
/ o o)
Q‘s,
llustrations shown may vary from actual product.
Dimensions in Inch
Insert Code cv RE CDX ) DMIN
B41.00.0317.020 VP3001 1/8" 0.008" 0.126" 0.157" 0.866"
B42.00.0635.030 VP3001 1/4" 0.012" 0.252" 0.236" 1.181"
B42.00.0953.030 VP3001 3/8" 0.012" 0.375" 0.236" 1.496"
B42.00.1111.030 VP3001 7/16" 0.012" 0.356" 0.236" 1.496"
B42.00.1270.030 VP3001 1/2" 0.012" 0.356" 0.236" 1.496"
B44.00.1588.030 VP3001 5/8" 0.012" 0.470" 0.236" 1.771"

OAKKO

* ok h ok k
USA INC.

www.akkousa.us




184 /185




OAKKO

* ok h ok k
USA INC.

www.akkousa.us



186/187




OAKKO

* ok h ok k
USA INC.

www.akkousa.us



188/189




DAKKS

———hghakgkghi——
USA ING.

www.akkousa.us



DAKKC

————ghakgkghi——
USA ING.

www.akkousa.us



QUALITY

Indexable Tools, Tool Holder Systems and Cutting Inserts

<> AKKO® Office: 900 N Arlington Heights Rd Itasca, IL 60143
Warehouse: 1055 W Devon Avenue Suite 300 Itasca IL 60143 lllinois, USA
REREEE==" \yww.akkousa.us = info@akkousa.us  +1 847-655-2566

m AKKO USA INC.




